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Which of thefollowing itemsisNOT included in
measuring national income by theincome
approach?

A. Wages and salaries of public servants

B. Student grants and scholarships.

C Profits of companies.

D. Income earned by self employed persons
such as lawyers.

E Rents on property.

A down ward sloping demand curve intersectsa
fixed supply curve. A shift of this demand curve
totheright impliesthat

both price and quantity will increase
only priceincrease

only quantity increase

the priceremains constant
thepricefalls.
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Which of thefollowing itemsisNOT an
argument for locating industriesin rural areas?

A. Rural areas supply agricultural raw
materidl.

B. The pace of development will be
quickened in rural aress.

C Employment will be provided for rural
inhabitants.

D. Capital iseasily availableinrural areas.

E Suitable humid climate is sometimesfound
inrural areas.

o

ThecurvesD D and S S arethe demand and
supply curves respectively.

What happens government subsidizes producers
in order to boost output?

Thesupply curvewill shift SOSO to S2S2
Thesupply curvewill shift from SOS0 to S1S1
Thesupply curvewill shift from S2S2 to S1S1
Thesupply curvewill shift from S1S1 to SOSO
Thedemand curvewill shift fromDODOtoD1D1

Thenatural growth rate of apopulation isthe

A. Sum of the birth rate and the death rate

B. Sum of the birth rate and the net
migration rate

C Birth rate minusthedeath rate

v
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D. Birth rate divided by the net migration
E Death rate minusthe net migration.

Which of the following sets fully represents
factor of production?

A. Sunlight, machinery, man, land

B. Land, labour, capital, enterprise
technology

C Capital, technology, ideas, market, land.

D. Land, water, wegther.

E Money, market, middlemen.

Production possibilities (alternatives)

P Q R S T
Unitsof shelter 5 4 3 2 0
Units of food 0O 5 9 12 15
Based on the above production possibilities table,
thereal cost of aunit of food when alternative R
issdected is
Oneunit of shelter
Threeunits of shelter
Onethird of aunit of shelter
Six units of shelter
Two units of shelter.
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The concept of economic efficiency primarily
refersto

A. Obtai ning the maximum output from
available resources at the lowest possible
cost

Conservation of our petroleum resources
Equity in thedistribution of thenation’s

wesalth

Producing without waste

Thelimited wants unlimited resources
dilemma

Ow
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If successive units of labour are added to a piece

of land while capital and technology remain
constant, apoint will bereached in thelevel of
production when each added unit of labour will

add less to the output than previous units of labour.
The productivity of labour

Thelaw of diminishingmarginal utility
Thelaw of diminishing returns

The concept of factor intensity

Labour intensive production.

moow»

In perfect competition afirm’spriceisequal toits
marginal revenue which isagain equal to average
revenue. Thisform maximizesits profitswhen
itsmarginal cost (MC)isequal to price(p).
Which of the curvesin the diagram below
representsthefirm’smarginal cost (MC?

A. Curvel
B. Curvell
C Curvelll
D. CurvelV



Cost
price
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E Curvel and 11

Quantty
A Nigerian household's demand curve for
semovitais downward sl oping because
A. Thedemand for semovitaishigh
B. Thelocal marketsareflooded with
semovita
C Itisproduced in Nigeria
D Every household can afford to buy
semovita
E Higher pricesattract lower quantitieswhile

lower pricesattract larger quantities

The table bel ow shows the market schedul e for
semovita

QUANTITY QUANTITY
PRICE DEMANDED SUPPLIED
per 5kg bag in bags in bags
N3.00 15,000 1,500
N4.00 13,000 3,000
N5.00 10,000 6,000
N6.00 7,000 7,000
N7.00 5,000 9,000
N8.00 4,000 12,000
N9.00 2,000 14,000
What isthe market equilibrium price?
A.N5.00B. N800 C N9.00
D. N700 E N6.00

Marginal cost curve intersects average cost curve
From above at its lowest point

From below before the lowest point
From below at itslowest point

From below after thelowest point

At zero point
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Palmoil industry islocated in Bendd State
because the state

A. Importsraw material for palmail
industry

Isapalm treegrowing area

Soil isunsuitable for other crops
Government does not engage land for
other crops

E Landissuitablefor oil

onw

Themeaning of ‘wage-pricespira’ is
A. Demand pull and cost push inflation
pulling each other in different directions

16.
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B. Demand pull and cost push inflation
intensifying each other

C Both of them bringing about areduction
inthepricelevel

D. That demand pull and cost push inflation
increase employment

E That wagesand pricesarerising at a

proportional rate

In an inflationary period which of thefollowing
statement isNOT true?

A. Wages rise simultaneously with prices

B. The purchasing power of money
diminishes

C Moremoney runs after alimited quantity
goods

D. Money supply increases

E Aggregatereal demand exceeds

aggregate real supply

Retailersin an economy perform the function of

A. Production B. Exchange
C Distribution D. Hoarding
E Investment

In asoleproprietorship the decisions are made
by the

A. Govenment B
C. Management D.
E Owner

Board of directors
Shareholders conference

Which of thefollowing enterprises doesNOT
pursuethe soleobjective of profit maximization
RoadsNigerialLtd.

Union Bank of NigeriaLtd.

Nigerian Electric Power Authority
Volkswagen (VW) NigerialL td.
Kingsway NigerialLtd.
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Public expenditure creates expansionary effects
in the economy wheniitis

In excess of government revenue
Channelledinto capital projected
Diverted intoimports

Financed through oil revenue
Completely financed through part of the
year total collection taxes.
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The maintenance of general economic stability in
the country necessarily relies heavily on

A. Federal fiscal policy

B. Coordinated federal, state and | ocal
fiscal policies

C Tax and revenue policies of state
governments

D. Federal grantsto stateand local
governments

E Federal grantstolocal governments

The supply of loanable funds is significantly
influenced by

A. Commercial banks B. Mortgage banks
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C Financid intermediaries D. The Central Bank

E Insurance companies

Which of thefollowing are direct taxes

A. SalestaxesB. Exciseduties

C. Incomeand company taxes D. Tariff duties
E. Commodity taxes

Division of labour has many advantages.
Notwithstanding, itisgreatly limited by
A. Monatony of work B. Declineof craftmanship

C. Riskof unemployment D. Extent of market demand

E. Boredom

P

P, S
O Q

In the above diagram P1Sisasupply curvefor a
manufactured good. It shows that

A. When priceisPol quantity suppliedis
infinitdy elastic

B. Thehigher thepricethe greater the
quantity supplied

C Thehigher thepricethelower the
quantity supplied

D. When priceis zero quantity supplied
becomesinfinite

E When priceisinfinite quantity supplied
becomes zero

Intheevent of alimited liability company going

intoliquidation each

A. Shareholder may |ose the maximum of the
amount he hasinvested

B. Shareholder 1oses nothing

C Shareholder loses everything including his

house

Shareholder’sliability becomes unlimited

Shareholder will losetheamount he has

invested plusa proportion of hisbank

account

mo

A greater burden of the taxes on essential goodsis
borne by the

A. middleincomegroup

B. Higher incomegroup

C L ower income group

D. Peoplefalling between themiddleand
higher income group

E Top few richest people of the country.

Comparative cost doctrine of international trade
means specialization in production

A. According to absolute cost advantage
B. According to absolute cost disadvantages
C According to Comparative cost

disadvantages
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D. According to comparative cost
advantages

E On the basis of the availability of labour

Themeaning of ‘Dumping’ isselling goodsin a

foreign market

A. At aprice below that received the home
market

B. At apricehigher than that received in the
homemarket

C At apriceequal tothe cost pricein the
homemarket

D. In order to encourage indigenous

producers

E At apriceequal tothesdling pricein the

homemarket

Disequilibriumin the balanceof payments means

A. Imports of the country exceeding its
exports
B. Overall deficit or surplusin the current

account and capital account of the
balance of payments

C Capital flowing out of the country ex
ceeds the capital flowing into the country

D. Deficit in thetrade balance

E Export earningsexceed cost of imports.

Petroleum ‘glut’ ininternational trade means

A. A fallenin petroleum production

B. An over supply of petroleum

C A higher petroleum price offered by the
buyer

D. A higher petroleum price demanded by
thesdler

E Higher pricesfor the consumption of pe
troleum

International trade is necessary because

A. No country can livein economic isolation

B. Different countriesaredifferently
endowed in natural and man-made
resources

C Some countries have comparative costs

advantage in the production of particular
commodities over other countries

D. Theworld demand for and supply of
various categories of commoditiesis
expanding very fast

E Countrieswant to build up their foreign
exchange reserves.

Mono-product economies are those that

A. Havearich cultural heritage

B. Product only raw materials

C Livefrom theexport of their raw
products

D. Produce one main commodity

E Specializein agricultureindustries

The quickest way of achieving an economic union
on regional basisistoremoveall
A. Currency barriers B. Languagebarriers



41

E Lega barriers.

If an economy isgrowing at an annual rate of 7%
and 4% of it is known to be due to theimprove
mentsin labour and capital combined, the
balance of 3% isusually dueto

A. Land and related factors

B. Abundance of natural resources
C Level of human capital

D. Technical progress or other factors
E Thedisciplineof pdlitical leaders

A magjor function of middlemen in Nigeriais the
distribution of

A. Commoditiesto all consumersregardless
of income
B. Commoditiesto consuming centresand

the collection of money incometo
producing centres

C Economicwefaretoall

D. Wedthtoall

E Poverty within the society.

When a government owns enterprises a numbers
of advantages arise. Which of the following isNOT
one of such advantages?

A. More capital isprovided

B. Pricing policy may bein theinterest of
consumers

C Government workersmay beindifferent
towardsthe public.

D. Infrastructures are rapidly devel oped.

E Income may bemore evenly distributed

Which of thefollowing isNOT an advantage of
localization of industries?

A. Reaping of external economies

B. Development of apool of skilled labour
for the industry

Development of subsidiary industries
Devel opment of organized markets
Growth of conurbations.

mo o

Themonetary system that requires double coincidence
of wants isknown as

A.Thegold standard B. Barter

C.Thecommodity syste D.Thegold exchange standard
E The cheque system

The effect of emigration on acountry’s population, all
other thingsremaining equal, isto

A. Increaseitssize B. Causeoverpopulation

C. Increaseitsgrowth rate

D. Reducethe proportion of children

E. Reduceitssize

Money performsanumber of functions. ONE of
these functions makesit possible for any person
toprovide for old age. Because of that particular
function, money isregarded asa

A. Mediumof exchange B. Measureof value
C. Unitof account D. Storeof value

E Standard for deferred payments.
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Agricultureplaysadominant rolein West Africa
economies because

A. The Green Revolution in Nigeriais
agricultural

B. It supplies all the foodstuff consumed in
West Africa

C Therearelarge plantations of cocoa,
groundnut and palmoil in West Africa

D. It isthe main source of revenuein
Nigeria

E It employs morethan 50% of thetotal

|abour forcein West Africa

Which of the following defines Economi cs most
comprehensively?
A. Buyingandsdling B. Organizationof industries.
C. Study of human behaviour in the

allocation of scarce resources.
D. National development planning and budgeting
E. Bankingandinsurance
Agestructurein Nigeriais such that theworking
age-group isin the years
A. 1-15 B. 1565 C. 30-40 D. 40-65E. 65andabove

NEPA asapublic corporationis

A. A power-generating industry in Nigeria

B. Organizedin aperfectly competitive market
C. A duopaly

D. A monopolistically competitiveindustry

E. A monopoly

Full employment isasituation in which

A. Every adult isemployed

B. All adult who can work areemployed

C All personswho have attained the age of
15 years and above are employed

D. Only the disabled are not employed

E All thosewho are ableand eligibleto work

canfind employment

When demand iselastic, it meansthat consumer
React more proportionately to price change
Are not sensitive to price change

Will stop buying when price increases
React |ess proportionately to price change
React equally to price change

moow»

Demand for afactor of production is

A. A compositedemand B. Ajoint demand

C. Aderiveddemand D. Anéelasticity of demand
E. Cross-eadicity of demand

Differentiated product isthe characteristic

feature of

A.Perfect competition B. Pure competition
C.Monopalistic competition D.Monopoly E.Oligopoly

Nigeriaiscurrently implementing the

A. Third development plan
B. Second devel opment plan
C Fourth devel opment plan
D. Fifth devel opment plan

E First devel opment plan.
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The main economic objective behind the production
of goods and services in any economy isto
A.Maximizeprdfits B. Satisfy human wants

C. Becomesdf-reliant
E.Make peopl e weal thy.

D.Createjob opportunities

Demand for acommaodity by aconsumer isthe
quantity of that commaodity that the consumer
Demandsat a given priceat apointintime
Demandsat agiven price

Actually digests

Produces, givenitsprice

Can store away during bad weather

moow»

Division of labour islimited by

A. Theszeof themarket B. Theproductivity of capital
C. Cost of production  D. Thefactorsof production
E. Government policy

The production within the domestic territory of a
country is called the

A. Net national product  B. Gross domestic product
C. Netincome D. Disposableincome

E. Gross national product

In discussing the reasons why wages differ
between occupations, which of the following
should be regarded asa cardinal point that needs

to be emphasized?

A. Length and cost of training
B. Demand and supply

C Attractiveness of the job
D. Influencefo trade unions.
E Government intervention.

A rightward shift in the production possibility

frontier may be dueto

A. Useof inferior inputs

B. Inefficiency

C. Improvement in production techniques and practices
D. Changesin the product mix

E. Changesin consumers’ tastes and preferences.

Fixed | Vaiable| Totd | Magind| Average
Quantity | Cogt Cost | Cost | Codt Cost
N N N N N

1 750 200 950 - 950
2 750 560 13101 360 | 655

750 900 1650 ? 550

The above table shows the short-run costs of a firm.
What isthefirm’smarginal cost for thethird item

produced?
A.N350.00
D.N37050 E

B. N349.00 C
N505.00

N360.00

10.

The advantagesthat accrueto afirm asthe size of the
firmincreasesareknown as

A. External diseconomies B.Internal returnestoscale
C. Internal economies D.Internal diseconomies
E. Constant returnsto scale.

Oneof the advantages of large-scale production isthat

A. Thereisarisein thecost of administration

B. Consumerssacrificetheir individual tastes

C Thefirm can uselabour-saving machinery

D. Thedemand for afirm’s products become
localized

E Decision making takesalong time because

different level sof management areinvolved.

Which of thefollowingisNOT an obstacleto economic
development?

A. Low level of investment B. Lack of modern technd ogy
C. High rate of population growth

D. Low productivity E. Dedicated |leadership

An ageing population refersto the preponderance on

A. Middle-aged peoplein the population
B. Young peoplein the population
C Women in ht population
D. Oldmen in thepopul ation
E Old peoplein the population
Let TC = total cost
VG = total variable costs
TFC = total fixed costs
ATC = average total costs
AVC = average variable costs
AFC = average fixed costs
Q = output
Which of thefollowingisNOT true?
A. TC = TFC+TVC
B. ATC = AVC+AFC
C AFC = TFC
Q
D. VG = AVC
Q
E AVC = TVC
Q

Which of thefollowingisNOT adeterminant of thesze
of the economically active population?

Age structure

Occupation of workers

Proportion of men towomen

Average length of the working day
Efficiency of thelabour force

moow»
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The population level that yieldsthe maximum output
when combined with available resourcesis known as
Dependent population

Maximum population

Active population

Production population

Optimum population.

moow»

S
s
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In the above diagram the supply curve SOS0 shiftsto a
new position S1S1 toindicate

A drop in supply

Ariseinsupply

A supply-push inflation

A stable supply curve

Anincrease in quantity supplied.
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If X and Y aretwo goods, then the cross el aticity of
demand for X with respect to Y isdefined asthe

A. Percentage changein thequantity of X divided
by the percentage changeinthepriceof Y

B. Percentage changein thequantity of X divided
by changein the priceof Y

C Changeinthe quantity of X divided by change
inthepriceof Y

D. Percentage changein thequantity of X divided
by thepriceof Y

E Percentage change in the quantity of .

For two substitute goods, the cross el asticity of
demandis

A. Greater than one but lessthan two

B. Zero C. Negative

D. Positive E. Infinity

The control of pricesby legidation usually produces a
number of consequences. Which of thefollowing is
NOT an associ ated problem of maximum price control ?
A. Excess supply B. Favouritism

C. Briberyand corruption D. Black marketing

E. Hoarding

For a non-discriminating monopolist in Nigeria, priceat
the profit maximizing output is

Equal tomarginal cost

Greater than marginal cost

Greater than averagetotal cost

Equal tomarginal revenue

Equal to total revenue

moow»

A demand curve s opes downwards because of

A. An increase in the money income of the
consumer

B. A decreasein themoney incomeof the consumer

24,

2.

The substitution effect and therisein real
income of the consumer

Therisein demandfor the complementary goods
Theincreaseinthedemand for factorsof
production

Animperfectly competitive market is onewhere

A. A largenumber of firmssdl homogenousproducts

B. Input and output prices are unaffected

C Each firm facesahorizontal demand curve

D. Each firm maximizesprofit by selecting an out
putlevd awhichmargina cost equalsmarket price

E Commoditiesare differentiated

In taxation, the benefit principlerequiresthat

A. Everybody must draw benefitsfrom taxation

B. All thosewho earn moreincomemust pay more
taxes

C Only those who derive benefits from services
provided from public revenue should be taxed

D. Taxes paid by businesses should be shifted to

those consumers benefiting from such
consumer commodities
E Everybody pays an equal amount

A perfectly competitivefirm doesnot influencethe
demand for its commaodities by lowering its price below
themarket price because

A. Itisillegal pricecutting

B. Other competitors will beangry

C Total revenuewill declineduetoitsineastic
demand curve

D. Itisabletosall all it wantsat the market price

E It does not maximize profit.

Pricing and output decisions of sellersare highly
interdependent in marketsknown as

A. Oligopoly B. Perfect competition

C. Monopoly D. Monopolistic competition
E. Imperfect competition.

One disadvantage of sole proprietorship isits
A. Limited liability B. High profits

C. High sense of ownership D. Low credit rating
E. Lowfailurerate.

The Channd for food distribution in Nigeria consistsof
Farmersand ther families

Producers, wholesalersandretailers
Producers and consumers

Producers and processor

Farmers. Processors and consumers.
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Which of thefollowing isNOT true of debenturesand
debenture holders?

A. Debenturesareinstrumentsfor raising
long-term capital by limited liability companies

B. Debenturesarefixed interest-bearing securi
tieswith specifiesmaturity date.

C Debenture holders are creditors to the

company and therefore do not sharein the
risk of the company
D. Debenture holders are entitled to interest
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payments whether or not profitsare made.
Preference shareholdersreceivetheir share
of profits before debenture holders receive
their entitlements.

The economicgoal of public utilitiesisto

A. Maximizeprdfits B. Expand assets

C Minimizecost D.Provide essential services
E. Pay higher dividendsto shareholders

Thebadc prindples of co-operdtive sodeties are those of
A. Active participation of capitalistsin the
affairs of co-operative societies

Workers ownership and worker control
Soleproprietorship

Partnership

Denying of credit facilitiesto members

mooOm

Themost important factor determining thelocation of
the cement industry in Nigeriatoday is

A. Capital and government palicy

B. The nature of the product, infrastructure and
government policy

Nearness to the market and source of power
Price of the product and source of labour
Raw materials

mo o

Themost important characteristic of moneyis
A. Portahility B. Intrinsic value

C. Acceptability D. Usefulness

E. Beauty

TheCentrd Bank ingrument of control doesNOT indude

A. Open market operations

B. Moral suasion

C A risein cost of production.
D. Selective credit control

E

Printing banknotes

Cost push inflation takes place dueto

Therapid increasein the demand for goods
Anincreasein productivity of the factors of
production

A risein the cost of production
Ariseinthestandard of living

Thelow wagerate of the workers.

™ >
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Lord Keynesidentified three motivesfor holding money,
that is, keeping on€’ sresourcesin liquid from instead
of in some form of investment. The motivewhich
relatestomaking provison for the‘rainy day’ isknown as
Transaction purposes

Precautionary maotive

Transactions motive

Investment motive

Rainy day motive.
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If a person demands money for buying and selling sec
uritiesit isreferred to asdemanding money for

A. Transaction purposes

B. Specul ative purposes

C Transactionary purposes

D Meeting the educational expensesof children

41

Generally property taxes

A. Areborneentirely by landlords

B. Cannot be shifted in thelong run

C Areborneby all (renters, owner-occupiers
and landlords)

D. Areborne only by renters

E Areborne by afew industrialists.

One of themajor effectsof an increasein government
expenditure on anation’s economy isthat it

A. Createsinvestment opportunitiesfor foreign
investors

Leadsto indigenization of the private sector
Raisestheleve of total tax revenue
Raisesthelevd of aggregate demand
Controls the spread of monopoly

Mmoo

Public expenditure on services, such as education and
health, isknown asexpenditureon

A. General services B. Community services
C Social services  D. Economic services

E Administrative services

Questions39 and 40 ar e based o thetable below:

Theinternational production set for Nigeriaand
Austriais:

Product Nigeria Austria
Cocoa 20 tonnes 12 tonnes
Lace 10 metres 8 metres

The opportunity cost ratio for cocoa and lace for
Audriaand Nigeriais

A.2,2
D.1,5 2

B.2,1,5
E. 05 15

C.15 4

From thetableit can be deduced that

A. Nigeria should produce cocoa and lace

B. Austria should produce cocoa and lace

C Nigeriacan benefit from producing laceonly

D. Nigeria should not produce any of the
products

E Austriashould produce lace and Nigeria

should produce cocoa.

Thefollowing, except ONE, arethe differencesbetween
international tradeand interna trade.

Differencesin currencies
Governmentscontrol

Mohility of factors of production

Cultural differences.

Exchanges of goods and services
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Let Px represent the price of exportsand Pmthe price of
imports. Then theitemsof trade (TOT) aresaid to be
favourableif

A. Px <1 C PX >1

Fm Fm



B Px <1 D. Px =1
M M
E  0<Px<1
Px

Which of thefollowing items doesNOT belong to a
country’s current account in the balance of payments
account?

A. Merchandiseexports B. Merchandiseimports

C. Trave D. Foreign currencies E.Insurance services

Animprovement in Nigeria stermsof trade should
A. Leadtoafall in cost of her importsin termsof
what she must sacrifice to obtain them

B. Make‘madein Nigeria’ goods cheaper to buy

C Increase Nigeria's domestic output of
commodities

D. Leadto an increasein her exchangerates

E Leadtoanincreasein Nigeria's exportsof

petroleum

Which of thefollowingisNOT afeature of economic
underdevel opment o a country?

A. Largenumber of highincomeearnersrd ative
to the population

High annual incomefor thefew

High incidence of poverty

Low daily calorieintake per person

High infant mortality rate

mooOm

~ Production of Goods
and servises
()
Consumption
Expenditures

nny

Business and
Government Sector

A 0}
Wages, Interest, Rent

an
Production Services
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Theabovediagramillustrates

Thecircular flow of income
Grossnational product plus depreciation
Incomes of the sector

The profit of business enterprises

The output approach to national income
determination.
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Inthediagram (1) referstothe calcul ation of national
incomethrough the

Expenditure approach

Input-output approach

Flow of funds approach

Income approach

Output approach

moow»

Inthesamediagram, (I11) referstothecal cul ation of
national incomethrough the

Income approach

government earnings approach
expenditure approach

output approach

flow of funds approach
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Given thepresent state of the Nigerian economy, which
of thefollowing measureswill promoteamorerapid
economic development?

Compl ete dependence on oil exports
Concentration on agricultural exports
Diversification of the economy

Building of more schools and universities
Introduction of nuclear energy in Nigeria

moow»

Which of the following does NOT represent the
behaviour of a monaopolist?

A. Management the market price of hisgoods

B. Manipulating both the price and quantity of
his goods at the sametime

C Raisingthe priceat onemarket, lowering at
another market

D. Manipulating only quantity, pricebeing agiven
factor

E Manipulating the quality of his goods

Economics 1985

Onemain quality of agood isthat it
Issoldin themarket
Satisfies wants

Ismadein thefactory
Isalwaystangible

Is non-perishable

moow?»

Pays wages and salari

offers labour services;

Household

Enterprises
sells goods

pays for goods

Theinterdependence between household and business
enterpriseillustrated in thefigure aboveisknown as
Market interaction

Cash flow

Circular flow of income

Supply and demand for goods and services
Household preference schedule

moow»

Bisi needs book costing N10.00. If Bis buys the book
instead of the hat, the opportunity cost of his choiceis
the

A. Cost of the book
C. Book

B. Cost of the hat
D. Ha E N10.00
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An economic problem existswhenever
Thereis scarcity and choice
There are no buyers for our goods
Therearetoo many sellers

Many people are out of work

All raw materialsareimported

moow»

Themeaning of scale of preferenceis

>

purchased in order of priority
B. Showing the monthly income
C Budget preparation without dueregard to
proper priorities
Consumer preference for luxurious goods
Consumer preference for foreign goods

mo

Optimum population isdesirable becauseit enablesan
economy to attain maximum

Per capitaincome

Per capita output

Per capitareal income

Per capitarevenue

Growth rate
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Theagedistribution of apopulaion isSNOT influenced by
Birth rates

Death rates

Patternsof immigration

Patterns of emigration

School leaving age

moom>

One theory of population contends that popul ation
tends to increase much faster than the supply of food,
and that if the growth in population is not checked, it
will bechecked by natural forceslike misery, disaster

and food shortage. This theory was propounded by 13

Prof. Paul Samud son
Adam Smith

David Richardo

Rev. Thomas Malthus
Prof. Ojetunji Aboyade

moow»

Total
Utility

Units of Quantity

Consumed Utility

10
15
17
18
18

R WN RO
ornvo B

Thetable aboveillustrates the law of
Diminishingmargina utility
Diminishing marginal productivity
Diminishing returns

Increasing returns

Increasetotal utility
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If in theshort run commodity X and commodity Y are

supplied jointly, which of thefollowing iscorrect?

A. Anincreasein demandfor X will increasethe
supply of Y

Preparing alist of goods and servicesto be i

Margina 14.

B. Anincreasein demand for X will shift the
supply of Y

C Anincreeseindemandfor Y will raisetheprice X

D. Anincreasein demand for X will causeless of
Y tobe produced.

E A probabletax on Y cause moreof X to be

supplied

In market economies, resourcesareallocated throughthe

Central planning bureau
Revenueallocation formula

A. Government authorities
B. Price system

C Banking system

D.

E

Study the figure below

Price S

P, H
I

P, |

P | |
3 = | |

S I
! | l Quantity
Q, Q, Q,

At point H, the price elasticity of supply is
Perfectlyinelastic

Inelagtic

Unit elagtic

Perfectly elastic

Elagtic

moow»

At every point on an indifference curve, the
A. Total utility isdecreasing

B. Pricesfo al goods are constant

C Consumer is satiated

D Level of utility is constant

E Level of utility isincreasing

Under perfect competition, thelong-run equilibrium

requires

A MR=MC

B. MR=AC=AR

C MR>MC

D MR=MC=AR=AC
E AR=AC
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In thefigure above, thebroken linelabelled M isthe
Marginal Revenue Curveof a

A. Monaopoly

B. Competitivefirm
C State corporation
D. Partnership

E Monopsony

If amonopoalyis attempting to maximizeprofit, which of
thefollowing should it attempt to do?

Select that output at which ATCisat minimum
Set priceequal toTC

Maximizerevenues

Maximizerevenues

Equate marginal cost tomargina revenue.

moow»

Theamount of labour aproducer hiresrelativesto
other factor inputs depends on the

Price of labour or itswage

Price of |abour, machinery and other imputs
Priceof machinery

Price of the other inputs

Typeof machinery

moow»

Which of thefollowingisNOT afeature of under-
development?

Low per capitaincome

Viciouscircleof poverty

Low level of industrialization

Greater dependence on primary production
High per capital income

moow»

Theinefficient distribution of scarce commoditiesin
Nigeriaismostly duetot he

Inefficiency of themiddleman
Inefficiency in the production process
Long chain of the distribution system
Sovereignty of the consumers
Ineffectiveness of retailers

moow»

Warehousing facilitiesin thedistribution and
marketing of products are provided by

A. Manufacturers
B. Wholesalers
C Retailers

D. Consumers

E Slers

A corporation can obtain funds by issuing bonds. A
bond isaform of debt which falls duefor repayment

A. 6 months

B. 9 months

C 2 years

D 5 years

E 100r moreyears

A firmissaid to beapublic Joint Stock Company when
it

A Is owned by the government
B. Is operated as a public corporation
C Isoperated in a non-democratic fashion

24,

D. Sdlls sharesto members of the public and
publishes its account
E Isalimited liability company

Limited liability means

A. Thedebts of acompany can only be paid from
busnessaswell asprivatefunds of the owners

B. The debts of the company are paid from
busnessaswdll asprivate funds of the owners

C Government cannot tax company

D The debts of the company must be paid from

Private funds only
E The company does not have to pay its debts.

Thepurchasing power of theNairawill fall when
TheNairaisdevalued

Government cutsall salariesand wages
Thereisinflation

The colour of the Nairais changed
Workersareretrenched

moow»

When abusinesshas unlimited liability
A All its profits can be taxed away by the
government

B. All its assets are owned by the members of its
board of directors

C The business ceases to exist at the death of
one of its owners

D. Theownersareresponsiblefor all itsfinancial
debts

E Theownersarenct responsiblefor all its
financial debts.

Which of the following factorsis most responsible for
the concentration fo population around the ail fieldsin
Eagtern Nigeria?

Establishment of industries

Presence of mineral deposits

Transportation facilities

Favourabl e soil

Favourable climatic conditions

moow»

Thepetro-chemical industriesarelocated in the Rivers
State of Nigeriadueto

A. Favourableclimate
B. Favourablesoil  C. Qil deposits
D. Palm ail products E. Coal deposits

Oneof thefunctions of acommercial bank isthat itis
Responsible for monetary policy
Responsible for issuing of currency notes
Thelender of last resort

Thebanker of the government

A banker of demand and time deposits of
customers.

Because money serves as a standard of deferred
payments

A. It serves as a store of value

B. Goods can be bought on credit with
determined value

Future trade becomes possible

It serves as a unit of account

It becomes valueable

moow»

mo o
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Which of thefollowing isanecessary prerequisite for
trade by barter.

Need for double coincidence of wants
Multipleexchangerate

Impossibility of futuretrade

Impossibility of large-scale production
Indivisibility of commodities

moow»

state budget is an outline of planned
Expenditures and revenues expected within a
financial years

A
A.

B. Expenditures of ministries and parastatals
withina given period

C Recurrent and capital expenditureswithin ayear

D. Sourcesof revenuederivetion for afinancid year

E Usedf different kindsof taxation is agiven year

Which of the following isNOT among the canons of
taxation as set out by Adam Smith?

A.Equality  B. Security C. Certainty

D. Convenience E. Economy

Anexampleof aregressivetaxis

Thepersona incometax
Thegraduated corporation incometax
A general salestax

Theinhertancetax

Theexcisetax

moow»

Tax which islevied on goods manufactured, sold or
used within the country is

A. Salestax B. Excisetax C. Directtax

D. Incometax E. Polltax

By terms of trade, we mean the

A. Ratio of exportsto imports

B. Difference between exports and imports

C Difference between current account and
capital account

D. Index of export pricestoimport prices
expressed as a percentage

E Ratio of short-term capital movements

The argument of tariff protection in less devel oped
economiesisthat such ameasure would

A. Raise the price of goods affected abroad

B. Make consumers pay a higher price for the
domestically produced output

C Protect young industries from ruinous
competition from abroad

D. Hel p reduce excess capacity in domestic
industries

E Stifleprivate investment initiative

Devaluation of the Nairaas acondition for the
International Monetary Fund loan isconsidered
inadvisable because

A. It would allow for more money to be spent on
luxuries

B. Theinterest rate on theloan would increase

C It would decrease thedemand for Nigeria's

exports

41
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It would worsen Nigeria sforeign exchange
Situation

Nigeria soil would sdll for lessin theworld
market

Foregn exchangeoontrd in Nigeriaisadministered by the
United Bank for Africa

Union Bank of Nigeria

First bank of Nigeria

Central Bank of Nigeria

National Bank of Nigeria

moow?»

Under the ECOWASS agreement, aNigerian can enter
and stay in Ghana without avisafor aperiod of
A.l4days B. 30days C. 60days D. 90days
E. 100days

How many National Development Plansdid Nigeria
have between 1960 and 19847
A. One B. Two C. Four D.Five E.Sx

If an economy growsat an annual rate of 6%, of which
4% isdeemed to be due toimprovement in the
productivity of labour and capital combined, the
remaining 2% isgenerally attributed to

Technical progress

Sizeof thepopulation

Amount of natural resources
Theenvironment

The quality of human resource

moow»

The process by which acountry attemptsto reduce the
import of manufactured goods by encouraging firmsto
produce these goods at home is described as

Export promotion

Import -substitution

Industriaization

Export-diversification

Import-creation

moow»

Under normal circumstancesa producer will bear the
entire burden of taxation on hisoutput if the

A. Demand for hisproduct iscompletely elastic

B. Supply of hisgoodsis more elastic than the
demand

C Demand for hisproductismoreelasticthan
the supply

D. Production of his commoditiesis subject to
diminishing returns

E Production fo his commoditiesis subject to

increasing returns to scale

Which of thefollowing isNOT a part of thefixed cost
of alimited liability company?

Interest on loans

Rent on buildings

Depreciation reserves

Management expenditure

Wages

moow»

The act of combining factor inputsin order to obtain
specific output is known as
A. Factor procurement  B. Manufacturing
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C. Investment D. Industridization

E. Producion

Disgui sed unempl oyment

A. Existswhen manpower isnot being utilized

efficiently

Callsfor theimplementation of five-year plans

Can beeiminated if the pressisfree

Can bediminated if thecapital output ratiois

increased

E Isastatistical artifact with no economic
meaning

onw

Output Total Cost (N)

20
56
96
144
160

GO WNPEF

In the table above, the marginal cost when output is
two unitsis,
A.N16.00
D.N40.00

B.N20.00
E. N48.00

C. N36.00

| hetable below Illustratesthelaw of diminishing
returnson afarm.

Fixed Unit Variablg Total Marginal

Of land Unit of Output Product

(Hectares)| Labour (TO) (MP)
5 1 10 10
5 2 5 15
5 3 X 21
5 4 60 14
5 5 3 13
5 6 & Y

Which pair of thefollowing answersis appropriatefor
the missing information in the spacesmarked X and Y ?

A. X=20, Y=6 B X=38, Y=9
C X=46, Y=9 D. X=46, Y=14
E X=10, Y=10

Theunemployment associated with arecessoniscalled
A. Voluntary B. Frictional C. Cyclica
D. Structural E. Disguise

Whentotd revenueisat amaximum, marginal revenueis
A. Congtant B. Negative C. Zeo
D. Positive E. Maximum

Economics 1986

1

Choicein economic lifeis necessitated by

The need to construct scale of preference
The opportunity cost of consumption
Unlimited wants

Scarcity of economic resources
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Which of theseisthereal cost of satisfying any want
in the sense of the alternative that hasto be foregone?
A. Variablecost B. Opportunity cost
C Total cost D. Prime cost

Under normal circumstancesthe concept of consumer
sovereignty impliesthat

A. The consumer and not the producer owns
the means of production

B. The producer and not the consumer
determineswhat is to be produced

C The consumer and not the producer
determineswhat is to be produced

D. Both the consumer and the producer

determinewhat isto be produced

Afirmisatitsoptimum szewhen

A. It produces the greatest output at the
minimum cost

B. It has a motive to increase output

C Marginal cost equals marginal revenue

D. Marginal cost islessthan marginal revenue

The degree of specialization islimited by the
A. Availahility of speciaized skillsand machinery
B. Marainal cost exceedina marainal revenue

10.

C Extent of themarket

D. Disadvantage of standardization

Production in Economics can be defined as the

A. Totality of producing, buying and consuming

B. Transformation fo raw materialsand services
in order to provideultimate utility

C Transformation of raw materialsand services
in order to make maximum profit

D. Production of goods and services for
consumption

A firm achieves|least cost in production by

substituting factors until

A. Their factor pricesare equal

B. Their marginal-physical-products are each
equal to their factor prices

C Their margina -physi cal-productsare eech zero

D Theratio of their marginal-physi cal-products
equalstheratio of their prices.

If aperson receives a higher wage than would be
necessary to induce him to work, heis said to be
receiving

A. Rent B. Profit C.Interest D. Period of training
Mohbility of labour isNOT affected by

A. Optimumsizeof population B. Marriageandfamily
C. Regulationtradeunions D. Period of training

A country has a popul ation distribution shown bel ow:



14,

16.

Aged Group in Years  Corresponding Percentages

Above 60 5
15-60 a0
0-14 15

The dependency ratio is
A.3:2B.1:4 C.2:3D.2:3E. '1:5

Population density refers to

Densely populated urban centre

Thetotal areadivided by thetotal population
Densely populated rural areas

Thetotal population divided by thetotal area.

onw>

What fundamentally determineshow much aconsumer
spends in a producer’s shop?

A. Individual’s propensity to consume
B. Leve of histaxation

C Leve of hisincome

D Individual’staste or fashion

Whi ch of thefollowing statements describes amixed

economy?

A. The government and the private sector
interact in solving thebasic economic problems

B. Theinvisble hand solves the basi c economic
problems

C The government producesand distributes all
goods and services

D. Society answersthe ‘what’, *how’, and ‘ for
whom’ questionsonly through the market
system.

In drawing an individual’sdemand curvefor a
commaodity, which of thefollowing is NOT kept
constant? The

Individual’smoney income

Price for substitutes

Price of complementary goods

Priceof the commodity under consideration

onw>

Given that beef and fish are substitutes, arisein the
priceof beef relativeto that of fish will

A. Induce greater demand for beef
B. Inducegreater demand for fish

C Inducelower demand for fish

D Equate demandsfor beef and fish

Themain function of pricemechanismisto

A. Limit consumer demand

B. Enabl e producers make profits

C Allocate scar ce resources among competing
ends

D. Ensure consumer sovereignty

Usethetablebelow toanswer 17 and 18
Market Demand Schedul e for Commodity X

Pricc Quantity

# (million units)
60 100

50 140

40 220

30 260

20 300

10 340

17.
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If the price of commodity X fallsfrom N40.00toN3.00
what isthe price dasticity of demand?
A. 062 B. 0.73 C. 1.00 D. 150

Therevenueaccruing totheseller of commodity X asa
result of afall in pricewill

A. Increase B. Fl
C First fall but will increaselater
D. Remain unchanged

Which of thefollowingisan important function of prices
in amarket economy?

A. Ensuring that resources are used in the most
efficient manner

B. Ensuring an equitable distribution of goods
and services

C Ensuring that al industries are perfectly
competitivein thelong run

D. Equating level of purchases with level of
needs.

Onemagjor difference between monopoly and perfect
competition isthat

A. the perfect competitor isa pricetaker while
the monopolist determines his own output
B. Homogeneity of purpose exists for the

perfect competitor while non-homogeneity of
purpose exists for the monopolist

C Sellersarelocated all over theworldin the
case of perfect competition but sellersare
located only in one country in the case of the
monopolist

D. Thereisfreeentry and exit in perfect competi
tion but no free exit in monopoly

A producer sustainsalossin the short run if
Marginal revenueislessthan price
Priceisless than average cost
Averagevariable cost islessthan average cost
Marginal cost islessthan marginal revenue

onw>

A monopolist will practisepricediscrimination intwo
marketsif

A. The cost of separating the marketsislarge

B. The markets have different dasticities of
demand

C Thereisfreeflow of information in thetwo
markets

D. Thereisapatent of thecommodity

In thenormal channel sof distribution the breaking of
bulk is performed by the

A. Producer B. Wholesaler C. Retailer
D. Consumer

The most important advantage of co-operative
societies is

Their high degree of democracy
Theincreasein the cost of marketing

That members are encouraged to save money
The possibility of raising loans for the
members

onw>
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In apublic company, shares are

A. Sold to one person only

B. Distributed freely

C Advertised to members of the public for
subscription

D. Disposed of by the Chief Executive

Which of thefollowing isa characteristic of aprivate
limited liability company?

A. Its shares can be sold to the public

B. Thenumber of shareholdersranges from fifty
to one hundred

C All sharehol ders have equal powers and
responsibilities

D. Thenumber fo sharehol dersranges from two
to fifty

One of the advantages of a partnership over asole
proprietorshipisthat

A. It isthe most popular form of business
organization

B. The partner can easily withdraw from the
business

C It makesan increasein the capital of the
business possible

D. Thereisno limit to the number of peoplewho

may bringin capital

Which of thefollowingisan external economy derived

by afirm?

A. Low cost opportunities enjoyed by beingin a
place where other producers concentrate

B. Technical economies enjoyed by varying the
factors of production

C Economies of management by putting
administratorswherethey are most efficient

D. Marketing advantages attained through

preferential treatment in the purchaseand
distribution of produce

Whi ch of the foll owing advantages of localization of
industries may al so be a disadvantage?

A. External economies

B. Concentration of industries and of people
C Devel opment of organized markets

D. Reduced cost of research

TheNigerian Bank for Commerceand Industry is

A. A commercia bank
B. A development bank
C Anindustrial bank
D. A merchant bank

To control inflation, the monetary authorities of a

country can

A. Reduce taxes

B. Advise government to increase its
expenditure

C Engagein expansive monetary policy

D. Engagein restrictive monetary policy

Which of thefollowing isused by the Central Bank to
control therate of interest?

B.

A.

Bill of Exchange

Banker'sorder
C Fixed deposit account

D.

Open market operation

Gresham’slaw in Economics showsthat

A. Bad money drives good money out of
circulation

B. Good money drives bad money out of
circulation

C Gold must be avail ableto maintain the value
of paper money

D. Thepricelevel variesdirectly with the

guantity of money

Given that the cash reserveratiois 10 percent, what is
the maximum amount of money that the banking
system can create from an initial cash deposit of
N1000.00?

A. N100.00
D. N10000.00

B. N1000.00 C. N9000.00

Themost important economic characteristic differenti
ating commercial banksfrom cther financial institutions
isther.

A. Function as a safe and profitable store place
for savings

B. Rolein financing balance of payments
deficits

C Status as an intermediary between saversand
borrowers

D. Ability to create and destroy money

Deflationisa persistent fall in the general pricelevel
and is usually caued by

A reduction in total demand

An increasein government spending

An increase in the money supply

An increasein aggregate demand

Cow»

Which of the following causes of inflation isrelated to
demand-pull inflation?

Low productivity on farmsand in firms

Poor storage facilities

Poor distribution system

Increasein government expenditureon
construction

Cow»

Which of thefollowingisNOT agoal of modern budgets?

A. Thecontrol of inflation

B. Thereduction in incomeinequlaity

C The shift of all resourcesfrom theprivate to
the public sector

D. Economic devel opment

The best technical description of aprogressivetaxisa

A. Tax which takesmoney fromtherich than from
the poor

B. More eguitabletax than aregressive one

C Tax which takes higher proportion of extra
nairareceived asincomerises

D. Tax which falls directly on thosein the high

income brackets.
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Tax incidenceistheanalysis of

A. How progressiveatax is

B. How atax iscollected

C How distorting ataxis

D. Who ultimately pays the tax

In International trade, country specializesin the produc
tion of acommaodity or group of commoditiesfor which
it has

A. A buoyant market

B. Plenty of raw materials

C The greatest relative advantage
D. Executive manpower

Balance of paymentsdeficit in Nigeria CANNOT be
solved by

A. Importing more goods and services

B. Devaluation of the currency

C Imposing import duties

D. Imposing import bans on some commodities

Theterm, bal ance of trade, can be defined asthe

A. Relation between value of exportsand value
of imports over agiven period of time

B. Balance owed to therest of theworld in
payment for imports

C Pricepaid for importsin terms of exports

D. Relation between paymentsof all kinds made

by a country to the rest of the world, over a
given period of time.

Theterms of tradeis often measured by theratio of the
index of export prices

A. Divided by theindex of import prices
multiplied by 100

B. Multiplied by theindex of import prices

C Fustheindex of import pricesmultiplied by 100

D Minustheindex of import prices

A society which forgoes present consumption

A. Is forced to do so because of excessive
consumption within the country in the post

B. I's devoting new resources to new capital
formation

C Is merely devoting resources to the replace
ment of capital

D. Expects to consume only that amount

tomorrow which was forgone today

Economics 1987

A production possihility curve shows
A. How much of the resources of society
are used to produce a particular commodity
B. Therateof inflation
C Therate of unemployment in the economy
D Thevarious combination of two commodities
that can be produced

The study of the economic behaviour of individual
decision-making units (consumers resources own
ersand businessfirms) in afree-enterprise
economy isknown as

47.

ECOWASwill enablethecountriesinvolved to achieve

A. Comparative palitical advantage over other
countries not in theregion

B. A large market for their products

C Military superiority over countriesnot in the
region

D. Lower thetransportation cost of goodswithin
theregion

Which of the following methodsismost likely to lead
toanincreaserate of growth in the national economy?

A. An increase in wages and profits

B. An increasein consumer demand

C A greater fraction of the National Product
going into investment

D. A continuousrise in bank loans

The differences between the Gross Domestic Product
and the Gross National Production isthe

A. Allowancefor total depreciation
B. Total interest payments
C Total tax and interest payments
D Net incomefrom abroad

Which of thefollowing strategieswill provide more
employment opportunitiesfor Nigerians?

A. Investment in social services

B. Industrialization

C Economic planning

D Eradication of illiteracy

A nation’sdistribution of income shows

A. The value of all goods produced in the
economy

B. How incomeisdividend among different
groups

C Where the economy system ison its
production possibility curve

D. The consumption behaviour of the people

B. Macroeconomics
D. Indifferencecurve

A. Microeconomics
C. Production

Which of the following best describes the con
cept of opportunity cost?

A. A specid bargain or sdleat bd ow market price

B. Codts for inputs tend to go up as we use
moreof them

C Goods that are not produced in order to
produce more of another good

D. A cost that constantly decreases
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Market is defined as

A. Onegeographical |ocation where people
meet to buy and sall

B. The demand and supply of goods and
services

C A group of people whose soleinterest isto 14.
makeprofit

D. Any organization at framework which links

the buyers and sellers of agood or service.

The additional revenue obtained by using one more
unit of afactor iscalled its

A. Marginal product
B. Additional product
C Marginal revenue product
D. Average product
15,
Labour productivity is defined as
A. Output per man/hour
B. Average output
C Themaximum number of hour worked 16.
D. Total level of output
Efficiency of labour is enhanced by
A. Involvement in own family affairs
B. Mechanization processes
C War againg indiscipline
D. Improved working condition and training
17.
Average Fixed Cost is
A. Average Total Cost lessthe sum of Average
Variable Cost
B. Half the sum of all costs
C Total Fixed Cost divided by thelevel of 18
output
D. Total Fixed Cost plusMargina Cost
Theresidual of production which accruesto the
ownership of land after all other expenses have been
metiscalled
A. Wages B. Rent C. Interest D. Profit 19.
In the history of Economic Thought, the concept of
Division of Labour isusually associated with 2.
A. David Richardo B. J M. Keynes
C. Adam Smith D. Karl Marx

Theform of capital which isusually consumed or
transformed into finished goods and servicesin the
production processis called
A. Industrial capital B.
C Fixed captal D.

Social capital
Circulating capital

The shut-down point forafirmin the short runisthe
output at which

A. The price of the product is lowest

B. Marginal Cost is not constant

C Average Variable Cost is not covered
D. Average Cogt isminimum

Inthelongrunafirmwill leaveanindustry if price
A. Does not cover at least Average Total Cost

Isnot equal to Marginal Cost

Ishigher than Average Variable Cost
Isnot at least equal to the minimum of the
Marginal Cost curve

onw

In the process of shipping, Mr X whose salary per
month does not exceed N200, findsthat theprice of a
commodity he used to purchase with a fixed amount
of N200 has now risen to N230. Hetherefore decides
not to buy this commaodity at all Mr X isthus affected

A Substitution effect of a price change
B. Income effect of a price change

C Opportunity cost of a price change
D Inflation effect of a price change

Price can be defined as
A. Arateof exchange B. A medium of exchange
C. Thecost of aproduct D. Thestandard of accounting

In the operation of market forces, themarketisin
equilibrium at the point where

A. Demand and supply curvesintersect in more
than one point provided the market is cleared

B. Theexcessin the market can be conve
niently stored

C Excessdemand isnegative

D Demand and supply curves intersect

A shiftin thedemand curve, for acommodity when
the supply curveisvertical will lead to achangein the
A. Priceonly  B. Quantity only

C. Qualityonly D. Priceand quantity

Given an original priceof N3.50 per kilogramof rice
and achangein price of N1.40; and given the quantity
purchased at the old price as 10kg and a changein
quantity as 5 kg after the price change the elasticity is
equal to
A. 10.20 B. 357C. 125D. 0.80

For normal goodstheincome eleasticity of demand is
A. Positive B. Negative C.Zero D. Infinite

Y

P S

f

O X
In the diagram above, PSisthe supply curve for a
particular commaodity, while OPisthe price. Which of
thefollowing statementsis correct?

A. The quantity supplied isinfinitely elastic

B. When priceiszero, the quantity suppliedis
infinite

C When priceisinfinite, the quantity supplied
iszero

D. The quantity supplied isindefinite
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Usethefollowinginfor mation toanswer questions21
and 22

X, Y and Z arethe only three consumersof acom
modity.

Their respective demand schedules for the commodity
areas given below:

Price )éumtlw Price (Yguantlty e LQuantlty
# (Units) # (Units) # (Units)
0 24 0 15 0 40
2 15 2 10 2 30
5 10 5 5 5 15
10 0 10 2 10 5

Themarket demand curvefor the commodity cutsthe
quantity axiswhen quantity is
A. 75units
B. 35units
C. 7units
D. Not determinablefrom he schedul esexcept
when graphed

What ismarket demand for the commodity when price
iSN5
A. 65units B. 40units C. 30units D. 20units

If agoodisaninferior good, then

A. It isalso necessarily afiggen good

B. The quantity of the good demanded varies
inversely with itsprice

C Itsincome el astic of demand is negative

D The poor buy the good only out of habit

Anincreasein supply will lower priceunless
A. Supply is perfectly inelastic

B. Demand is perfectly elastic

C Itisfollowed by an increasein demand
D. Demandishighlyindastic

Which of thefollowing iscompatiblewithafirmina
purely competitive market?

A. Demandisinelastic
B. Demandisinfinitdy elastic
C Marginal Cogt isfalling
D. Priceisgreater than Marginal Cost
| ]
1 v
grams above isthe consumer surplus correctly shaded?
Al B.Il.  Clll DIV

What form of market isfound in an imperfect competi-

tion wherethere are few buyersand many sellers?

28
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A. Oligopoly
D. Oligopsony

B. Monopoly ~ C. Duopoly

To which of the following sectors do services belong?
A. Primary B. Secondary C. Tertiary D. Congruction

Theliability of thesoletradeis
A. Indeterminable B. Unlimited
C. Transerable D. Limited

Which of thefollowing isNOT atype of

business ownership

A. Debentureholding B. Private company
C Partnership D. Joint stock venture

Which of thefollowing is a disadvantage of regional
concentration of industries?

Development of congested urban areas
Existence of regiona unemployment

High cost of labour

Immohility of labour
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A limited liability company isusually owned by
A. Anindividual B. A government
C Share-holders  D. Twoor morepartners
M
A

oney market differsfrom capital market in that it
Dealswith short-term loanswhile capital
market dealswith long-term funds
B. Dealswith honey only while capital market
dealswith capital aswell

C Islimited in scopewhilecapital market isnot

D. Usssinterest rateswhile capital market doesnot

Themain reason for charging interest isto

A. Reward entrepreneurial effort

B. Redistribute profits

C Reward investors for present use of capital

D. Mohilise more fundsfor devel opment

In the keynesian model,

A. The demand for money isinversely
related to the rate of interest

B. Investment is directly related tot he rate of
interest

C Investment is not related to the rate of
interest

D. The demand for money isdirectly related to

theratein interest

If inflation is anticipated to continue,

A. People will 1ose confidence in goods

B. Lenderswill demand higher interest rates

C Thegrowth of full-employment output will
be accelerated

D. Peoplewill want to hold more money

Advalorem tax means

A. A certain percentage tax based on the value
of the commodity

B. A certain percentage tax based on the
volume of the commodity

C A tax on theincome of the consumer
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D. Payment of atax on the profitsmade

In order to raisemorerevenuefor acertain period,
government should impose higher taxes on goods
whose demand is

A. Elastic B. Indlastic C. Perfectlyéastic
D. Unitary eastic

A budget with a projected revenue in excess of its
expenditureissaid to be

A. Balanced B.
C Deficit D.

Surplus
Inflationary

The money which government spends yearly for the
maintenance of its schoolsis

Used only for wages and salaries

Part of the government’s capital expenditure
Part of thegovernment’ srecurrent expenditure
The government’s budget for its schools.

onw>

Which of thefdlowing gppliesto acommodity sold
abroad at a pricelower than that in theprodud ng country?
A. Dumping B. Counter-trade C. Bilatera trade
D. Tradeliberalization

Therate of exchange between adomestic and a
foreign currency isdefined asthe

A. Termsof trade

B. Domestic currency price of aunit fothe
foreign currency

C Foreign currency price of gold

D. Domestic currency price of gold

Which of thefollowing best explainsthe structural
changesin the population of a country?

A. Positive changesin the size and ethnic
composition of the population

B. A decreasein the size of the population

C Anincreasein thebirth ratewhich ishigher
than the decrease in the desth rate

D. Changein theage, sex and occupational

composition of the population

Statistical information availablein most West African
countries suggests that

47.

Themarginal propensity to saveishigh
Themarginal propensity to consumeishigh
The consumption pattern is negative

There exists perfect correlation between con
sumption and savings

Cow»

Transfer paymentsare

A. Transfer earnings

B. Money tranderred from one country to ancther
C Unearned income

D Payment tranderred from oneacoount to another

Capital consumption allowancerefersto
Personal consumption expenditure
Indirect business taxes
Depreciation of capital equipment
expenditure on capital equipment.

Cow»

The difference between personal income and
personal disposableincomeis

Personal incometax

Investment income

Personal savings

Consumption expenditure

Cow»

Frictional unemployment

A. I's total unemployment minus structural

B. Occurs when the unemployed are persons
with specific training

C Occurs when the number of job seekers
exceeds the number of vacancies.

D. Occurs when people are changing jobs.

For the improvement of thewelfare of a people, ahigh
production level is not enough because

The have-nots deserve more than afair share
Equitable distribution is necessary
Productive efficiency isvital

Savingsin the country must be guaranteed
at morethan 50 per cent of income earned.

Cow»

Economic devel opment isdefined as

A. Positive change plus growth

B. Availahility of more goods and services

C Outward shift of the production possibility
curve

D Growth in the national income

Economics 1988

1

Scarcity in economics meansthat

A. Human wantsarelimitless

B. The economy has very few resources

C The economy can scarcely produce anything
D. Resourcesarelimited in relation towants

Economics is often described as a sciences because

A. Laboratory experiments are performed
B. It makes use of controlled experiments
C It uses scientific methodsto explain ob

served phenomena and predict future events

D. It makesuse of field work.

When avariableisassociated with timeperiod, itis
A. Aflow  B. Astock C. Circular D. Static

Ufuomais a consumer. His scale of preference shows
that he prefersapair of shoesto awrist watch; he
prefersthewrist watch to a pair of trousers; he prefers
the pair of trouserstot he pair of shoes.
Thismeansthat Ufuomais

A. Rational B. Consistent C. Inconsistent
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D.

Trangtive

Air isessential tolife but commands no price!
Diamond isnot essential tolife but commandsahigh
price! Thisistheparadox of

A. Thrift B. Value C. Abundance D. Scarcity

The average product of labour in a given period is
obtained by dividing the

A. Number of workers by thetotal product

B. Total product by the number of hours
actually worked

C Changein total product by the changein the
total number of workers

D. Total product by the number of workers

Devel opments outside a given firm which reducethe
firm cogsarecalled

A. Internal economics B. External economics
C. External diseconomicsD. Optimum effects

Which of thefollowing BEST describesthe products
function”

A. It indicates the best output to produce
B. It relates nairainputsto nairaoutputs
C It relates physical outputs to physical inputs
D. It indicates the best way to combine factors

to produces any given output.

P
Capital X
Y
Labour Q"

A textilefirm operatesaplant in the North (where
capital isexpensiveredativetolabour) aswell asa
plant in the South (wherelabour isexpensiverelative
tocapital). In thediagram above, the Southern plant
will minimizecost by combining labour and capital in
the amounts indicated by

A.P B.Q CX DY

TheLaw of Diminishing Returnsbeginstooperatewhen

A. Total product beginsto rise

B. Total products beginsto fall

C Marginal product beginstofall
D. Marginal product beginstorise

Theassumption of prafit maximizationimpliesthat profits

A. Isthemog important condderation of thefirm

B. Isthe sole consideration of thefirm

C Assumes an insatiable proportion in the
ingtinct of management

D. Ismadein order to break-even

Total fixed cost measures the cost of

A. All plant and machinery

B. All assets where quantity cannot be varied
in theshort run

C All assets upon which thefirm has control

D Property owned by thefirm

14.

16.

17.

The output at which total revenue equalstotal cost is
known as

Profit-maximizing output

Break-even level output

L oss-minimizing output

Least-cost output

onw>

The demand and supply equations for a commodity
are given respectively as

D=20-1/2P

S=8-1/4P

Recallingthat at equilibrium, D = S, theequilibrium
price (P) and quantity (Q) can be obtained as

A. P=12,Q=16

B. P=14,Q=10

C P=12,Q=14

D P=16,Q=12

A commodity is said to have a derived demand when

the commodity

A. And another have joint demand

B. Is demanded because of what it can help to
produce

C Isdemanded for different purposes

D Hasinelastic demand

If dl goodswerefresarationa consumer would consume

A. An infinite amount of each good

B. Theamount where marginal utility became
zero

C The same amount as when each good had a
price

D. Theamount wheremargina utility wasthe
highest

Which of thefollowing changesin equilibrium price
and quantity isasaresult of an upward shift in the
market demand for acommodity?

A. Both the priceand the quantity fall
B. Thepricerisesand the quantity falls
C The pricefallsand the quantity rises
D Both the price and the quantity rise

Onefactor which influencesthe slope of anon-linear
demand curvefor acommodity isthe

A. Price of the commodity
B. Quantity of the commodity demanded
C Availability of substitutes
D. Availability of complements
Price
A S
LN
N /// <\

0] Q Quantity
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If in the demand-supply diagram above the quantity
supplied isOQ, then

A. Pricewill beOP
B. Therewill be excessdemand of RT
C Pricewill beON
D. Pricewill tend torise
Oneof the characteristicsof an imperfect market is
A. A large number of buyersand sellers
B. A lack of homogeneity of products
C An adeguate awareness of market conditions
by buyers and sellers
D. The availability of substitutes
Total revenueis always equal to
A. Marginal revenue multiplied by the quantity
sold
B. Average revenue plus marginal revenue
C Marginal revenuemultiplied by marginal cost
D. Average revenue multiplied by the quantity

sole.

If pricesfall in aperfectly competitiveindustry, the
firmsinthat industry, in the short run will

A. Not decreasein number
B. Keep output at the samelevel but make
| osses
C Reduce production
D Intensify the advertisement of their products

Which of thefollowing is TRUE at the quantity of
output where Average Cost (AC) per unit has reached
itsminimum level ?

A. AVC=FC B.
C MC =AC D.

MC =AC
AC =AFC

In the short run, the monopolistic competitor
Always makes profit
Alwaysincurs aloss

Always break-even

May close down

onw>

Priceleadershipis

A A form of tacit collusion

B. Used toexplain pricerigidity
C lllegal in Nigeria

D A form of overt collusion

The additional revenue obtained by using one more
until of afactor iscalled

A. Average product

B. Marginal product

C Diminishing returns

D. Marginal revenue product

In apublic company, entrepreneurial functionsare
performed by the

A. Workers B. Shareholders

C General manager D. Board of directors

Themost important limitations on the partnership asa
form of business enterprisesisthe

A. Implicationfor partners liability

B. Legal limitation placed on the number of
partners

C Difficultiesarising from having two co-
ordinate heads of  afirm

D. Fact that each partner regardless of the
capital he contributes, must have the same

voting rights

2,
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Under partnership, investors who have no desires to
be actively involved in the day-to-day management of
such organisations, arecalled

Stockbrokers

Sleeping partners

Part-timeinvestors

Ordinary partners

Cow»

Localization of industriesreferstothe
A. Tendency to concentrate industriesin
particular areas

B. Sitting of industriesin certain areas

C Deliberatepalicy of influencing | ocation of
industriesgenerally

D. Zoning of industries

Restriction on credit creation by commercial banks
can be effected through

An overdraft

Loans and advances

Demand deposits

Liquidityratio

Cow»

Which of the following factors enhances the ability of
commercial bank to create money?

A. Reduction in thereserveratio

B. Leakage of cash out of the banking system
C Excess reserves

D Insistence on collateral security

In any economy, what isused as money is determined

by

A. Government acceptance of acommaodity
standard

B. Government acceptance of an inconvertible
paper standard

C Laws and customs

D Its use as a store of value

The rate at which money changes handsis known as
the

A. Rate of inflation

B. Vel ocity of transaction
C Vel ocity of money

D. Velocity of circulation

Merchant banks perform all the following functions
EXCEPT

Raising of capital for industry

Provision of current account facilities
Management of investment portfolios
Provision of credit for overseastrade

Cow»

Which of thefollowingisadirect tax?



41

A. Salestax B. Purchasetax
C Export duties D. Property tax

Which of thefollowingisadirect tax?
A. Excisetax B. Corporateincometax
C Property tax D. Highway-

When a nation isexperiencing balance of payments
surplus, itisin abetter position to

A. Increaseits foreign exchange reserves
B. Increaseitsliabilitiestoforeigners

C Reduce itsforeign exchange reserves
D Devalueitsnational currency

Which of the following isagood exampleof invisible
item on balance of payments account?

A. Shipping an aviation B. Export andimports
C Merchandise D. Bullion

Deficit financing ismaosily fadilitated by theexistence of
A. Stock exchangemarket B. Commercial bank
C Central bank D. Capital market

The Malthusian theory of population predicts that
growth in food production will

A. Keep pace with population growth

B. Beat afaster ratethan population growth

C Be at aslower rate than population growth
D. Bemorerapid than popul ation growth in the

development countries

If aggregate incomeisN500.00 and aggregate
consumption isN400.00, thismeansthat the average
propensity to consume is
A. 020 B 08 C. 125 D. 200
Which of thefollowing itemsis subtracted when
computing Gross National Product at factor cost, by

theexpenditure method?

A. Consumption expenditure

B. Indirect taxes

C Exportsand property incomefrom abroad,
D. Gross Domestic Fixed Capital Formation

Which of thefollowing occursin thecircular flow of
economic activitieswith no leakages?

47.

Consumption equals saving

Saving equals investment

Importsequal exports

National incomeequalsnational expenditure

onw>

In estimating the national income of a country, the
three approaches usually adopted are the
Expenditure, value-added and output
Income, final product and output
Expenditure, income and output
Avoidance of double counting, final
expenditure and value-added

onw>

If technology becomes | ess capital-intensive, it
means

Anincreasein the capital/labour ratio
Anincreasein thelabour/capital ratio
A fall in thelabour/capital ratio
Increased unemployment

onw>

The most threatening problem for the less devel oped

countriesis

The continual depletion of their soil fertility

Therise of nationalism

Population explosion

Their indiference towards economicsgrowth

onw>

Anincreasein an economy’s productive capacity

implies

A. An increasein the economy’srate of capital
replacement

B. Anincreasein the economy’s capital stock

C A decreasein government spending

D. An increase in government spending

Callectivism refersto the system of management of
Stateenterprisesin a

Mixed economy
Co-operativeorganization

Capitalist economic system

Socialist economy

onw>

Thegroup of unemployed members of acommunity
who are physically handicapped or disabled, is
generally classfied under unemployment as.

A. Frictional B. Cydlica

C Residual D. Hidden

Economics 1989

1

Initssamplified form, thecircular flow of income
concept refers to the

A. Real flowsin goods and services between
the product and factor markets

B. Monetary payments for goods and services
produced by individual firms

C Transactions in goods and services and

payments for such transactions between
individual firmsand households

D. Money flows associated with transactions
between individual firmsand households

2

The need to construct a scale of preferenceis

necessitated by

A. The need to satisfy wants

B. Scarcity and the need for choice

C Scarcity of resources

D. Non-availability of factors of production

A shift in the production possibility frontier could
result from

A. The need to satisfy wants

B. Scarcity and the need for choice
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C Scarcity of resource

D. Non-availability of factors of production

Theprimary problem of economicsis

A. To obtain amore equitable distribution of
money income

B. Production a given output with the lowest
cost combination of factors of production

C Adoption of capital-intensive technology

D Increasing the quantity of the fixed factor of
production

Efficiency in production involves

A. Reducing the size of thework force

B. Producing a given output with the lowest
cost combination of factors of production

C Adoption the quantity of the fixed factors of
production

D. Increasing the quantity of the fixed factor of
production

If X represents the factors of production and Y
representsthefactor price, which of the following
Sets of association is correct?

A. (Land, rent), (capital, wage), (Iabour, prdfit),

B. (Land, interest), (capital, profits), (abour,
wage),

C (Land, wage), (capitd, interest), (Iabour,
rent),

D. (Land, rent), (capital, interest), (Iabour,
wage).

If the cost of production for afirm continuesto
increase asitsoutput rises, thefirmissaid to be

experiencing

A. Large-scaleproduction
B Profit maximization

C Economies of scale

D Diseconomies of scale

Given perfect competition in the capital market, the
opportunity cost of capital is adequately reflected by
the

A. Interestrate B. Returnson capital
C Alternative capital foregone
D. Shadow rice of foreign exchange

If at 10k per kg, 1000kg of yam were purchased and at
5k per kg, 1,500 kg were purchased, theresultant point
elagticity of demandis

A. 0.33 B. 0.0001 C. 1 D. 10000

If, asthe price of acommodity rises, the quantity
demanded of the commodity remainsthe same, then
thedemand for the commodity is

A. Static B. Infinitdydastic

C Externallydetermined D. Perfectlyinelastic

12

14.

16.

Labour
In the diagram above what happenswhen the

minimumwageisfixed at OW?

A. Unemployment is reduced
B. Unemployment results
C Thedemand schedule will shift
D. The supply schedule will become steeper
Price of X
0 Quantity demanded of Y

If the curve above shows the relationship between
the price of commodity X and the quantity demanded
focommodity Y, then X andare

A. Complementary goods B.
C Inferior goods D.

Substitutes
Luxury goods

Which of thefollowing factorsis an important
determinant of the magnitude of price elasticity of
demand?

The production period

Cogt of storage

Durahility of the product

Availahility of factors of production

Cow»

Themarginal theory of distribution makes an asser
tion that the price of any factor depends upon its

margina
A. Utility B. Productivity
C Rate of substitution D. Revenue

In order toincreaseits profit margin, the monopolist
can manipulate

A. Bothpriceand output B. Either priceor output
C. Onlyitprice D. Only itsoutput

For apurely competitiveindustry, afundamental
requirement of the demand curvefaced by individual
firmsisthat it should be

Downward doping and priceindastic
Perfectly price elastic

Downward sloping but priceinelastic
Perfectly priceinelastic

Cow»
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Themerging of firmsengaged in different stages of
production and marketingiscalled

External economiesof scale

Vertical integration

Horizontal integration

Economic union

onw>

Which of thefollowingisan important function of the
retaler?

A. Grantscredit to thewhol esaler

B. Breaksbulk and sells productsin small units

C Reduces cost of distribution

D. Generates demand for products through
advertisement

Q(ton)|] 400 500 600 700 800 900 1000

TC(N)| 16000 1800019800 21000 24000 31500 4004

TR(N) | 2000 2250024000 24500 2450018000 15004

The table above gives the various levels of output (Q)
and its corresponding total cost of production (TC)
andtotal revenue (TR) for afirm.

Which output leve Qresultsin maximum profit?

A. 400 B.500 C.600 D. 700

Oneof the purposesof advertisement in markelingisto

A. Change the quality of the product

B. Raise the quantity of the product demanded
asitspricefalls

C. Shift thedemand curvefor the product totheright

D. Raise production costs

Thesizedf abugnessunit tendsto besmdl if theactivity

A. Involves mass production of goods

B. Requiresalarge capital

C Requiresdivision of labour

D. Involves the provision of direct services

Which type of business organization has the attribute
of effectively combining management with control ?

A. Soleproprietorship

B. Partnership

C Limited liability company
D. Co-operatives

The co-operatives as aform of business organization
differsfrom partnership by having

A. Several sources of capital for business
financing

B. Ability to issue preferred stocks to members

C Entrenched democratic control inthe
conduct of business

D. Established rules and regul ations governing

theactivitiesof itsmembers.

The type of business finance that entitles the holder
toafixedrateof dividendis

A. Preferred stock B. Common stock

C. Debenture D. Bankloan

27.
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Which of the business organizationslisted below is
characterized by limited authority and liability of the
individual owners?

A. Sole proprietorship B. Partnership

C Joint Stock companyD. Co-operative society

A company issaid to be highly geared if the

A. Valueof fixedinterest loansishigh compared
with share capital
B. Value of share capital ishigh comparedwith
fixed interest loans 1528
C Dividend rateishigh Tre Comg‘;a‘ed Lon
D Interest rateishigh e\ e s
j\ ‘heapp\'\e‘é
Industriesthat can berandomly | ocated arecharacterized by
A. Relatively low transport cost for both raw
material sand output and factor mobility
B. Relatively heavy transport cost for raw
material or output
C Constant returns to scaled
D Significant economy of scale

Theterm ‘double coincidence’ of wantsisusually
associated with a

A. Bilateral exchange mechanism

B. Monetary exchange mechanism

C Stock exchange system

D Barter exchange mechanism

A major factor affecting the value of money isthe
A Pricelevel

B. Banking habit

C Transaction motive

D Divisible nature of money
Cogt-puch inflation is caused by

A. Growth of government expenditure
B. Increasein factor prices

C Increase in money supply

D Hoarding

The stock exchange market iswhere

A. Businessmen borrow some capital

B. The federal government trades on treasury
bills

C Existing bonds and stocks are traded

D New stocks and shares are bought or sold

Commercia bank reservesat the Central Bank have
the effect of

Controlling credit and money supply
Discouraging banking operations
Advancing trade prospects

Reducing bank frauds

onw>

A tax isdefined asregressiveif

A. The proportion of income paid astax
increase asthe incomelevel increases

B. All income groups pay the same percentage
their incomeastaxes

C The proportion of incometaken by thetax
fallsasincomeincrease



The proportion of incometaken by thetax is
afixed nominal amount of incomefr all
income groups

Government intervention in an economy isoften
justified on the on the ground that

A. Wantsare unlimited whileresourcesare
scarce

B. Productivity ishigher in thepublic thanin
the private sector

C Free market may not work or producedesire
results

D. Opportunity cost of government expenditure
iszero

Thethree major groups of government revenue are

A. Investmentsincome, direct tax and indirect
tax

B. Import duties, excisetax and export duties

C Company tax, personal incometax and import
duties

D. Company tax, import duties and excisetax

Themain objectives of public expendituresdoesNOT
indude

A. Stabilization of national economy

B. Achievement of amore equitableincome
distribution

C Meeting the socia heeds of the people

D Revenue sharing and profit maximization.

A perfect example of apublicgoodis
A. Air B. Education C. Defence D. transport

A balanced budge is defined as a condition of

A. Balance of paymentsequilibrium
B. Equality of aggregate demand and aggregate
supply
C Equality of planned receiptsand planned
expenditure
D. Equality of planned exports and planned
imports
ITEM AMOUNT
(Million Naira)
Visbleexports 5554
Visbleimports 5332
Invisibleexports 3056
Invisbleimports 2870
Balance 408

Theamount, N4.08 million, shown asbalancein the
table above represents

A. Termsof payments B. Balance on current account
C Balanceof trade D. Termsof trade

40.
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By using exchange contrals, a country triesto
eliminate a balance of paymentsdeficit by

A.

B.
C

Limited her importstoitscurrency value of
exports

Reducing the nations domestic price level
Limiting her exportstoitscurrency val ue of
imports

Overvaluing the country’s currency

Thelaw of comparative advantage satesthat a country
should spdalizein the production of acommodity

A. For which local demand isgreatest

B. In which its opportunity cost is lower than
that of the trade partner

C For which foreign demand isgreatest

D For which there isabundant supply of raw
meaterials

Internationa and inter - regiond tradediffer primarily
because.

A. comparative advantage isrelevant to the
former but not thelatter.

B. products flow across national boundaries

C there are different resources supplies among
countries of theworld

D. of regulation from GATT.

Optimum population isthepopul ation level at which

A. Desgth rateisat aminimum

B. Per capitaincomeisat maximum

C Population isat amiximum

D Death rateisequal tobirth rate

Thegroup of peopleengaged in banking or insurance
Services by occupational didributions are daasified as

A. Primary producers

B. Secondary producers
C Tertiary producers

D. Technical producers

The difference between gross national product and
net national product is equal to

A. Grossinvestment
B. Net investment

C Net foreign income
D. Capital depreciation

Thevalue of thetotal output produced within Nigeria
by all residents(citizensand non-citizens) isreferred
to asthe

Grossnational product

Disposableincome

National income

Gross domestic product

Cow»

Themultiplier isdefined as

A. Theratio of the changein incometo the
changein investment

B. The change in investment dividend by the
changein income

C 1 D. 1

(1-MPS) (MPC)
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If C standsfor consumption expenditure, | for

investment, X for exports, and M for imports, then
national incomeis

49,

C+I1+X+M B. C+I+X-M
C+1-X+M D. C+1+X

A sustained increasein the per capitaincome of a
country over aperiod of timeiscalled

Economic growth

Economic devel opment

Structural change

Stagflation

onw>

Theprimary goal of development planning in Nigeria

isto

A. Increase profitability of enterprises

B. Achievearapidincreasein thewelfareand
standard of living of Nigerians

C Increase the level of gross domestic product

D Make Nigeriaa super-power

Economics 1990

1

If one orange costs 20k and one kilogram of beef
costs N10.00, the opportunity cost of one kilogram of
beef is

A.500range B. 10 orange

C.5orange D. N9.80

In economiclife Choiceamong dternative dependson the
A. Income of the decision make

B. Scarcity of resources

C Scaleof preferenceof the decision maker

D Status of the decision maker

Usethe diagram below to answer question 3and 4

<4—_GOODS AND SERVICES __—

FACTORS OF PRODUCTION <4— |.|
BUSINESS FIRM

AND
GOVERNMENT

.4— PAYMENT. FOR GOODS AND SERVICES
UVV U U U

v vapweire Crogr o

Theflow labelled Y refersto
A. Real income B. Factor payments
C Factors input D. National income

Thelower half of the diagram indicates

A. The flow of goods and services
B. Payment for goods and services
C Theflow income

D. Government transaction

Oneof themajor advantage of specialization isthat
Theworker becomes atender of machines
It causes more employment of labour
Lessmachinery isrequired for production
Theworker waster [esstime between
operation

Cow»

Which of thefollowing reward is associated with
entrepreneurship as a factor of production?

A. Sdaries B. Profits C Interests
D. Rent

7

10.

A firm achieves |east-cost in production by substitu

tion factorsuntil

A. Their pricesareequal

B theratio of their marginal -physi cal-products
equalstheratio of their prices

C Their marginal-physical-products areeach
equal totheir factor prices

D. Their marginal-phsical -products areeach
equal tozero

Economics of scale operate only when
Marginal costisfalling with input
Average cost isfalling with output
Fixed cost isvariable

Variable cost islessthan fixed cost

onw>

At thepoint of profit maximization by afirm, marginal
cost is
A. Minimum B. Faling C. Constant
D.Risng

A Situation in which all inputsare doubled and
output also doubles is known as

A. Constant proportion B. Congtant returns
C. Increasingreturnsto scale

D. Constant returnsto scale

Thedemand curvewould shift tothewhenthereisarisein
A. Congtant proportions B. Constant returns

C. Increasingreturnstoscale  E. Constant
returnsto scale

Thelaw of diminishing marginal utility indicatesthat if
aconsumer increase his consumption of acommodity
continously his

A. Total utility must fal

B. Marginal utility must fall

C Marginal utility may rise even though his
total utility isfaling

D. Marginal utility mayfall even though his

total utility may berising

Technical progressthat leadsto reduction in costsresult in

A. Anincreasein equilibrium price and quantity
B. A decreasein equilibrium price and quantity

C Anincreasein equilibrium priceand de
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crease inequilibrium quantity
D. A decreasein equilibrium price and increase
in equilibrium quantity

If anincreasein incomeinducesareduction the
demand for beans, beans can bereferred to as
A. Anormal good B. Aninferior good
C. A substitute D. A giffen good

Thedemand for aproduct issaid tobepriceind adicif

A. Thepricedasticity of demand islessthan one

B. Thepricedasticity of demand isgreater than one

C. Areductioninpriceresultsin anincreasein
guantity demanded

D. Anincreasein priceresultin adecreasein the
guantity demanded

Which of the following graphs representsthe price
guantity relationship between tea and lemon, if they
areperfect complements?

A A

A. C.
P (tea) / P (ea) \
O (emon) C. ®
Q (Iemon)P

(éa) Q (lemon)

P (tea) | P (ea) k_/

O (emon) C. ®
Q (Iemon)P (°a)

Q (lemon)

Inthebelow diagram, RTX, arethe marginal cost and
the average cost curve respectively of a perfectly
competitivefirm. The supply curve of thefirmis

indicates by
A. TX B.RT C. ST D.TY
S Y
X
R T
o] Q

An imperfect market in which thereis only one buyer
of acommodity is

A. Monopsony B. Oligopoly C. Monopoly

D. Duopoly

Thetailoring serviceiscompetitive partly becauseit
consists of alarge number of
Large-scaleenterprises

Medium scaleenterprise

Small scaleenterprises
Government-owned enterprises

onw>

Which of thefollowing is applicabletoamonopolistic
firm operating at the output where marginal cost
equalsmarginal revenue?

A. Cog of production isat aminimum

B. Theplantisof optimum sze

2.

24,

28

C Priceisabove marginal revenue
D. Averagevariablecostisat aminimum

Which of thefollowing isthe major function of the
wholesaler?

A. Bulk breaking

B. Provision of useful information tothe
manufacturer on products

C Provision of after sales service to consumers

D Provision of warehousing facility

In the distribution channels for goods and services,
the middleman’s mark-up margin providesarough
measurefor the

A. Quantity discount allowed final consumers

B. Reward for business entrepreneurship

C Effectiveness of government control over
economy’ smarketing channels

D. Extent of expl oitation of the final consumer

Which of the following reasons could induce a
manufacturer to by pass the wholesaler in the
distribution chain?

A. To provide the quantity needed by retailers

B. To collect usefully information on his
product

C To providewarehousing facilities

D To violate government regulation on
distribution

A major difference between a state-owned enterprise

and private enterpriseisthat theformer

A. Is not expected to cover its cost of produc
tion whilethelatter is

B. Isnot always expected to maximize profits
whilethe33 later is

C Has shareholders while the latter does not

D Has aboard of directionswhilethelatter
does not

Divorcedf ownershipfrom contrd isacharacteridic of
Soleproprietorship

A limited liability company

Partnership

A privatelimited company

Cow»

Capital provided by individualstothefirm by
purchasing stocksis called

A. Debt capital B. Fixed capita

C Circulating D. Equity capital

Which of the following factorsisthe most important
in siting a petro-chemical plant?
Nearnessto the source of raw materials
Nearness tot he source of power
Availability of labour

Proximity of financial institutions

Cow»

Which of thefollowing will betheeffect of allowing

only economic factorsto dictate the location fo

industriesin Nigeria?

A. A more even development of the different
parts of the country will be assured



B. Therewill bean unbalance spread in the C
distribution of industries D.
C The less developed parts of the country will

CurveZ
CurveY

3L

be able to attract moreindustries 37. Under asystem of freely floating exchangerate, an
Only the government will beableto finance increasein theinternational value of a country
the establishment of industries (s)currency will cause
A. Itsexportstorise
If the same basket of goods which cost N12.00in 1985 B. Itsimportstorise
costN15.00in 1987 is C Gold to flow into that country
A. 25 B. 80. C. 100 D. 125 D. Its currency to bein surplus
Which of thefollowingisliketo beinflationary? B Balance or tradeiste difference between
A. Taxincrease B. Increasein unemployment A. Exports and imports of goods and service
C. Budget surplus D. Wageincreases B. Capital inflowsand capital outflows
C Visibleand invisible balances
Thebasic purpose of imposing legal reserverequire D Exports an imports of goods
mentson commercials banksisto
A. Assurethe profitability of commercial banks 0. Which of thefollowing islikely toreduceasurplusin
B. Provide a devicethrough which credit the balance of payments of a country?
creation by bankscan be controllled A. Devaluation B. Increasedtarrif onimports
C Provide aproper ratio between earning and C. Export promation  D. Currency appreciation
non-bank assets
D. Providethe Central Bank with with working 40. Which of thefollowing isatariff?
Capital A. Limit on the amount of good which can be
imported
Find thetotal credit that the banking system can B. Interest rate on foreign loans
createif primary depositsisjust N100.00 whilethe C Government payment to domestic producers
cashratiois20% for exports
A. N700.00 B. N600.00 C. 500.00 D. N400.00 D. Tax onimported goods
Whichof thefollowingisaliability of acommercid bank? 41 Import dutieswill increasestotal expenditure on
A. Depositsin the bank importsif thedemand for importsis
B. Loans made by the bank to individuals A. Elastic B. Indagtic C.nfinitely elastic
C Loans made by the bank to other banks D. Derived
D. Bonds purchased by the bank
42. Which of thefollowing islikely to hinder 1abour
A tax on acommodity whose supply is perfedlyindadicis mobilityin Nigeria?
A. Shifted completely on the consumer A. Higher wages elsewhere
B. Completely borne by the supplier B. Cultural dmilarities
C Dividein theratio 60:40 between the C Good accommodation
consumer and the supplier D. Ignorance of job opportunities el sawhere
D. Divided half-and-half between the producer
and the consumer 43 If birth rateis constant and death rate declines,
popul ation
Use the figure to answer question A. Fals B.Expands C. Stabilizes
v D. Oscillates
24. If the government investsthe sum of N1 000.00 and
z themarginal propensity to consumeis0.75, what it
thechangein income?
A. N1000000.00 B. N4000000.00
C 6000000.00 D. N214000000.00
0 X 45, The system of measurement of national incomeasthe
sumof al final demandsiscalled
Therdationship between tax rateandincomewhich is A. Incomeapproach B. Expenditure approach
relevant to a progressive tax is shown by C. Ispayabletot he disabled members of the
A. CurveX B. CurveY C CurveZ community
D. CurveX andZ D. Accruestot heenvironmental sanitation
authoritiesfor refuse
Thereationship between tax rateandincomewhich is
relevant to a proportional tax is depicted by 46. Disposableincomeisan incomewhich

A. CurvesZandY B. CurveX

A. Isavailable for consumption and savings
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48

B. Pensionersreceive from the government 49.

C I's payable tot he disabled members of the
community
D. Accruesto the environmental sanitation

authorities for refuse disposal 50.

In equilibrium, injections areequal to
A. Withdrawals B.Surplusof importsover exports
C. Government spending D. Wages

Social overhead capital refersto

A. Balanced growth B. Grossinvestment
C Thebuilding of infrastructures
D. Capital formation

Themog common index usedfor measuring deve opment is
A. Thelevd of literacy B. Per capitaincome
C Nutritional level D. Population growth rate

Agricultureiscentral to Nigeria's economicdevel op

ment because

A. Nigeria'scomparative advantageliesmainly
inagro-allied industries

B. Agricultureisthelargest employer of labour

C Agriculture accountsfor an insignificant
domestic product

D. Nigeriaearnslimitlessgoreign exchangefrom
agriculture

Economics 1991
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In market economy, the question of what, how and for 6.
whom to produce are solved by the

A. Elected representatives of the people
B. P anning committee

C Pricemechanism

D. Government

Economic goods are termed scarce goodswhen they are

A. Not availableinsufficient quantitiesto
satisfy all wantsfor them 7
B. Not produced in sufficient quantitiesto
satisfy the effective demand them
C Of high quality
D. Of primary importance in satisfying the

needs of a society

A schoal girl who needs abook and mirror, each 8
costing five naira, decidesto purchase the book

instead of themirror since she cannot pay for the two

at the sametime. Determinethereal cost of her books

A. The five naira she spent on the book
B. Fivenairarea cashvalue
C Themirror D. The book

Macroeconomicsis a study of economic science from 9,
the point of view of

A. Resource markets or production units
B. Individual producers of consumers

C Aggregate or general economy

D. Companiesor individual firms

In combining inputs x and y the entrepreneur obtains
themaximum output from a given money outlay when

A. P = Py
Mpx Mpy
B. Mpx = Mpy
2 Py
10.
C Px.MPx=PyMPy

D. Px.Py=MPx.MPy

If unitsof avariablefactor areincreasingly added to a
fixed factor and the marginal physical product keeps
increasing, production is said to be taking place under
condition of

Increasing returnsto the variable factor
Increasing returnsto scale

Constant returnsto the variabl e factor
External economiesof scale

Cow»

At any given level of output, thetotal cost of afirm
equals the

Marginal cost plus the average cost

Fixed costs |lessits variable cost

Average cost multiplied by its output
Economic costs multiplied by variable costs.

Cow»

At any given level of output, afirm’stotal variable
cost equals

A. Total cost lessmarginal cost

B. Total cost lesstotal fixed cost

C Total cost less average cost

D Averagevariablecost and marginal variable
cost

Congder thefollowing diagramwhereXYZ  repre
sent the average cost curve of afirm.

XY showsthat as output increases the average cost
declines. However, this decline cannot continue
indefinitely because of

A. Managerial economies
B. Indivisibilities

C Theextent of themarket
D.

Thepooling of dissimilar risks

If theprice of aball point pen fallsfrom N1.00 to NO.60
and the quantity demanded increasesfrom 200 to 300,
the point easticity of demand is equal to.

A. 125 B. 080 C. 050 D. 040
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16.

17.
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If a society isoperating on the production possibility
curve, thisimpliesthat theresourcesare

Fully and efficiently utilised
Fully but inefficiently utilised
Efficiently but not fully utilised
Abundant

A market isindisequilibrium if

A. The quantity purchased is greater than the
guantity sold

B. The quantity sold differs from the quantity

purchased

At alower price, alarger quantity issold

Thequantity demanded differsfromthe

quantity supplied

o0

Usethediagram below to answer questions 13 and 14,

MC AC
S T
R MR = AR
Q W
P MR =AR = P
[}
L
a
X Y Z
Quantity
Theexcess profit made by thefirm in the short-runis
represented by

A. ORTZ B. OPVY C. QRTW D. ORSX

Thelong-run equilibrium price and quantity for the

firm arerespectivdy
A. OPROY B. OROZ C.OROX D. 0OQ,0z

The cross-elagticity of demand between complemen
tary goods is
A. Unitary B. Positive C. Zero D. Negative

Resources are efficiently allocated when production
takes place at that output where price equals

A. Marginal revenue
B. Average variable cost
C Marginal cost  D. Total cost

Comparison of the price and output decisions of a

perfectly competitive firmwith those of amonopolist

shows that the

A. Monopalist chargesalower pricethan the
perfect competitor

B. Perfect competitor chargesalower priceand
produces alarger output than the monopo
list

C Perfect competitor produces a smaller output
than the monopolist

D. Monopoalist chargesalower price and
producesalarger output than the perfect
competitor.

1000

24,

(tons) 60 7001 800[ 900
TC® 6800 8700 8400 9600 11Q0
Me (#/tw |) 16 S} 12 14

Consider the table above showing output (Q), total
cost (TC) of production and marginal cost (MC) for a
firmin acompetitive market. Supposeprice (P) =N12,
what isthe maximum profit thefirm can make?

A. N2000.00 B. N1200.00 C. N21000.00

D. N400.00

In aperfectly competitivemarket, thefirmisin long-
run equilibrium at theoutput where

Marginal cost isminimum

Averagecost isminimum

Total revenueismaximum

Margina revenueismaximum

onw>

C
0

o the diagram below to answer questions 20 to 22

-

o

Marginal Revenue
< gi venu

\\ Demand

U U0 T

Demand

Thefirm portrayedissallingin

A purdly competitive market

A market inwhichdemandisdadicat dl prices
Animperfectly competitive market

A market in which companiesproduce
homogeneous commodities

onw>

Demandisrelatively inelastic
A. AtP2range B. IntheP2 P4 pricerange
C At P3only D. At any pricesbelow P2

Which of the following statements must hold if price
discrimination isto be possible?

A. Eladicitiesin thevariousmarketlsmust not differ

B. The seller must recognise

C The markets must not be separated but
integrated

D. The markets should be separable but there

should be no resale

Theordinary partner in apartnership

A. Takesnoadtiveparti in management of the
business

B. haslimited ligbilityin caseof busnessfalure

C Hasunlimited lighilityin caseof bud nessfailure

D. Cannot be sued personally on matters

relating to the business

A possiblefactor which limitsthe extent of growth of
afirmisthe

Existence of amonopoly

Bureaucratic delaysin decison-making

Use of by-products

Unwillingnessto shareownership and control

onw>
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One of the most outstanding disadvantage of co-

operative societies as business organization is that

3L

A. Truespirit of co-operation ismarred by

delegated authority

B. Members show much interest

C Itis poorly financed

D. Membership interest is centered on sharing
of essential commodities

A disadvantage of a join-stock company is

A. Unlimited liability

B. Limited lighility

C Continuity

D Loss of controlling interest

A characteristic of adebentureisthat

A Itsyield is based on profits

B. Itsyieldisafixed rateof interest

C It has no redemption date

D Thereisavoting when interest ispaid

Industriestend to be located closer to market centres
than to the sources of major raw materialsif the

A. Products are relatively cheap to transport to
market centres
B. Products arerelatively moreexpensively to

transport arerelatively more expensiveto
trangport than the major raw materials

C Raw materialsarebulky

D. Raw materials can also beimported

One disadvantage of trade by barter is that

A. People are happier when they exchangethe

same quantities of goods through the
medium of money rather than by baster

B. The person wishing to buy good X may not
have good Y which iswhat the other person
wants

C One person must always be cheated when
trade takes place by barter

D. Itincreasetheinitial cost of producing
goods

One of the functions of Development Banksisto

A. Mint money for the development of the
economy

B. Provide short-term [oans to commercial
banks

C Provide medium and long-term financefor
development of the banking system

D. Provide medium and long-term financefor

the development of the economy

To perform itsfunction as a store of wealth and

standard for deferred payment, money must be

A. Portable B. In attractiveform

C Stablein value

D. Spent more on capital goods than on
consumer goods

Fiduciary issueisthat part of

A. The issue of notes backed entirely by gold

B. A country’s currency which is not negotiable
C The issue of notes not backed by gold

41

D. A country’s currency officially issued
An effect of inflation isthat is

A Discourages trade by barter

B. Favours debtors at the expense fo creditors
C Increasesthereal income of salary earners
D

Increases the value of a country’s exports

Banks aid economic expansion and devel opment by

A. Being very strictin lending policies

B. Mohilizing savingsfor investment lending

C Paying interest on deposit accounts

D. Charging high interest on loans

Theterm* Stock of Capital’ means

A. Amount of money necessary to start a business

B. Total amount receiveable by all factors of
production

C Amount of equipment plant and inventory
exigting at atime

D. Tota amount availablefor economicdevd opment

A tax that takesan increasing fractional of incomeas
income goes down iscalled

A. Conditional B. Regressive C. Progressive
D. Proportional

Budget deficit isthe amount by which

A. Total expenditure exceedsrevenue

B. Recurrent expenditure exceedsrevenue

C Capital expenditure exceedsrevenue

D. Recurrent expenditure exceeds capital
expenditure

Theaveragetax rateis defined as

A. Total tax ratelessthemarginal tax rate

B. Thetax ratewhich appliesto additional value
of income

C Theratio of total taxespaid tototal income

D Marginal tax rate for being progressive

Personal distribution of incomeimplies

A. Theway incomeisdistributed among
specific households or spending units

B. Thedistribution of income according to
basic resource classes

C Dividing income according toindustries

D Dividing income between personal taxes

consumption expenditures and savings

One of the advantages of international tradeisthat is

A. Increases world output

B. Encourages economic independence among
nations

C Restricts spread of technical knowledge

D Promotesself-relianceand satisfaction with

only what can be produced internally

Thereisan improvement in thetermsof trade of a
country if

A. A large quantity of exportsis given up to
obtain aunit of imports
B. Thevolume of exportsisgreater than the
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volumeof imports

C A smaller quantity of exportsisgiven up to

obtain aunit of imports

D. Thevalue of exportsis greater than thevalue

of imports

Under flexibleexchangerates, adefiat could becorrected by

A. Freezing the gold point

B. Appreciation of other currencies
C Removing export subsidies

D Removing tariffs

The higher the dependency ratio the

A. Larger the proportion o f the employed
relative tot he unemployed

B. Smaller the proportion of the activelabour
forcerdativetotheinactive

C Smaller the number of the non-working age
groups relative to the active labour force

D. Lower thebirth rate

The age distribution of a country’s population is of
economic importance becauseit affect the

Pattern of expenditures

Sizeof thearmy

Optimumsizeof firms

Location of industries

onw>

It isimportant to measurethe National Incomeof a
country because

A. It isamajor determinant of the standard of
living

B. It reveal shazards of development like
pollution and congestion

C It revealsthedistribution of thecitizens
savingsin foreign banks

D. Its 5 ze determinesthe extent of political
stability

CONOMICS 192
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TheGrossDomedtic Product is defined asthetotal val ue of
A. All final goods and services produced in a
country during the year

B. All assets of acountry in aparticular year

C Exportsnet of total value of imports

All receipts
Stage of Valueof SaleVaue
Product mput of ourput
Maizefarmer - N10.00
Hour miller N10.00 N12.00
Baker N12.00 N15.00
Il\“llsm I NLsTa¥Wa'al

Chon |
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The value of total output in the economy using the
value added approach is

A.N57.00 B. N37.00 C. N20.00 D. N15.00

If W stands for wages/salaries, P for profit, R for
interest and Z for rent on land and real estate, then
national incomeis

A. W-P-R-Z B.
C P-R-Z+W D.

W+P+Z-R
W+P+R+Z

In the national income and product accounts, double
counting is avoided if

A. Only final goods are counted

B. Only intermediate goods are counted

C Onlyintermediate and final goodsare
counted

D. Thevalue of all goods and servicesare
added together

A major obstacle to economic development is

A. A riseinindustrial output

B. Low farm productivity

C Freetrade

Ineffective trade unions

Which of the following situations can giveriseto
economic problems?

Unlimited human wants

Wants of varying importance

Limited meansavailablefor satisfying wants
Means used in different ways.

onw>

Scale of preferencerefersto

A. Consumers preference for luxurious goods

B. The household monthly income

C List of goods and servicesin order of
priority

D. Budget preparation without paying due

regard to priority

For an economy which last year produced only two
commodities X and Y, thereal cost of the quantity of
X which it produced can be measured by the

A. Amount of X it could not produce

4

B. Amount of Y it produced
C Total amount of Y it could have produced
D. Extraamount of Y it could have produced

which of the following isapplicablein awholly
capitalist economy?

A Thereisgovernment interventioninprice
determination.

B. consumer sovereignty does not exist.

C The pricemechanism all ocatesresources.

D households cannot freely decide what to

spend on goods and service.

Age group( years) Distribution ( %)
Above 60 0
15-60 45
0-14 5

The estimated dependency ratio of the population
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distribution shown aboveis

A. 11:9

B. 9:11

C 7:3

D. 3:7

Population Food Production
(Million) (million tonnes)
50 20

70 210

D0 25

100 25

In the data above, what isthe optimum population is
million?

A.50 B.70 C9 D.100

Themajor objective of the current campaign for family
planningin Nigeriaisto

Reduce the desth rate

Limit thenumber of women aman can marry
Keep the population growth rate constant
Raise the standard of living of the popula
tion

onw>

Themigration of young peoplefrom rural to urban
areasin Nigeriashould helptoraisethe

A. Standard of livingin the urban areas

B. Total productivity of labour in therural areas

C Marginal productivity of labour in therural
areas

D. marginal productivity of labour in theurban
area

By definition, variable cost (VC) isrelated tototal
costs (TC) and fixed cost (FC) by the equation.
A. VC=TC+FC

B. VC=TC-FC
C VC=TCIFC
D. VC=(TC)(FC)

Thehigher thepricefo capital relativetot he price of
labour, the more production techniques should be

A. Labour-intensive

B. Capital-intensive

C Fixed

D. Technol ogy-intensive

Use the following production and cost data of a
profit-maximizing firm to answer questions 11 and 12

Unit of Total [ Total [ Tota
Total Output| Fixed | Variable
Input Cost | Cost

0 0 100 0

1 3 100 100

2 8 100 124

3 16 100 172

4 2 100 190

5 2 100 20

Calculatethemarginal physical product of thelast
unit of input
A.0 B.2 C 4 D 10

n

13

14,

15,

16.

17.

18

Atwhat leve of input has diminishing marginal
returns set in?
A.3 B. 16 C. 20 D22

The U-shape of the long-run average cost curve can
be experience by the

A. Law of increasing returns

B. Law of constant returns

C Law of diminishing returns

D. Concepts of economics and diseconomics of

scales

Quantity of Short-run
Singlets total costs(N)

0 1000

10 1200

20 1400

0 1600

40 1800

The short-run total costs for different level of output
for afirm producing singlets are shown above.
Calculatethe variable cost per unit at an output of 20
A.N1000O B.N400 C. N 70 D. N 20

Theprice mechanism ismoreeffectivein achieving
efficient performance of the economy than the
planning mechanism because of the

Role of supply and demand

Roleof material incentive

Existence of buyersand sellers

Roleof money

Cow»

If demand isrelatively inelastic and sellersareablero
raisethe priceof their commodity, then therewill bea

A. Fall in both quantity demanded and total
revenue

B. Fall in thequantity demanded and arisein
total revenue

C fall inthe quantity demanded and arisein
marginal revenue

D. risein both the quantity demanded and the

marginal revenue

A
S
Pl 2
L
|
Pob e
|
|
I D
|
0 I I L } I >
Qo Q1 QC Qz Q3
Quantity

If in the graph above, it isassumed that the priceis
initially P1, it can be deduced that pricewill

A. Fall becausethereisasurplus

B. Remain constant becauseit isthe equilibrium
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price
C Rise because there is a shortage
D. Double
P I
A
I I
I | | AR
I MR | I
[ | | _
Q,  Q Q > Q

In the diagram above, the profit maximizing output is

A. Qlwhilel=ACandll =MC
B. Qlwhilel=MCandIl =AC
C Q2whilel=MCandll =AC
D Q3whilel=ACandll =MC

A firmwith marginal cost equal to itsmarginal revenue
will producewill producethe equilibrium output if itis
in

Pure competition only

Prue monopoly only

Monopoalistic competition only

Any type of market

onw>

Animportant function for theretailer isto

A. Grant credit tot hewholesaler

B. Break bulk and sell productsin small units

C Reduce cost of distribution

D. Generate demand for productsthrough
adverti sement

Themain handicap of sole proprietorshipis

A. Limited lighility

B. Lack of technical know-how
C Low profit margin

D. Inadequate capital

The type of business organization mostly used for
producing public goodsin Nigeriais

A. Sole proprietorships

B. Limited liability companies
C Co-operative societies

D Statutory corporations.

Themain reason for thecurrent programme of
privati zation and commercialization of public enter
prisesin Nigeriaisto

A. Reduce public expenditure

B. Encourageefficiency in the performance of
such enterprises

C Reduce the number of public enterprises

D Raise the prices of goods and services

produced by the enterprises

The types of business finance that entitles the holder
toafixedrateof dividendis

A. Preferred stock
B. Common stock
C Debenture

3L

D. Bank loan

Farmer’sincomemay fall if they produce more cash
crops for export because

Foreigndemand isindagtic

Theprice of thecropswill rise

Of domestic currency depreciation

Of export duties

onw>

Under the Nigerian structural adjustment programme,
themarketing of agricultural commoditiesin Nigeria
has been placed under

A. Themarketing boards

B. The commodity boards

C Theriver basn authorities

D Privateinvestorsand individuals

Theprimary barrier toland reform in developing
countriesisthe

Freguent opposition by the landlords
Realization that output levelsmight fall

Fear that peasantswill be cut off from credits
Genera contentment with the present
arrangement

onw>

Firms are often set up closeto each other in order to

take advantage of

A. Supply of skilled labour

B. Agglomeration economies
C Internal economiesof scale
D External economies of scale

The consumer-goodsindustry is predominant in the

industrial sector of the Nigerian economy because of

A. Availability of market and maost of theraw
materialsrequired

B. Availahility of the necessary machinery
required

C Experienceof Nigerian producers

D Relatively lower cost of production of such
goods

A significant effect of the growth of the oil sector in
Nigeriahas been to

A. Increase therate of unemployment

B. Diminish the percentage contribution of the

agricultural sector to GNP

C Slow down the pace of industrialization and
urbanization

D. Retard therate of economic growth

Because most of her crudeoil isexported, theforeign
exchange earnings and theforward linkage effects
Nigeriarealizesfrom her oil production are

Both high

Respectively high and low

Respectively low and high

Both low

onw>

Which of thefollowing isNOT directly concerned
with dealingsin treasury bills?

A. The Stock Exchange

B. TheCentral Bank
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C Commercia banks

D. Discount houses

Monetization referstotheratio of

A. Total transactionsto monetary transactions
B. Monetary assets to total assets

C Monetary transactions to total transactions
D. Moneyin circulation to total income

The begt way to reduce the supply of money in the

economy isto

A. Increasetheliquidityratio

B. Increase the number of bank notes and
cheques produced

C Decreasetreasury bills

D Liberalize accessto credit

Thetotal amount of money in circulation includes

cash

A. And current account balance owned by the
non-bank public

B. Owned by banks and the non-bank public

C And current account balances owned by
banks and the non-bank public

D. Owned by banks, the government and the
non-bank public

Toreducethehigh rate of inflation in the economy,
Government should

Increase taxes and have a budget surplus
Increase taxes and have a budget deficit
Decrease taxes and have budget deficits
Decrease taxes and have a balanced budget
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When interest are high and still rising the least-cost
method used by public limited companiesto obtain
additional fundsfor their operationsisby

A. Obtaining long-term loans from merchant
bank

B. Obtaining short-term loans from commercial
banks

C Sdling floating-rate debenture stocks to the
general public

D. Sdling new ordinary sharesto the general

The objective of publicfinanceisto promote

A. Full employment, national incomeand price
stability

B. Government revenue drive and expenditure
to as high alevel aspossible

C Theexpansion of government social-
services

D. Government revenuedrive and minimise

government expenditure

An account from which allocations are madeto the
threetiersof government in Nigeriaiscalled the

A. National IncomeAccount

B Public Sector Account

C Federation Account

D National Revenue Mobilization Account
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Usetheinformation below to answer question 41 and

Year 1 Year2
GNPat current prices(Nm) 20,000 27,000
Population (million) 20 24
What isthe percentageincreasein GNP between year
1 andyear 2?
A. 35%
B. 14.0%
C 200%
D. 35.0%

Calculatethe GNP per head of the populationin year 1
and year 2

A. NZ2000.00; N1000.00
B. N1125.0; N2000.00
C N1000.00; N2000.00
D. N1000.00; N1125.00

In national income accounting, aggregate savingin
any year is defined as

A. All disposable income not spent on con
sumption

B. All savingsdepositsin al banksduring the
year

C All savingsand time depositsin all banks
during the year

D. The value of inventory change for the year

Which of the following combination isaveritable set
of development indicators?

A. Growth of government expenditureand
imports

B. Growth of popul ation and national income

C High fertility, literacy and school enrol ment
rates

D. Lowinfant mortality and high per capita

incomeand literacy rate

If an economy grows at an annual rate of 5% of which
3% isdeemed to be due toimprovement in the
productivity of labour and capital combined, the
remaining 2% isgenerally attributed to

The size of the population

Technical progress

Theenvironment

Theamount of natural resources

Cow»

If a country has a balance of payment crisis, which of
the following measures can best bring about an
improvement in the short run?
Large-scaleimportation on foreign goods
Investmentsin capital market abroad
Large-scaleexport of locally made goods
Repayment of debt to her creditors

Cow»

Theterms of trade of a country is defined as
A. Index of import price
Index of export price x 100




B. Index of exportation
Index of importable x 100

C Index of visbleimports
Index of visibleexports x 100

D. Index of export prices
Index of import price x 100

When aforeigner on avisit to Nigeria, paysfor hotel
accommodation and meal swith some foreign cur
rency, theamount paid should berecorded in
Nigeria sbalance of payments asan item of

A. Nigeria'sinvisible export trade

B. Nigeria simport trade

C Nigerid svishbletrade

D. Foreign capita inflow intoNigeria.

TheNigerian Trust Fund is managed on behalf of

Nigeriaby the

A. World Bank

B. International Monetary Fund

C African Devel opment Bank

D Economic Commission for Africa

One of the gains by member states of the Economic
Community of West African Statesis

Monocultural dependency

Tradecrestion

Tradeinversion

Economic independency

onw>

Economics 1993

1

It isimpossible to satisfy all human wants because

A. Areasof fertileland arevery limited

B. Oceansand seaslimit land space for farming
C Resources are not equitably distributed

D. Availableresourcesarelimited

Usethe diagram below to answer question 2 and 3

1<

— N WA~ OO N
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Quantity of good y

I I I I
20 40 60 80
Quantity of good x

o

Theabove diagram showing th e maximum possible
combination of commodities X and Y produced in
Nigeriaiscaledthe

Production indicator

Maximum production

Production possibility curve

Total output curve
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How many units of goods X is produced for 8 units
of commodity Y
A.8 B.40 C.20 D. O

Themain function of the price system isto

A. Distribute resources equally among compet
ing ends

B. ensure efficient all ocation of resourcesin the
economic system

C allocate goods and services equally

D minimizechesating.

A system in which the means of productionisheldin
trust for the people by government isknown asa
A. Socialist economy

B. Capitalist economy

C Subsistence economy

D. Mixed economy

Theworking population refersto

A. A population wherethe averageageisfalling

B. Thepopulation within the*0-14"" agebracket

C The economically active segment of the
popul ation

D. The dependent popul ation

Which of thefollowing factorsis NOT responsible
for therural/urban driftin Nigeria?
Theinfrastructural facilitiesin cities
Dediningfertility of rural farm lands

Rural electrification programme

Higher living standardsin urban areas

onw>

An accurate cenaus is important to a country because

ithdps

A. In solving unemployment problem

B. To ensure equitable population redistribu
tion relativeto natural resources

C In deciding on the creation of morelocal
governments

D. In providing asound basisfor formulating

development policy

If 502.75 million tonnes of grains are consumed
annually by a population of 88.5 million people, the
per capitagrains consumption will be

A. 6.00tonnes B. 5.68tonnes  C.0.60tonnes
D. 0.57tonnes

In the theory of production and cost, the average
total cost of afirm isminimized whenthemarginal

cost curve cuts the average total cost at its.

A. Lowestpoint B. Middlepoint

C. Maximumpoint D. Downward slopping section
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A firm facesdiminishing returnswhen its
Total output diminishes
Average output diminishes
Marginal output diminishes
Marginal revenue diminishes

onw>

If labour productivity in the cement industry isas
increasing output of cement is expanded, then the
amount of labour perfect competition isthat in the
former

A. Lessthanzero B.
C Constant D.

Decreasing
Increasing

If profit maximization isassumed to be the objective of
abusiness enterprise, labour must be paid awage rate

equal to the
A. Marginal revenue of te enterprise
B. Marginal revenue product of labour in the
enterprise
C Average revenue of the enterprise
D Marginal cost of production
PriceA > S
PD
P, D,
S0 DD »
Q Q >

1
Quantity

From thediagram above, shift in the demand curve
fromD D toD,D, implies

A risein thedemand for the commodity
Fluctuation in thedemand for the commodity
A fall in thedemand for the commodity

An equilibrium in the demand for the
commodity

onw>

In the diagram above, what isthe lowest possible
price the monopolist could charge and still break even
without therebeing excess demand?

At equilibrium one of the distinctive features of
monopoly compared with perfect competition isthat
intheformer

A. Priceisawaysequal to marginal cost
B. Supply is aways equal to demand
C Priceisalwayshigher than marginal cost
D. Thereareaways many buyersand many slers
MPC
A
5
£
2 P
[
(@]
0 Income

In the diagram above, themarginal propensity to
consume (MPC) isequal to

If theequilibrium pricefoacertain commodityis

N120.00 and the government fixesitspriceat N110.00
the supply will be

A. Greater than the equilibrium supply

B. Smaller than the equilibrium supply

C The same asthe equilibrium supply

D. A determinant of the market forces of

A. RP
TP
B. TP
RP
C RT
RP
D. RT
TP
Use the table bel ow to answer questions 20 and 21
Output Total Average | Marginal
I'n Units Revenue | Revemie Revenue
In# in# in#
1 20 20 -
2 38 19 18
3 54 - 16
4 68 - -
5 80 16 -

equilibrium

If theprice dasticity of demand for a certain commod
ity islessthan unity, then

A. Anincreasein the price of the commodity
will raisethetotal revenue of the producer
B. Anincreasein priceleavesthetota revenue
unchanged
C A decreasein priceraisesthetotal revenue
of the supplier
D. A decreasein priceleavesthetota revenue
constant
Price
P,
mcC
5 O are
P D = AR
\__/) MR

Given an output of 3 units, the average revenueis
A. N16.00 B. N18.00 C. N20.00 D. N24.00

Determinethe marginal revenueif thetotal revenueis
N80.00
A. N12.00 B. N1400 C. N16.00 D. N18.00

Which of the following functions does the wholesaler
perform to save theretailer the burden of carrying
large stock?

l. Breaking the bulk

Il. Packing thegoodsin smaller

containers
. Providing vital information
V. Granting credit facilities

A. landIl B.
D. [,Iland IV

landIV C Iland Il
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Production is said to be completed when

A. Goods and services reach the consumers
B. Prices of goods or services are determined
C Goods are sold to the wholesaler

D Goods are packaged

A debenture share entitlesits holder to

A. Participatein the annual general meeting of
the company

B. Sharein thedividends declared

C Received afixed interest on sumsinvested

D Have arepresentative on the Board of Directors

A public liahility company isdifferent from private
limited company becauseit

Isregistered with the Registrar of companies
Isal legal entity

Can raise capital of any size by way of loans
Can sdll sharesinthe Stock Exchange

OO w>

A modern corporation isowned by

A Debenture holders

B. Ordinary shareholders

C Preferenceshareholders  D. Creditors
Wheat grows best in

A Tropica dlimate B.
C Equatorial climateD.

Temperateclimate
Hot desert

On the basis of the contribution to employment, the
most important economic sector in West Africais
A. Industry B. Agriculture

C Construction D. Commerce

Themost popularly adopted industrialization strategy
inWest Africais

A. Import substitution B. Export promation
C Ports devel opment
D. Infant industries protection

One of the most important factors that should be
considered in thelocation of an industry is

A. Nearnesstothefinancial centre

B. Assured patronage by government function
aries

C Availability of inputsand market

D Availahility of adeguate security

Sincethemid-1980s, the most disturbing devel opment
intheindudtrial sector in Nigeriais

A. Labour intensity B. Capitd intensty
C Poor technology
D. Capacity under-utilization

Themoney market isafinancial market that special
izesin the provision of

A. Short-term loans and advances

B. Medium-termlcans

C Long-termloans

D Venture capital for devel opment projects

Which of thefollowing programmein themonetary
sector isaimed at enhancing the banking habit of the

rural area?

A. The deregulation of the banking system
B. Theincreasein thenumber of merchant
banks

C Thecommunity banking scheme

D. Thederegulation of interest rate

The sum of N80.000 isdeposited in abank and the
cashratio of the banking system is10%. Calculate
thetotal sum of money the bank can createfrom the
deposit

A. N100.00 B. N800.00 C. N1000.000

D. N8000.000

Economic devel opment is distinguishablefrom
economic growth becausethe farmer

A. Isnot concerned with growth parameters

B. Affects only the poor people

C Alsoincludes and efficient distribution of
economic growth

D. Isan increase in the production of goods
and services

Which of the following can be considered as being
outside the objectives of public finance?

A. The allocation of resourcesto various
sectors of the economy

B. The objectives of even distribution of
incomeand wealth

C The achievement of economic stability

D The deregulation of the economy

Thejoint venturesoperating in the Nigeriaail
industry are between

The NNPC and independent markers
TheNNPC and multinationa marketers
TheNNPC and producers/marketers
Multinational corporationsand independent
marketers

onw>

Which of thefollowing arethe major disadvantages
of direct system of taxation?
I Disincentiveto hard work
Il. Difficultiesin assessment and
collection
. Imperfectionsin tax assessment

A. landIl B. landlll
C [land 11 D. [,11andlll
No Items Amount
(Nm)
1 Wages and Salaries 30
2 Profitsaand Rents 110
3 Payments to foreigners on assets
heldin Nigeria 10
4 Incomefrom foreign assets held
by Nigeriansresident abroad 2
5 Depreciation 0

Using thetable above, calcul ate the net income
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A. N58m B. N54m

C. NSOm D. N46m

According to the income approach to national income
measurement, the national income of acountryis

equal to

A. Thevalue of all output produced in the
country over the relevant period of timeat
market prices

B. The value of output at factor cost

C The value added of production

D. C+l+G

Thebest index for international comparison of
standards of living isthe

A. Grossnational product
B. Net national income

C Per capitaincome

D. Grossnational income

TheG D. P of Nigeriawill begreater than her GN.P. If

A. The value of goods and servicesto Nigeria

isgreater than the value of those from

Nigeria

Consumption isgreater than investment

Government expenditure aregreater than the

foreign aid received

D. The value of goods and services produced
by Nigerian businesses abroad is less than
that of foreign businessesin Nigeria.

Ow

B ow equilibrium, thegap between aggregatedemand and
thefull employment lev4d of incomeiscaledthe

A. Inflationarygap B. Incomegap

C Unemployment  D. Deflationary gap

Which of the following are the advantages of
Nigeria smembership of ECOWAS?

l. A greater opportunity for trade
according to comparative cost
advantage

Il. A larger market for industries
producing under conditions of

decreasing cost
. Competition for home based
monopal firms
A. [ and 1l only B. [and Il only
C [landIllonly  D. [,1landlll

Comparativeadvantage impliesthat a country will
specializein producing the commodity

47.
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Output/unemployment

With the highest opportunity cost

For which output per worker islower thanin
other countries

With the lowest opportunity cost

For which output per worker isthe samewith
those fo other countries

Devaluation is effective when

Demand for importsispriceinelastic
Demand for importsisneutral
Production for export islow
Demand for exportsispriceeastic

Cow»

What type fo unemployment is revealed by the dotted

lines on the graph above?

A. Frictional unemployment
B. Cydlical unemployment
C Circular unempl oyment
D. Underemployment

Fromwhich of thefollowing does Nigeria derivetrade
concessions?

A. I.M.FE B.
C A.D.B D.

World Bank
EEC.

Tariffson importsaremeant to

A. Prevent a country from becoming adumping
ground for foreign goods

B. Discourage exports

C Encourage exports

D Increasetheleve of external dependency

Theinternational Bank for Reconstruction and

Development isimportant to devel oping countries

because it

A. Givesloanstomember countriesfor legal
proceedings

B. Offersgrantsand aid for defence

C Offer loansto member countriesfor soci-
economicactivities

D. Offersgrantsand aid to finance luxury
project

Economics 1994
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The basic economic problems of the society include
What to produce, how and or whom

How to produce and sdll

Scarcity, when to produce and how
Scarcity, for whom to produce and where

onw>

2

Opportunity cost isan economic cost isan economic
concept which describes the

A. Monetary equivalent of theutility of acommodity
B. Amount of timeor money investedon a
commodity

C Sacrifice made for the sati sfaction of awant



Output

D. Cost of retaining an optimum leve of
production of commodities

If themarginal propensity to consumeis0.80 and the
investment expenditure changesfrom N100 millionto
N140 million in agiven economy, find thelevel of
equilibrium in te given economy, using theformula
1
K= 1-MPC

(K =Multiplier; MPC = Marginal Propensity to
Consume)

A. N20million B. N4Omillion C. N80million
D. N200million

Thecircular flow of income definesthe

A. Relationship between ends and meansin the
economic system

B. Allocation of incometo various members of
the household

C Flow of goods, serves and money among the
various - macro-sectors of the economy

D. Micro-economicrelationship in economic
analysis

The necessity of choice is due to the fact that

A. Human wants areinsatiable

B. Consumer liketo maximizesati sfaction
C Resources are abundant

D. Consumer are selective

The graph above represents a production function. At
which of the points does diminishing returns set in?

A K

>

Variable Factor

Al B.J C. K DL

In amixed economy, decisionsto produce aretaken
by

A. Men and women acting in their own best
interest

B. The government acting in theinterest of the
country

C Themarket women, thelabour unionsand
the employers association

D. Privateindividual s, organization and the
government

Every economy requires an accurate census because
it assistsin

A. Solvinginflation problem

B. Proving asound framework for policy
formulation

C Stimulating economic activitiesin the

national economy
D. Solving unemployment problem

10.

14.

16.

The population fo country X in 1990 was 35 million.
Thebirthswere450,000 whileit recorded 210,00
deaths. If in the same year, itsimmigrantswere 20,000
and 10,000 of itscitizensleft the country, calculatethe
total population of the country at the end of 1990.

A. 24,25000 B. 25,350.00

C 34,750.00 D. 3525000

If the actual population in acountry islessthan the
optimum popul ation, then

A. Itisdesirableto havealarge population

B. It is necessary to have an improved technol
ogy to sustain the population

C It isdesirableto have smaller population

D The available resources are inadequate to

sustain the population

Unemployment can be reduced by

A. Restricting the productive base of the
economy

B. Adopting capital - intensive techniques of
production

C Adopting amixture of labour and capital
intensive techniques of production

D. Adopting amixtureof labour and capital-
intensive techniques of production

=

Capitd goods
z

>

Consumer goods

Production possibility curve of country X

If the economy of the country is operating X, the
implicationisthat

Theproductive capecity isbang fully utilized
Theproductive cgpadty isnot being fully utilized
Too little of consumer goads is being produced
Thereisadisequilibrium between the
production of capital and consumer goods

onw>

When theTatal Product (TP) isat maximum point, the
Marginal Product (MP) and theAverage Product (AP)
respectively are

A. Zeroanddecreasing B. Decreasing and zero
C. Negativeand decreasing D. Both at their maximum

Inthelongrun, all production factorsare
A. Fixed B.Semi-fixed C.Variable D. Semi-variable

A company’sexpenditureon raw materid sisregarded as
A. Explicit cost B. Implicit cost
C Prime cost D. Average cost

The basic relationship between the cost of production
and the market
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Always reflects the cost of labour

Reflectsthe variable, but not the fixed cost f

production

C Does not rise above variable costs

D I's determined by the cost of production and
thecurrent rate of inflation

A firm determinesits profitswhen it studiesits

A. Marginal Cost B. Average Cost

C

D.

™ >

Total Cost
Average Codt relativeto pricein the market

Anincreasein the supply of labour in afactory while
other thingsremain equal will lead to

A. Anincreasein thewage rate and an increase
in the number of people employed

B. A decreasein the wage rate and a decrease
in employment

C Anincreasein thewagerate and decreasein
employment

D. A decreasein thewagerateand an increase
in employment

A demand which ispostively rdated to priceistrue of
A. Normal goods  B. Giffen goods
C Ostentatiousgoods D. Capital goods

Usethetable below to answer 20 and 21

PriceinN Quantity demanded Quantity
10 20 40

20 150 330

0 20 20

40 330 150

50 450 50

What isthe equilibrium quantity?
A.50 B. 250 C. 350 D. 450

Abovetheequilibrium paint, afurther risein pricetends to
A. Increase demand and restrict supply

B. Restrict demand and restrict supply

C Increase demand and decrease supply

D Decrease demand and increase supply

Price(®) Quantity Sold
5 5

5 16
5
5

17
18

Fromthetableabove, marginal revenueis
A. N5
B. N6
C. N8
D. N10

Elagticity of demand is an effectivetool in the hands
of aproducer in that it enableshim

A. Raise his profits and lowers his cost
B. Discourage buyersfrom cheating
C Determinewhat hewill produce

24,
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D.

Set hispricetomaximize hisprofit

Crossedagticity of demand can be mathematically
expressed as the
A. Percentage change in quantity of commodityX
Percentage change in quantity of commodity Y
B. Percentage changein quantity demanded
percentage changein price
C Percentage changein quantity demanded of
commodity X
Percentage changein price of commodity Y
D. Percentage changein quantity demanded
Percentage changein income

The basicidea behind brand differentiation under an
imperfect market arrangement isto

Stimul ate demand for rival product
Createdemand for the particular product
Enablethe product to penetrate the market
Enabl e the product to compete with others

Cow»

Inthelong run, afirmin aperfectly competitive
market will make

A. Normal profit B. Abnormal profit
C Marginal profit  D. No profit

Output regtriction, fixing of prices, creating obstacles,
tofreeentry into the market are features of

Pure monopoly

Perfect competition

Monopalistic competition

Monopsonist competition

Cow»

A major shortcoming of the sole proprietorshipform
of businessislack of

A. Working capital B. Patronage
C Continuity D. Market

Intheevent of liquidation of aprivatelimitedlighility
company, t hesharehdder’sliabilityislimited tothar total.

A. Incomefrom all source

B. Family assets

C Collateral offered for bank loans
D. Investmentsin the company

Themajor factor that causesfluctuationsin the
supply of agricultural produceis

A. High price B. Pests

C Weather variations D. Rural-urban migration

The system of agricultural practicewhich involves
hunting, gathering and growing of food crops for
family consumption only is described as

A. Peasant agriculture B.Plantation agriculture
C Co-operativefarming
D. Subsistencefarming

What isthe term used to describe a policy aimed at
promoting thelocal production of goodswhich are
usually imported?

A. Deregulation B. Import substitution
C Tariff reduction D. Backward integration



33 Labour-intensivestrategy foindustrialization
emphasi zes the use of
A. Stem B. Manua method of production
C.  Syntheticraw materials D.Hydro-electric power
A Petroleum isthe mainstay of the Nigerian economy
because it is the
A. Main foreign exchangeearner
B. Greatest employer tolabour
C Gregter contributorstothegrowth of agriculture
D. Source of high incomefor itsworkers
5. An indigenous company wholly owned by the federal
government of Niger which currently engagesin
prospecting for ail is
A. TheNigerian National Oil Company
B. Peak Petroleum IndustriesNigeriaLimited
C NigeriaExploration and Production Company
D TheNigeriaNational Petroleum Corporation
L. An increase both the legal reserveratio and discount
rate has the effect of
A. Increasing the quantity of money in circula
tion
B. Decreasing the quantity of money in
circulation
C Increasing the value of money
D Decreasing the value of money
37. Inflation in theNigeriaeconomy bay befueled by increasein
A. Theddllar price of crudeoil
B. The sale of company share
C Government expenditure
D. Sale of government bond
3B Gresham’slaw in economic showsthat
A. Good money drives out bad money
B. Bad money drivers out good money
C The value of money variesinversaly with the
pricelevel
D. Gold must beavailabletomaintain thevalue
of paper money
0. Monetary policy aimed at reducing demand-pull
inflation in the country may be carried out through
A. Increasein taxation of private companies,
public corporation and privateindividuals
B. Increasein cash reserveratio of commercial
banks and the sales of government securities
C Decreasein government expenditure on
education
D. Direct price control in the market place
40. Progressive tax structure is designed to
A. Takemore from theincome of the poor
B. Takemorefrom theincomeof therich
C Takeequal proportion of income from both
therich and the poor
D. Reducetheproblemsemanating from tax
impasiton
41 Taxesand government expendituresareingrumentsof

A. Monetary policy B. Tax policy

47.

C Economy policy D. Fiscal policy
Thenational income of acountry indicates that the
gross national incomewasN17 700 million and gross
domestic product wasN16 800 million. Thedifference
of N90O0 million represents

A. Debt repayments B. investmentsabroad
C. netincomefrom abroad D. capital consumption

If national income rises by 6% and population rises
by 3%, per capital incomewill
A. Rise by 6 percent B.
C Fall by 6 percent D.

Fall by 3 percent
Rise by 3 percent

One of the ways by which the government can speed
up economic devel opment is through the

A. Increasein consumption pattern of the people

B. Encouragement of savings, investment and
equitable distribution of goods and services

C Increase in the rate of popul ation growth so
asto ensure that the country has alarge
labour force

D. Encourage of importation of raw materialsto

produce consumers goods

A sustained increase in the production of goods and
servicesin acountry iscalled economic

A. Development B. Growth C. Diverdfication

D. Planning

Oneof the techniquesfor rectifying a deficit balance
of payment is

A. Import promotion B. Devaluation

C. Physical intervention D. Borrowing from abroad

Themain objective of the Economic Community of
West African Stateisto

A. Establish aWest African Devel opment Bank

B. CreateaWest African army

C Introduce a common currency for the sub-
region

D. Promote the free movement of persons,

goods and services within the sub-region

Ininternational trade, shipping and other freight
charges aretreated as
A. Invisbleitems

C. Capital transactions
D. Autonomous capital transactions

B. Unilateral transfers

A situation in which acommodity issold abroad
bel ow its cost fo production in the home country is
knownis

A. Dumping B. Countertrade C. Bilateral trade
D. Tradeliberalization

The borrowing rights of amember country of the
international Monetary Fund are determined by

A. The seriousness of the country’s economic
problems

B. Its balance of payments position

C Its quota to the Fund

D. Thesizeof itsgold reserve
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The ultimate objective of economicsisto

A. make effort to understand how the economy
works

make the best use of scarce resources
organize production at the lowest cost
decide under what circumstances in the
economy

onw
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Inthecircular flow of income above, the direction of
flow of payments for consumption purchasesis
shown by the arrow

A.K B.L CM D.N

A student in Obu’ pu Secondary School discover that
he simultaneously needs a biro, an exercise book, an
eraser and aruler, but that he can purchase only one
of theseitems. What isthefirst thing heis expected
to do?

Check how much money he has

Find out which isthe cheapest of theitems
Draw up ascale of preference

Weigh the opportunity cost of each item
against the others.

onw>

What to produce in any society is determined by the

A. expenditure of the people on different
commodities

B. competition among the different producers

C competition among the difference consum
es

D. supply and demand in thefactor markets

The activeintervention of the central authoritiesin
the management of a country’s economy rests upon
the

A. failure of the market forcesto produce
satisfactory

B. superiority of the centrally planned economy
over/the private enterprise economy

C result-oriented nature of the private
enterprise economy

D. cost-minimization strategy of amixed
economy

The problems of conducting census include

A. high rateof rural-urban migration

B. poor geographical distribution of population
C high birth ratein the country

D. poor town planning in urban areas

7

10.

12

14.

An ageing population is a population

A. with ahigh dependency ratio

B. with many young people

C in which the number of old personiis
increasing

D. that is dominated by very old people

Thepopulation of OhahaL.GA. Was480000in
December 1980 out of which 60% werefemales. If
within one years no birthswere recorded ,but 5% of
themalesdied, what will bethe popul ation of the
L.GA. In December 1981?

A. 96000 B. 192000 C. 288000 D. 470400

What is meant by labour supply?

A. Number of peopleinworking population

B. Number of men and hour they work

C Number of hoursduring which themiddle
aged persons works

D. Number of work force multiplied by the
hours they work

Theadvantage which firmsobtain directly from
expanding their operationsarereferred to as
Internal economiesof scale

External economicsof scale
Economiesof localization
Economies of resourceallocation

Cow»

The factor of production that hasthe highest degree
of mobilityis
A. land B. labour C. capital D.entrepreneurship

Any payment to afactor of production in excess of
what is necessary to keep that factor in its present
employment isknown as

A. real income B. profit

C economicrent  D. real wage

Noof workers | Total Output (Units)

24
46
60
84
95
110
115

NOoO b~ wWNBRE

In the table above, the marginal product of the 2nd
worker and the average product of the 5th worker
respectively are

A.23and20 B. 22and19 C.14and19 D.11and 20

Giventhat TC=TFC+TVCandTR=ARX Q prdfitis
equal to
A. (AR+ Q)-TFC
B. (TFC+TVCQ)
Q
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C  (ARXQ)-TC
D. (TCXQ
AR

The opportunity cost of the use of productive
resources which a producer owns and so does not
pay for, constitutes

A. afixed cost B.
C avariablecost D.

animplicit cost
aprime cost

The effect of changes in the condition of demand on a
demand schedule with the price constant isa

A. movement along the demand curve

B. deflation of the demand curve 24,
C hyperbola formation by the demand curve

D shift of the demand curve

Which of the following statementsis TRUE of the

effect of changesin demand and supply on price? 5.
A. Adecreasein supply will leadtoafall in
priceandafall in the quantity bought an
sold
B. Anincreasein demandwill leed toafall in
price and in the quantity bought an soled
C A decreaseindemandwill leadtoa risein
price and in the quantity bought an sold
D. Anincreasein supplywill lead toafall in
priceand arisein thequantity bought and
sold
2.

In afree market economy, availableresourcesaremore
efficiently all ocated by completerelianceon

A.  development planning B. strategic planning
C. capital budgeting D. pricesystem

In order to maximize hisprofit, abus nessman who
faces a very clastic demand for his productsis
advised to

A. dightly increase the price of his products

B. dlightly reduce the price of his products 27.
C leave his prices unchanged

D discriminatehisprices

What istheeagticity of demand for commodity X, if
at a price of N25 the quantity demanded is80 and
when the priceisreduced to N20 the quantity

demanded is 100? 28,

A.125 B. 145 C 025 D. 0.15

If y representsthe income earned by workersin a
factory, find therange of their income which satisfies
thefollowing inequality 4y-300>500

A.y>300 B. Y>250 C. y>200 D. Y >150

Both in theshort run and in thelong run, afirm
maximizesitsprofitswhen

A. MC=MR
D. MC=AVC

B. AC=MC C. AV/C=AC 2,

AC

MC

Q Q Q Qty
A. OQMP, B. PMTP, C. OQTP,
D. 0QSP,

Stocking small quantities of avariety of goodsisa
function of the

A. manufacturer B.
C retaler D.

wholesaler
consumer

In ajoint stock company, preference shareholder are
those who receive

A. high dividends when profitsare high and
little or nothing when profitsarelow

B. afixedrate of dividend and havethefirst
claim on thenet profits of the company

C theremaining profitsafter all other share
holders have been paid

D. dividends quarterly when othersreceive
annually

Themajor reason for the survival of small shops
despite competition from large business enterprisesis
because of

A. thesmall capital outlay involved

B. regularity and constant supply of commodi
ties

C their local servicesand longer hours of
operation

D. they take prompt decisions and actions

One of themajor advantages of public enterprisesit
that

they are highly subsidized

they are the largest employers of labour
their operationsare highly standardized
they take prompt decisions and actions

onw>

When public enterprises becomecommercialized it
meansthat

A. the product of the enterprises are further
subsidized

B. they are expected to operate with the

primary aim of making prafits

C the government has decided to divest itself
of such enterprises

D. th e staff of the enterpriseswill belaid off

Which of th efollowing statementsare TRUE of
agriculturein Nigeria?
I it providesfood for the growing
popul ation
I alarge proportion of the popula
tionisengaged in
11 agricultural products are used as
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A.
C [,I1and 1V only D.

raw materialsby thelocal industries
| it serves as a sources of heavy
equipment tolocal industries
landll only B. [,11and 11 only
[1and I11 only

In recenttimes, agriculturein Nigeriatendstoloseits
vital labour forceasaresult of

A. lack of an effectiveagricultural policy

B. employment opportunitiesin the oil sector

C rural-urban drift

D. low pricesof agricultural product

Thegovernment can influencetheprice of agriculture

products by

A. fixing minimum priceswhen agricultural
output is low

B. fixing maximum pricesin years of bumper
harvests

C the use of buffer stocks an stabilization
funds

D. paying all farmers producing identical crops

auniform amount of money

Thecrucial factorswhich determinethelocation of
petroleum refineriesin Nigeriaareavailability of raw
materialsand

A. capital B. political consderation

C nearnessto source of power D. labour

Infant industries denote industries which

A. are introducing new products

B. are too young to compete in the world
market

C produce baby food and mothercare products

D areallowed time enough to maturefor
recognition

When comparewith alabour-intensiveindustry, a
capital-intensiveindustry employersmore

A. workersthan capital

B. workersthan machinery
C raw material than capital
D. machinery than workers

Themajor source of Nigeria sforeign exchangeisthe

export of
A. skilled manpower B. palm-kerne and cocoa
C crudeoil D. groundnuts and cotton

Themost important goal of OPEC isto

A. present a united front for the purpose of
raising pricesof crudeoil

B. bring unity among the petroleum exporting
states

C ensurepalitical stability among member
states

D. ensure that rules on quota production are
gtrictly followed

TheCentra Bank’sexpansionary monetary policy is
justified at aperiod
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A.

when theinflation rateishigh and the

economy isexperience aboom

B.

C

D.

Price (p)

of economic depression accompanied by low
capacity utilization

when trade unionsare clamouring for higher
wages

when the price of crude petroleum isrising

The sharp increases in the prices of most goods and
servicesduring thelast quarter of 1994in Nigeriawere
mainly dueto
A. ban on importation of foreign good
B. population upsurge
C theintroduction val ue-added tax
D increase in transport costs
Thebest method to curb inflation in Nigeriaisto
A. reduceimportant of commodities
B. increasethe general level of production
C reduce the volume of money supply
D. set up price control boards
A bank is said to be distressed when it
A. isunabletodeal with the Central Bank
B. has alow capital base
C has low level of deposits
D. experiencesseriousliquidity crisis
Onemethod through which the Central Bank can
restrict the commercial banks power of credit
expansion isto
A. demand for increase special deposits
B. decrease the cash ratio
C buy securitiesin the open market
D. reduce the rate of interests at which banks
borrow fromiit
Which of the following is cheapest for the govern
ment in improving thewelfare of itscitizens?
A. subsidy B. income supplement
C donation to specific projects
D. wage increase
Which of thefollowing is mostly used to determine
the cost of living?
A. marginal changesin prices
B. consumer priceindex
C pricesof imported and exported commodities
D. producer priceindex
Usethe diagram bel ow to answer questions 44 and 45.
Thediagram explainstheeffect of government’s
imposition of an indirect tax on agood characterized
by zero price dasticity of demand
D S
P, E S

P, D H/

>
Quantity (Q)
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Thetotal tax revenue isrepresented by
A. PEHP, B. P HQPO
C PEQO D. PEDP,

Thetax imposed isborne

totally by the consumer

totally by the producer

equally by bath the consumer and the producer
by the government

onw>

Ajanka, amedical student entitledto an annual
allowance of N6 000, decidestoleavethe university
totake up ajob whereheearnsN7 000 per annum. By
thissingular act, thenational incomelevel will.

A. increaseby N1000 B. decreaseby N7 000
C. increaseby N7000 D. increaseby N13000

An increasing popul ation might be of economic
benefit to a country if

A. thefemal e popul ation is greater than the
mal e popul ation

B. the dependency ratioisincreasing asthe a
continuoudly total population

C acontinuoudly higher proportion fallsinto
the working class category

D. therural and urban proportionsare bal
anced

The demands made on each other by the agricultural
and industrial sectors asthe economy grows are
reflectedin

A. backward and forward linkages

B. horizontal and vertical linkages

C vertical linkages

D functional linkages

Foreign exchangeratein afree market economy is
determined by

A. The government B. TheCentra Bank
C Demand and supply D. Commercia banks

Theprimary objective of all international economic
organizationsisto

A. ensure that third world countries get a better
share of theworlds’ resources

B. promoteinternational economic co-operation
for the mutual benefit of all members

C enforce structural adjustment programmes
on less developed countries

D. encourage exports from the devel oped to the

less developed countries
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With agiven level of money income, aconsumer
maximizes satisfaction from the consumption of goods
and services when he

A. total utility derived from each good or
serviceisincreasing at an increasing rate

B. marginal utility derived from each good or
serviceisincreasing at the samerate

C marginal utility derived per nairaspent isthe
same for all the goods and services

D. total utility derived from all thegoods and

servicesislarge.

Ike'sscale of preferencerevealsthat he prefers
bananas to pawpaw, pawpaw to oranges and oranges
to bananas. 1ke's preferences aretherefore

A. incons stent B. consistent

C trangitive D. rational

One of the features of afree market economy isthat
resourcesaredirected by the pricemechaniam
workers do not earn equal wages

the profit motiveis severely constrained
decision on the economy are taken by
bureaucratic structures

onw>

One of the fundamental differences between a

capitalist and asocialist economy isthat while

A. theformer is characterized by complete
government ownership of resources, the

latter ischaracterized by completeprivate
ownership.

B. intheformer, pricesact assignalsin the
allocation of resources, it isthe central
authority that performsthisfunction in the

latter

C taxesarelevied in acapitalist economy there
isnot taxation in asocialist economy

D. incomeand wealth areequally distributed in

the socialist economy, thisisnot soin a
capitalist economy

Giventhat at the beginning of 1973, Nigeriawitha
population of 75 million had abirth rate of 3% per
annum. Thisimpliesthat in that year.

A. thepopulation increased by 2.25 million

B. therewere2.25 million livehirths

C the government had to make provisions for
2.25million children

D. 2.25million children wereborn.

When a country’s popul ation is experiencing increas
ing returns, that country issaid to be

A. overpopulated B. economically poor
C over producing goods and services
D. underpopulated

In acountry, if the proportion of peoplewho are
bel ow 15 yearsis 45% and those above 60 yearsis
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n

12

30%,thisimpliesthat the

Dependency ratiois high

Population isoptimum

Activepopulation islarge

Population is growing according to Malthus
theory

onw>

One of the objectives of Nigeria's current population

policy isto

A. reducethebirth rate

B. reducethe emigration rate
C increasethebirth rate

D. enhance longevity

Labour productivity istheratio of

A. Labour to output  B.Man-hours to output
C Output to man-hours
D. Average products to man-hours

Thetype of cost which hasto be covered for afirm to
continue production in the short-run isthe

A. Overhead cost B. Fixed cost

C Marginal cost D. Averagevariablecost

Usethe diagram bel ow to answer question 11 and 12

Consumer
goods

Capital goods

The current stage of the economy is depicted in curvel

Point P suggests that the economy is

A. reaching full employment but not full
production

B. attaining full production but not full
employment

C under capitalized

D. attaining both full employment and full
production

The movement of curvel to Il suggest

A. an improvement capital goods technology
but not in consumer goods technol ogy

B. amovement from unemployment tofull
employment

C that the output for the society has declined

D. again in consumer goods technique and not

in capital goods technique

13, Graph A
costs v

14,

16.

17.

Quantity of
output per period

In the diagram above, the curve which representsthe
firm’sshort-run average variable cost iscurve

A. I B.1I Clll D.IVvV
A good issaid to beinferior if itsdemand
A. risesasincomerises
B. fallsasincomerises
C risesasitspricefalls
D isperfectly inelastic

Given amarket demand curveQ =120-2panda
supply curve Q =4 p, theequilibrium priceand
quantity respectively are

A.20and80 B. 30and120 C. 40and60
D. 60and 240

If ademand curvethat intersectsa perfectly inelastic
supply curve shiftsrightward, then

A. the equilibrium price and quantity will
increase

B. only thepricewill increase

C only the quantity will increase

D thepricewill remain constant

Thedadticity of demand for afirm’sproduct 2. If the
firm reducesits pricesits price by 20 per cent, itssales
revenuewill increase by

A. 10percent B. 20 percent

C. 30percent D. 40 percent

If the percentage changein theincome of the
consumers of an industrial product islessthan the
resulting percentage change in the quantity de
manded of the product, then the income el asticity of
demand for the product is

A. leesthanone B. equal toone

C. greater than one D. egual tozero

A market wheretherearemany differentiated products
iscalled

A. monopoly B. perfect competition

C monopoligtic competition  D. oligopoly
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From thediagram above, the quantity of
output is determined by the point
A.M B.N CH DF

The best channd of distribution of baked bread is
through

wholesalersto retailersthen to consumers
direct sales to consumers

wholesalers to consumers

retailersto consumers

onw>

A form of business organization which ischaracter
ized by limited authority and liability of theindividual
ownersisthe

A. soleproprietorship  B. partnership
C joint stock company
D. co-operative society

The sharesthat must be redeemed first at liquidation
of acompany are

A. preference shares

B. non-voting ordinary shares
C ordinary shares

D. debentures

The suggestion that peasantsin Africa have back
ward-bending supply curves of output implies that
their responseto an increasein the price of their
cropswill beto

A. increase their output

B. decrease their output

C keep their output constant
D. hoard their output

Themost important requirement for increasing
agricultural output in Nigeriais

A. for agovernment to gointo largescale
farming

B. to employ relevant foreign technol ogy and
reform the land tenure system

C toincreasefarmer’sincomesand improve
thefarming techniques

D. to employ more extension workers

What isthe effect of indlastic demand for agricultural
products on theincome of afarmer?
A. apriceriseresultsinitsfall
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B. apricefal resultsin itsfall
C apricefall resultsinitsrise
D. apriceriseleaves theincome unchanged

Pywood indudtries are often located near the source of
A. finance B. [abour
C power D. raw materias

A firmissaidto have benefited from external econom
icsin productionif it hasrealized

A. amoreefficient management of resources

B. abetter combination of factors of produc
tion

C reduced resource costs due to operations of
other firms

D. ahigher profitslevel duetoincrease sales

One of the dangers of thelocalization of industries

A. residual unemployment
B. mass unempl oyment

C structura unemployment
D cyclical unemployment

A glutin theworld market for crude oil means

A. afall in crudeoil production

B. an excess supply of crude petroleum

C ahigher crudeoil price offered by the buyer

D ahigher crude il price demanded by the
sler

Themain problem of the Organization of Petroleum
Exporting Countriesishow to

prevent membersfrom violating their quota
enhance the quality of petroleum products
compete with he North Sea Producers
ensure viable crude reserves

onw>

Themost important attribute of money is
A. homogeneity B. relativescarcity
C divisibility D. genera acceptability

Which of thefollowing isinflationary?
anincreasein taxation

an increase in savings

a decrease in money supply

an increasein government expenditure

onw>

In commercial banking, an account from which the
customer cannot withdraw money instantly is

A. demand deposit account

B. tme deposit account

C special deposit account

D. savings deposit account

Banks can create more money by

A. increasing its cash ratio with the Central
Bank

B. issuing more bank cheques

C accepting more deposits from customers

D lending out money from customers deposits

Stocks and shares as well as bonds are exampl es of
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instruments used in the
A. commodity markets B.  money markets
C capital markets D. security markets

Theuse of legally permissible meansto reduce tax
liahilitiesisknown astax

A. evasion B. avoidance

C rdief  D. exemption

The greatest proportion of government revenuein
Nigeriacomesfrom

export of raw materials

income taxes on individuals and businesses
customs duties and excise taxes

loans and grants from industrially advanced
countries

onw>

Oneof thefactorswhich islikely to check the growth
of public debtsis

A. bridging the resources gap
B. debt repudiation
C debt rescheduling

C debt-equity swap

If themarginal propensity to consumeis0.75 and
privateinvestment increases by N10 billion while
government expenditure decreaseby N15 billion, GDP
will decrease by

A. N212billion B. N15billion C.N20hillion

D. N25hillion

Given: Investment = N100million
Consumption = N200m+0.75Y
Y = C+l

Where, Y =Income, C=Consumptionand | =
Investment

What istheincomelevel tothe nearest million?
A. N100million C. N1000 million
B. N300million D. N1 200million

The total money values of all goods and services
produced in a country during acertain period is
measured by using the

A. Incomemethod C. Output method

B. Expendituremethod D. Factor method

Privatization of government-owned companiesmeans  the

A. relinquishing of government’sequity
participation to privateindividuals

B. recapitalization of distressed government -
owned companies

C joint participation of government and private
individuals

D. commercialization and deregul ation of the

economy

Themajor determinant of thetotal volume of output in
an economy isthe

A. level of wholesale prices

B. dize of thelabour force

C level of total expenditure

D. composition of consumer spending

Themost important factor in ensuring economic
development isthe

A. effective mobilization of domestic savings

B. presence of foreign capital

C formulation of appropriate government
policies

D. attraction of foreign aids and grants

Which of the following classes of goods accounts for
thelargest proportion of Nigeria simports?

food and animal products

consumer goods

chemicals

machinery and transport equipment

Cow»

Counter trading isan international arrangement whereby

A. goods and services are exchanged in a
manner similar tobarter

B. goods and services are sold on the counter

C crude ail issold to aforeign country

D goods are shipped to countries on which the
United Nations has placed atrade embargo

In recent years, Nigeria's balance of payments has
continued to register a deficit dueto
l. Increased government overseas
spending
Il. Increasing pricesof exports
. Rising import prices

V. More payments to overseas
investors
A. [,11andlll B. [,Iland IV
C [, and IV D. I, 1 and 1V

The organization which provide creditsto help
countries achieve short-term balancein their balance
of paymentsisthe

A. economic Community foWest African State

B. international Monetary Fund

C international Bank for Reconstruction and
development

D. african Development Bank

Animportant feature of acartel isthat

A. members do no reduce price below the cartel
price

B. each member has afixed output above which
it isnot expected to produce

C apowerful member fixesthepriceat which
atherswill sl

D. membersfix thepricesfor their products
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In the diagram above, full employmentsisindicated by

Units of consumption marginal utility
of commodity X (units)

1 100

2 80

3 50

4 20

From thetable above, thetotal utility for theindi
vidual who consumea 3 unitsfo commodity X is
A. 50 units C. 230units

B. 150 units D. 250 units

Oneof economic problemsaf Nigeriatoday arisesfrom

A. Theoverutilization of human an natural
resources

B. Inavailability of mineral resources

C Inadequate manpower resources

D Theunderutilization of human and natural
resources

In certain circumstances, acentrally planned economy

adopts the rationing system because of

A. The scarcity of goos and servicesin the
market

B. Low real and money wages

C The need for equitable distribution of goods

and service
D. Transportation and distribution problems
Given that
B =Births X =Emigrants
D = Deaths M = Immigrants

The population of acountry over aperiod of timewill
riseif

A. A=Dand X>m
C D-B=Oandm=x

B. B-D=0Oand M >X
D. X>MandD>B

Usethetable belowtoanswer question 6and 7

.Population Statistics of a Country

Agerangein %% of population
years 1960 1990
60 and above 5 3
18-59 40 ivg
1-17 5 20

10.

The dependency ratio between 1960 and 1990is
A. Increased by 5% B. Increased by 2%
C. Decreasedby 2% D. Decreased by 5%

In 1990, the difference between the dependent
popul ation and the active population ration is
A. 22% B. 20% C. 16% D. 4%

Theshort-run period in produceisdefined asa period when

A. thereisat least onefixed factor

B. all costs of production must be covered
C the output cannot be varied

D current output is not profitable

Specidization often improves economic performance
because it

Permitsexploitation of economiesof scale
Incorporates external economies

Is based on the law of variable proportions
Allocate resources according to absolute
advantage

onw>

Which of the following statements best describes the
rel ationship between average product and marginal
product?

A. Marginal product and average product
curvesrise and fall together

B. Marginal product equals average product at
the minimum point of thelatter

C Average product curvewill riseaslong as
margina product is greater than average
product

D. Marginal product equals average product at
themaximum point of theformer

Total output Fixed cost Variable cost

(Units) # #

100 100 100

120 100 110

160 100 120

20 100 140

240 100 160

The averagetotal cost when output is 200 unitsin the
table above is
A. N1.00 B. N1.20 C. N1.40 D. N240

When afirm isreaping economiesof large-scale
production, it experiencesafal inits

Long-run marginal cost

Long-run average cost

Long-run total cost

Short-run marginal cost

onw>
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In thediagram above, theprice P2 in price control
Situation, isreferred to as

A. Minimumprice B. Mark -up price
C Maximumprice D. Mark-down price
P
P
D
Q Q

The shaded trianglein thediagram aboveisknown as

A. Excesssupply B.  Consumer surplus

C Excessconsumption D. Producer surplus
1

Do

0 Q. Q,Q, O, Quantity

Inthediagram above, DODO isthe original demand
curve, SOSOistheoriginal supply curve, D1D1isthe
new demand curve S1S1 isthe isthe new supply
curve. What isthe new equilibrium quantity?

A.Ql B.Q2 C. Q3 D. (4

If anincreasein the price of acommodity leadsto
increasein total revenue, then it meansthat the
demand for thiscommodity is

A. Normal B. Elagtic C.Inelastic D. Abnormal

Given that the el asticity of demand for acommodity is
2.5, the percentage changein the quantity demanded
asaresult of a10 percent changeinitspricesis

A. 0.25 B. 0.40. C. 400 D. 25.00

Theproducer in aperfectly competitive market isface
with a demand curve whose elasticity is

A. Unitary B. Greaterthanone C. Infinite

D. Lessthanone

24,
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Inthediagram above, prafitismaximized at theoutput level
A. ON C.OL
B. oK D. OF
Unliketheretailer, the wholesale provides
A. Useful information to the manufacturer about
consume's taste
B. After sales service to the consumer
C Useful information to the customers on the
benefits and uses of the product
D. Useful information about market trends and

Financeto the manufacturer

Liquidetion of alimitedliability companyimpliesthat the

A. Company may not pay its debt

B. Debts of the company can only be paid from
its own assets

C Debts of the company are paid from both
business and private funds of the owners

D. Debts of the company must be paid from

public funds only

Oneform of business organization which is not
motivated solely by the profit objective isthe
Joint stock company

Privatelimited company

co-operative society

Ordinary partnership

oow>

Which of the following can have their shares quoted
on the stock exchange?

Public corporations

A partnership

A consumer co-operative

A publiclimited liability company

Cow»

The sector that employs the largest proportion of the
activelabour forcein Nigeria

A. Oil sector  B. Federal civil service

C Financia sector D. Agricultural sector

An entirely domestic effort directed at improving
agricultural productionin Nigeriaisthe
Agricultural Deve opment Programme
Agro-industrial Devel opment Scheme
Food and Agricultural Organization
National Land Devel opment Authority

Cow»

A factor that influencesthelocation of afirm near its
market isthe

Transportation of bulky raw materials
External economies

High cost of transporting finished goods
Avail ability of skilled manpower

Cow»



3L

In many devel oping countries, infrastructural problem
is acute due tot he shortage of

Industriesand industrial equipment

Savings, investment and consumption
Natural resourcesfor devel opment
Supporting services that encourage eco
nomicactivities

onw>

Export-promoation policy isprimarily concerned with the

A. Processing of raw materialstoincreasetheir
value

B. Making of international routessafefor
export commodities

C Reduction in thenumber of imported items

D. Encouragement of the production of export
commodities

Thepetroleumindustry in Nigeriais

The sole source of the nation’s revenue
The oldest industry in the country

The mainstay of the economy

A factor inthedeclinein the nation’sforeign
reserves

onw>

Crudepetroleum isagood exampleof a
A. Lasting asset B. Wasting asset
C Syntheticproduct D.  Costless resource

One of the techniques of monetary control used by
the Central Bank of Nigeriais

A. Selective credit control

B. Budget deficit

C Foreign exchange control

C Monitoring the general ricelevel

Which of thefallowing istrue about thevaue of money?

A. It variesinversaly with the pricelevel
B. It variesdirectly with thepricelevel

C It depreciatesin the period of deflation
D. It isnot affected by the price level

If thereserverequirement for commercial bankingin
Nigeriawere 30%, acommercial bank which receives
aninitial cash depodt of N3000isinapasition tolend out
A. N9000 B. N3330 C. N2770 D. N2100

An issue of bank-notes not backed by gold but by
government securitiesis known as

A. Fiduciaryissue B. Guaranteed money
C Seigniorage D. Legal tender

A riseinthemarket price of fixed interest securitiesis
anindication that the

A. Supply of money has decreased

B. Liquidity preference hasincreased

C Market rate of interest hasrisen

D Market rate of interest hasfallen

Anincreasein government expenditurewill lead to

A. Investment opportunities for foreign
investors

B. Anincreasein thelevel of aggregate demand

C Anincreaseintotal tax revenue
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D. Reduction in total tax revenue

When an indirect tax islevied on the producer of a
good, the burden on the consumer will depend largely
on the

A. Eladticity of demand for the good

B. Proportion of the consumer’sincome spent
on the goods

C. Eladticity of demand and supply of thecommodity

D. Availahility of substitutes for the commodity

If agovernment wantstoreducethelevd of inflation, it will
Run a budget surplus

Run a budget deficit

Run a balance budget

Borrow more money

onw>

Inacountry’snational incomeincreased from N1000
billion to N1100 billion over a period of 2 years, what
wasthe average annual rate of growth of national
income over the period?

A.5% B.15% C.20% D. 100%

A fal inthemarginal propensity to savewill lead to
A decreasein national income
Anincreasein national income

No changein national income
Anincreasein disposableincome

onw>

Which of thefollowing isatransfer payment?
A. Dividend to a sharehol der

B. Gift toamotherlessBabies sHome
C Salaryto aworker

D Renttoalandlord

Themajor objective of economic growth isto

A. Redigributeincomeand ather benefitsof growth

B. Equaize opportunitiesfor education and
employment

C Increase the aggregate expenditure on goods
and services

D. Increasethereal per capitaincome

TheFamily Support Programmein Nigeriaessentially
focuses on

A. Thegeneration of employment

B. The alleviation of poverty

C Agricultural and industrial devel opment

D. Economic emancipation of women

Economically, underdevel oped countries are charac

terized by

A. High rate of popul ation growth and low rate
of economic growth

B. High rate of economic growth and low rate of
population growth

C High rate of population growth and high rate
of economic growth

D. Low rate of population growth and low rate

of economic growth

One of the major consequences of urban-biased
devd opment programmesin Nigeriaisthat they
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Ledtorapid rural-urban migration

Led to unprecedented urban wealth
Transformed rural areasinto urban centre
Increased thelevel of specialized manpower
inthecities

onw>

Development plans have not been successful in some
developing countries largely because of

Very large working population

Increasing level of consumption

Scarcity of industrial raw materials
Shortage of skilled labour and experts

onw>

The balance of visibletrade is the difference between
the value of

A. Imported and exported goods

B. Imported and exported services

C Current account and capital account

D Exchangerate of local and foreign currencies

If a country has a balance of payments surplus on
current accounts, this means that

A. Thetotal invisibleexport isgreater than
invisbleimport

B. The value of goods exported must be greater
than the value of goods imported

C There must be a positive balance on capital
account

D. The aggregate of the balance of trade and

theinvisible balance must be positive

If acountry operates a freely floating exchangerate
system, and suffers a balance of payments deficit, the
deficit can be eliminated through

A. A risein theexternal valueof itscurrency
B. A fdl intheexternal valueof itscurrency
C Anincreasein the volume of imports

D. The consumption of more foreign goods

TheEconomic Commisson for Africawassa upby the
A. UNO B ECOWAS C. OAU
D. IMF

Economics 1999

In afirm three employees earn N5,500 each, four earn
N 3,300 each, two earn N5,000 each and oneearns
N7,000. The mean income of the employeesis

A. N5,200 B.N4,760

C N4,670 D.N2,080

Abubakar has the choice of buying either ahouse or
a Mercedes Benz car for N1.5m plusNO.5m running
cost. If hededdesto buy the Mercedes Benz car, his
opportunity cogt isA. N1.5m B. N2.0m C. the house D.
the car

The shape of a production possibility frontier is
determined by the

A. increasing relative costs

B returnsto scale

C diminishing returnsto afixed factor
D increasing returnsto avariablefactor.

Normative economics dealswith

A. what isand not what should be
B. facts and not figures

C facts and figures

D value judgements

The determinantsof eagticity include

A. pricetimeand availahility of alternatives.
B. technology and cost of production

C timeand availahility of alternatives

D price, timeand technological changes..

6.

Period 1 Period 2
Family income N1,000, N1,500
Expenditure on clothing N100, N 200

In thetable above, theincome e asticity of clothing is
A.05 B.20 C25 D.50

A capitalist economy isone characterized by the

A. private ownership of factors of production

B. ownership of factors of production by rich
Members of the society

C. useof capital and labour in fixed proportionsduring
production

D. use of capital intensive methods of production

In aplanned economy, what shall be produced is
determined primarily by

A. what the consumer wants

B. government decisions

C pricemechanism

D thepattern of consumer spending.

Usethediagram below toanswer questions9and 10

D, and S, areinitial demand and supply curveswith
equilibrium at E,. Other supply and demand curves
with equilibrium pointsareindicated.
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Price (P,

- '
Quantity (Q)

Points E, and Es arerespectively equilibra points for
A.D andS;DoandS, B.D,andS;D,andS;
C.D,andS;D,and S, D.D,andS; D jand S,

| dentify thethreeimportant factorsthat can make 80
to becomeeither S or S..

A. Technology, weather and population
B. Technol ogy, price and tastes
C Weather, price and technol ogy
D. Population, weather and tastes
A
D S, b Dy
a 1
o —\

// " "
S s~ P S \Dl

\4
\4

G O 0 G O

The graphs aboveillustrate

A.joint demand B. derived demand
C. compodtedemand

D. competitive demand.

In the diagram above, the consum.er equilibrium at point

A.G B.H C.J D.K.
13. A utilitymaximizing househa dwill alocateits expenditureso

that

A. morenaraisspent on commoditieswiththe
highest utility

B. lessnairaisspent on commoditieswiththe
loweSt utility

C theutility of thelast nairaspent on each
commodityisequa

D. the amount spent on each commaodity is
equal.

14,

The downward dloping part of the long-run average
cost curve of afirm may be attributable to

A. diminishing returns

B. the law of variabl e proportions
C diseconomies of scale

D. increasing returnsto scale.

Themain function of pricein theeconomicsysemifisto
A. all ocate scar ce resources among competing
uses

16

B. ensureequitabl edigribution of incomeand

wedth

C determinethedemand for and thesupply of
goods and sarvices

D. remove al the constraints on production of

goods and services.

S/No

Sector No. of People

17.

I1.
V.

V1.
VII.

Agnculture,

foredry and fishing

Mining and quarrying
Transport and communication
Manufacturing

Basic construction
Distributive

Administration

10, 050
1, 500
2, 000 000
1, 750, 000
750,000
3,000,000
1,250,000

Calculatethetotal number of people engaged in,
tertiary production from the data above.
A.5000000 B. 6250000
C.11750000 D. 12250000

Oneof the characteristicsof an imperfect market is
the

A. large number of buyersand sellersin the market
B. awareness of market conditions by buyers

C. availability of substitutes

D. heterogeneity of products.

A characleridic of theaveragefixed cost isthat, it

A. risesandfallsfaster than the marginal cost

B. isV-shaped and intersectsthe price axis

C isaways higher than the averagevariable
cost

D. falls continuoudy but is never equal to zero

In perfect competition, everyfirmisaprice
A.makerB.taker C.giver D. bidder.

Given that thetotal fixed cost isHI 000, |otal variable
cost N2 500 and the output, 100 unit Find the
average lotal cost of producing one unit.

A. N60 B. N45

C N35 D. N30

Which of thefollowing fdis continuoudy as output
expands?

A..Averagefixed cost.it B.Marginal cost.
C. Averagevariablecost D. Averagc cost

A major obstacletorapid agricultural developmentin
Nigeriaisthe

A. ineffectiveuse of crudeimplements

B. inabilily or farmersto adopt modem technol ogy

C. introduction of the Green Revolulion prograrnme
D. declining popul ation growth rate.

Theland tenuresystemin Nigeriaimpedes

agricultural Production because.

A. land fragmentation makes possible easy access to
land ownership

B. in discourages spedialization of factorsof production
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C it limitsopportunity for mass production of
agricultural goods

D. small landholders generally do not get
enough fertilizersto use.

Themajor problems of cooperative Societiesin

Nigeriaisthat.

A .they oftenlack cohension and continuity
B. their liability isunlimited to members

C voting is by proxy

D. their management styleispoor.

Theprimary objectivedf establishing theExport
Processing Zoneisto

A. facilitate agricultural production

B. encourage the production and processing of
export commodities

C erect structuresthat will facilitate the
processing of imported raw materials

D. erect economic structures near the port

Thefirst petroleum exploring company to discover
crudepetroleumin Nigeriawas

A. Mobil  B. Texaco

C Agip D. Shel-BP.

Concentrating industriesin one placeis
advantageous because there are gains in terms of
A. external economies B. internal economies
C. economies of scale D. cost economies.

Import substitution industrialization refersto

A. the concentration of industries for even
development

B. selling up of industriesfor regional
development

C asituation in which local industriesare set
up to produce goods formerly imported

D. the bann ing of importswhich are
substitutes for domestically produced
goods.

An entrepreneur will continueto employ labour up to

apoint where

A. cogisare minimized B. maximum efficiency is
attained

C wagesare equal tomarginal product of
[abour

D. marginal product of labour isequal to zero.

Optimum popul ation isdefined asthe level of
population at which

A. per capita output ismaximized

B. population isneither increasing nor
decreasing

C total national incomeismaximized

D marginal efficiency of populationis
maximized”

When aworker earns morethan the wage just
sufficient to keep him in hisjob the excessincomeis
called

B. an economicrent
D. surplusvalue

A. an opportunity cost
C. transfer eamings

No Items Amount
(Nm)

1 Wages 9000
2 Salaries 7000
3 Government

pensions 1500
4 Unemployment pay

and other social

bene fits 1000
5 Rent and interest 1500
6. Profits 1500

From thetabl e above cal cul ate the national income.
A. N18,500m B. N19,000m
C N19,500m D. N20,500m

National income at factor cost means national income
at

A. current prices
C. last year price

B. nomi nal prices
D. pricesbase year

34. Thevalue of the multiplier dependson
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A. MPC and levd of income
B. level of pesonal income
C levd of persona savings

D government pdicy and MPC

One of themajor problems of product distribution in
most devel oping countriesis

A. lack of storagefacilities

B. large number of middlemen

C inadequate manpower

D. inadequate means of transportation

Non-bank financial intermediaries do not
A. providecredit facilities B. accept deposits
C. accept demand deposits D. sdll shares.

Inflation whichis caused mainly by increasesin the
prices of factors of production is described as

A. cost-push inflation B. demand-pull inflation
C. crawlinginflation D. spird inflation.

The rel ationship between the value of money and the
pricelevel is
A. direct B. unpredictableC. diverse D. inverse.

People hold money for
A. charity B. safekeeping
C.profitmaking D. speculative purposes.

Billsof exchange originatefrom a
A. central bank B. commercia bank
C. communitybank  D. development ba.nk

If high unemployment goeshandin hand with
rising pricesthesituation created is



A. hyper inflation  B. stagflation

C moderate I nflation D. galloping Inflation.

One of the functions of money isthat it helps.

A. detect fraudsin matters of exchange

B. postpone payments without loss of count

C storeinformation about the intrinsic benefits
of an item

D. record informeation about theval uation of anitem.

Fiscal policy involves changesin

A. open market operations

B. revenue and expenditure of government
C money supply to the economy

D. importsand exports.

Economic devd opment may be defined aseconomic
groanth

A.inagiven country B. over along period
C. andimproved health facilities

D. and improved distribution of wealth.

The price of agood will not be affected by the
imposition of asalestax onit if the

A. supplyisindastic B.demandisineastic
C. supplyisperfectly dagic

D. demandisperfectlydadic.

A freetrade area emergeswhen

A. traders from one part of the country can
move freely to other-parts

B. customs regul ations are harmonized among
countries

Economics can be defined as

A. reduction in spending in the face of
competing alternatives

B. allocation of resources to alternative uses

C economic behaviour of small unitslikethe
household and thefirm

D. the study of economic aggregates like

inflation and national income.

l. What and how much will beproduced?11.
How will it beproduced?

. For whomwill it be produced?

V. How much will beexpor ted and consumed?

From the above, identify the combination of basic
resource allocation questionsin economic .analysis.
A. 111andlll  B.lllandlV C. |, Il and.lV
D.IHlan.1VJ

Usethehigstogra... belowtoanswer questio..s3and 4
No. of 120 students
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@120

C agroup of countries decide to remove
restrictionson im portsfrom one another D.
theUNCTAD isin force.

Devaluation helps in checking adverse balance of
paymentsif the

A. demand for importsiselastic
B. demand for importsisinelastic
C supply of expor;tsis elastic

D demand for exportsisindastic. ,

Gainsfrom trade depends on
A. comparative advantage

B. absol ute advantage

C. digtributive cost advantage
D. absdlute cost advantage

Favourableterms of trade isimportaflt toa country
because it facilitates

A. economic prosperity for importers and
exporters

B. export of hard currency by the government

C economic prosperity for the country

D. import of hard currency by the government.

The most acceptabl e economic measurefor trade
protection is to

improve standards of living

protect Infant industries

safeguard strategic industries
promateforagntrade

O0O®m>

Economics 2000

Scores

How many studentstook the examination?
A.280 B.240 C. 200 D. 80

If the pass mark was 40, how many students passed
theexamination?
A. 100 B. 120 C. 160D.200

In acapitalist economy, the economic problem of what
goods to produce is decided mainly by

A. shadow prices B. profitlevel C. relativeprices
D. acentral planner.

Which of thefollowingisan exampleof derived demand?
A.Taxrdid. B. Labour. C. Wageincrease D. Entertainment.
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Good one

Usetheinfor mation belowtoanswer quetions7and8.

When commodity X sold for N25 per unit, 50 units of
commodity Y were purcnased. With an increasein the
priceof commodity X to N5Q per unit, the demand for
commodity Y fell to2{) units. ,r

Determinethecross el asticity of demand.
A.1l7 BO06 C. -06 D. -17

The two commodities can be classified as
A. substitutes B. durable and non-durable
C.intermediateandfinal D. complements.

A centrnl argument of cardinal utility isthat utilityis
A.measurnble B. psychological  C. ranked
D.intangible.

O L Good tv%

1
Inthediagramabove, L. L. and L L, arebudget
lines.l..,I, and I, areindifference curves. Which
poin areoptimal ?
A.UandW. B.UandZ. C.VandW. D.YandZ.

Usethediagramsbdowtoanswver questions11and 12.

Commodity | Commodity |1

RN [ A

1

™,

1

° Q  Q Quanity” 0 Q  Q Quaity

Commoditieslandll arein
A. competitive supply B. joint supply C. substitute
supply D. derived supply.

Thesupply of commodity Il increasing from S S, to
SS,

A. leadstoafall in pricefrom OP to OP,

B. movesthe pricebelow OP,

C. increasesthe price from OP, to OP,

D. movesthe priceto OP,

Inafreemarket sysem, trading can only takeplacewhen
A. market is not working efficiently

B. equilibrium priceisattained
C. price of acommodit tendsto attract consumers

D. consumer sovereignty islacking.

14. Thecondition for equilibrium price and quantity
under perfect competition is
A.MC=AR=TRB.TC=AR=P
C.MC=AR=P D.MC=AR=TC

5. External dissconomiesof scaeresult from excessvegrowth of
A.thewholeindustry  B. some sectors of the
industry C.external factors  D. internal factors.

Usethetablebelow toanswer questions16 and 17.

Vaiablg Total Marginal Average
Factor [ Product| Product Product

1 1 1 1
2 6 5 3
3 24 18 8

4 48 X 12
5 Z 25 14.6
6 93 20 Y

16. Themarginal product X is
A.18 B.20 C. 24 D.25

17. Theaverageproduct Y is
A.80 B.120 C.146 D.155

18 Inasmall scalebusiness. the fixed cost is#5 000.00.
variable cost is#15 000.00 and the output is500 units.
What will be the unit cost of the goods?
A.#400.00 B.#80.00 C.#40.00 D.#20.00

19. If atotal cost curveis plotted, marginal cost can be

illustrated by the

A. slope of the tangent to the curve at any
given output

B. V-shaped curve autting the total cost curve at its
lowest point

C draigh linefromtheorigin tothe midpaint of the
curve

D. straight line cutting the curve at its highest
point.

L/ AvVC

O Quantity
Inaprice-laking firm, the portion UT aboveisthe
firm's.

A. average revenue curve B. supply curve
C. demand curve D. long-run average cost curve.
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Theshort-run equilibrium in a perfectly competitive
market requiresthat

A. marginal cost be equal tototal revenue

B. marginal cost and marginal revenue be equal

C cogs are mutually determined by buyersand
slers

D. themarginal cost curveautsthetota cost curve

Quantity Total Revenue from sales of

commodity sold of commodity

3 #228.00

i) #233.00

45 #238.00

Thefirm whose sales and total revenue of the
commodity as given aboveis

A. amonopolist

B. a monopoalistic competitor,
C aperfect competitor

D an oligopolist.

At the point wheremarginal revenue of amonopolist
isequal to zero, itstotal revenuewill be
A.falingB.risngC.equa tozeroD. maximum.

A distinguishing characteristic of cooperative
societies is that voting power depends on the

A. number of sharesheld B. statusof the member

C. equality of members ~ D. management'sdecision.

The concept of privatization presupposes
A. efficiency B. market price
C indigenization  D. foreigntrade.

One problem in themarketing of agricultural product
inNigeriais

the seasonal nature of the commodities
high price of the commodities

the changing tastes of consumers
inadequate storage facilities.

onw>

Increased output will causefarmers revenueto decrease
whenmarket demandis
A.dadicB. indadicC. unitarydadic D. pafecly dadic.

A primary industry isconcerned with

A. extraction of resourcesin their raw state

B. the operation of small scale enterprises

C the economic activities of primary producers
D. clearing and cultivation of land only.

Thedow paceof industrial growth in Nigeria can be
attributed to

A. overdependence on the oil sector

B. inadeguate number of unskilled labour .~
C lack of raw materials

D. inadequateinfrastructural facilities.

3L

Industries contribute to national economic develop
ment because they

utilizelocal raw materials

empl oy an increasing number of |abour
providerecreational facilities

usemodern machineswhich replacehuman
[abour.

onw>

The Nigerian economy ismonocultural because
government revenueisderived mainlY from
A. agriculture B. manufacturing C. coal  D. crudeail.

Asaproducers association, the OPEC expectsits
memberstomaintain produc- tionwh'eremargina costis
A. greater than price B. lessthan price

C. equal toprice D. equal to average cost.

A well conducted censusisimportant for
A. effective defence

B. effective revenue generation

C. good economic planning

D. optimum population.

Theage didtribution of acountry's population determines
the

A. ratio of the de- pendent to the working group

B. total ageof all working classadults

C. malefemaleratioD. percentage of married women.

Firms continueto employ workersuntil thewagerate
equalsthe.

A. average product of labour
B. marginal revenue product of labour
C. total product of labour
D. sumof margind revenueand averagerevenue of
[abour.
Wagd
Wl \ /
S
w,
W, N
W4 e S— DL
Lab&r

S_=supply curve of labour
D, =demand curveof |abour

Inthediagram above, ifW , W, W, and W, are
different wagerates, the minimum wa-~rateis
A.W,B.W,C.W, D.W,

A major effect of along distribution chainis
A. highreail prices B. scarcity of commodities
C. lowretail prices D. low producer earnings.

Themajor function of the wholesaler to his customers
is

A. breakingof bulk B. offering personal services
C. dstocking avariety of goods

D. providingtrans- port facilities.
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Which of thefollowing isused for measuring
national Income?

A. Output income and wages.

B. Import expenditureand output.

C. Income, output and ex penditure.

D. Export, import and output.

Exclusionsthat make Gross National Product apoor
measureof welfareare

A. government purchases

B. govern ment military outlays
C wagesand salaries

D housawives' services.

Anincreasein money upply, other thingsbeing equd, will
A. lowerinterestrates  B. reduceincome
C. ensuretradebalanceD. increase money demand.

A persistent risein the general level of pricesimplies

A. an Increase In some prices

B. aonetimeriseinprices

C a steady fall in the purchasing power of
money

D. that thehigher thepricelevd, themorethevadue
of money.

Two principal ways by which banks can lend money
to their customersarethrough

loans and overdrafts

loans and discounting bills

overdrafts and cheques

ovedraftsand tressury bills

onw>

A capital market differs from the money market in that
in theformer

A. loan sought is short term

B. loan repayment isguaranteed

45,
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C loan sought islong term
D. the percentage of interest charged ismore.

An aspect of taxation that involves normative economicsisthe

effect on incentive to work
D. tax burden.

A. taxrate B.
C. fairness of thetax

Public, debt is composed of

A. internal debtsand World bank loans

B. money owed to local and foreign contractors
C.internal and external debts

D. loansgranted by IMF and ADB

A country exporting mainly primary products and with
a hign percentagedf her labourforcein agricultureissaidto
be

A. developing
C. poor

B. devel oped
D.underdevel oped:

A country'simport priceindex by 1995 was 50 and her
index of export pricewas 70. Cd culatethetermsof trade.
A.20% B.8.71% C.120% D.140%.

If the United Kingdom buys gold for £ 60 an ounce
and Nigeriabuys the same ouncefor N500, what will
be United Kingdom's exchangerate with Nigeria?
A.£0.05=N1.008. B.£0.06=N1.00
C.£0.11=N1.00 D. £0.12=N1.00.

Being amember of the OPEC, Nigeriaisina
favourable position to

export her crudeail

control world crude oil prices

reap the benefit of acartel

borrow money from members.

Cow»

Economics 2001

1

If the pice elagticity of demand for agood isO.43, an
increasein the priceof the good will resultin ;
A.anincreasein profit by 43% B.anetgain
C.adecreasein profit by 43% D. anet loss

Inafreemarket economy thepricesysemallocates
resources

A. under government'sdirectives

B. toensure general welfare

C. tother best alternative uses

D. to reduce poverty.

At consumer equilibrium, the slope of the
indifferencecurveis

A. half the dope of the budget constraint line

B. equd tothedapedf thebudget congraint line

C. greater than the slope of the budget constraint line
D. lessthan the dope of the budget constraint line.

For asupply curve, an increaseinthe price of acommodity
will reultin

adecrease in supply

adecrease in the quantity supplied

an increasein supply

an increase in the quantity supplied.

Cow»

A nominal good with close substitutesislikely to
have price elagticity of demand

A. between zero and one B. equal to unity

C. lessthan unity D. greater than unity.

Economicsisregarded as a social science because it

A. adopts the scientific method in production

B. isan agent of socialization

C the scientific medod in the study of human
behaviour

D. dealswith social problems.
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Totdl Utility

A

0] Quantity

The diagram above showsthetotal utility curve.
Atthepoint M, marginal utility

A. increases B.isunity

C.diminishes  D.iszero.

A changein supply is best described as a

A. movement along the supply C&D'Ve

B. shift of thesupply curvetotheleft or totheright
C shift of the supply curveto the left

D. shift of the supply curve to the right

When ageneralization is made based on ohserved
facts, it isknown as

A. deductive reasoning  B. inductive reasoning

C.theoretical reasoning  D. normative reasoning.

A major problem facing all economiesishowto

A. increase consumption of imported goods

B. improvetrade among nations

C transformfrom adevel oping In adevel oped
economy

D. all ocate scarce resources.

A vertical supply curve indicates that

A. the quantity supplied is responsiveto price

B. thesamefixed quad ity will resupplied nomatter
theprice

C anincreasein pricewill resultin anincrease
in the quantity supplied

D. thereisafixed pricefor the commodity bel ow

which no supply will bemade.

In ademand curve. the el ationship between price and
quantity is
AindetermineB. direct C. nil D. inverse

If diearithmeticmean of 1, 2, 5, 6, andi8is8.0,find the
valueof .x

A70 B.6.0 C.85 D. 80
Thefixing of the price of an item above or below the
equilibrium priceismostlikey totakeplaceina

A. centrally planned economy B. free market economy
C. developed economy  D. mixed economy.

A conaumer'sscaleof preferenceisan arrangement of his

A. scarce resourcesin order of iniportance
B. needsin order of importance

C sourcesof incomeand their importance
D. reguirement and how to satisfy them.

16.

17.
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A tirmy’s shut-down point Is reached when the average
revenue failsto cover the

A. average variable cost
B. marginal cost C average total cost
D. averagefixed cost

Internal economies of scale are expectedto bring
about

A. an increase in short-run average cost
B. an increase-in long-run average cost
C adecrease in long-run average cost

D adecrease in short-run avtrage cost.

In thelong- run amonopolist maximizes hisprofit
when the marginal cost equals

A. total revenue B. marginal revenue
C. average cost D. price

Thelong runisaperiod duringwhicha firm

A. sellsinput to purchase fixed asset

B. variesall itsinputs

C sourcesall itsinputsfrom within

D replacesall itsinputs.

An important feature of perfect competition isthat

A. the movement of goods and servicesis

restricted

B. thereisadequate knowledge of existing
prices

C pricesare centrally administered

D. individual economicunits can influence

prices.

If government fixespricebe ow the equilibrium price,
what effect will it have on demand?

A. Quantity demanded and supplied will be
equal .

B. Quantity supplied will begreater than quantity
demanded.

C Quantity demanded will increase.

D Quantity demanded will decrease.

Animperfect market exiss-;here

A. the product is homogenous

B. thereis perfect information among thefew
buyers and sdllers

C both buyers and sellers have free entry into
and freeexit from themarket

D. the location of some sellers givesthem an

advantage over others.

A production function relates
A. cost to output  B.
C cost to input D.

wageto profit
oulput to input.

The table below shows demand schedule for eggs.

Priceper Qty demanded Qty. supplied
dozen (# (in dozen) (in dozen)
100 410 570
D 450 530
80 490 490
70 530 450
60 570 410
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What isthe equilibrium price?
A.NIOOB.NIIO C.N6O D.N80

A major advantage of specializatiun and division of
labour isthat

A. timewastagewill be minimized

B. trade unionswill be encouraged

C werewill beaready market for [abour

D. workerswill be adequately rewarded.

Which of Ihefollowing isan exampleof afixed cost?

A. Fuel cost. B. Electricity bill.

C Rent on building. D. Transportation
cost.

Intheagricultura sector, improved extenson sarvicesfacilitate

A. acquisilion of techniques
B. arabiccrop production

C mobility of labour

D. livestock production.

A disadvantage of concentrating industriesin an area
isthat it could

A. lead La collusion among wefirms
B. resultin environmental pollution

C bring about dieconomies of scale
D increase lhe cost of production.

The losses suffered by a sole proprietor are

A. usually equal to the amount invested
B. usually less than the amount invested
C limited tothe amount invested

D. not limited to theamount inves ed.

Tofadlitatetheexportation of crudeal fromNigeria pedd

A. airtrips were constructed for jets toevacuate
theoil

B. roadswere built to connect themgjor oil welsto
the ports

C pipelineswerelaid to connect the major oil
wells to the ports

D. railway lines were constructed to connect

themajor oil wellstotheports.

Anindustryisa

A. company producing unrelated commodities
B. group of firmsproducing related commodities
C group of firmsproducing distinct commodities
D. firm producing differenti ated commodities.

Theraisng of fundsby sdling stocksto thepubliciscaled
A. equity financing B. stock financing
C debt financing  D. loan financing.

Atax that increasesat ahigher percentageasincome
increasesiscalled

A. aproportional tax B. aregressivetax
C aprogressivetax D. an incometax.

Theprice paid for labour servicesisthe
A. commissonrate B.wagerate
C incomerate .D. salary rate.

41

Thecapital market isamarket for tnkKJin:9(:" financial
assets such as

A. bankers acceptances
B. treasury bills

C long-term securities
D. commercial papers.

In national incomeaccounting. NNPis derived by
subtracting from the GNP

uansfer payments

indirect taxes

allowancefor wastage

capital consumption.

Cow»

Economic growth can be accelerated through

A. balancing of savings and consumption
B. postponement of current consumption
C planned current consumption

D. increased current consumption.

Anincreasein thediscount rateisan indication of a
Central Banksintention to pursue

an expansionary monetary policy
adisciplined monetary policy

adynamic monetary policy

a contractionary monetary policy.

Cow»

The efficiency of labour can be. increased by
constant training of workers
retirement'ofworkerson aregular basis
engaging expatriates only

placing an embargo on recruitment. .

Cow»

In Nigeria, revenue sharing from the Federation
accou.nt is between the

A. executivethejudiciary and thelegidature

B. federa and date governmentsand the
parastatds

C federal and state governments and the
senate

D. federal stateand local governments. .

Thereduction of high fertility rateisameasurein
population control designed to makethe

A. femalepopulation higher than themale
B. femaleand male popul ation equal

C male popul ation higher than thefemale
D. growth in population more sustainable
National debt isan expected outcome of a

A. deficit budget

B. consolidated budget

C balanced budget

D surplus budget.

The distribution channel that contributes most to the
cost of productfon is

producer-whol esal er-consumer
producer-retailer-consumer

producer -retail er -wholesal er-consumer
producer -whol esaler-retail er -consumer

oow>
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Money may not be accepted as a store of value if

A.

B
C.
D

itsvalueisunstable
itiseasly transferable
itsvalueisstable
itiseasly divisible

In order to accd erate economic devel ogpment a country
must

stimulate her population growth rate
pursue a high population growth rate
pursue arational populationpolicy
pursue an incremental population policy.

OO w>

If thelaboul forcein agiven communityis2,000,000,
in thewageemployment 200,000 and theunemployed
are80,000, what isthe unemployment rateinthe

community?
A. 04% B. 40.0%
C 100% D. 04.0%

GNPis not agood measure of social welfare because
thereare unrecorded
A.indirect taxes

C. government subsidies

B. social costs
D. transfer payments

48.  Theloansfrom theWorld Bank to developing
countriesare mainly to support

onw>

the establishment of more universities
capital-intensive technol ogy
infrastructural investments

their low level of consumption.

Themajor reason why nationsengagein international
tradeisthat

A. it allowsfree movement of factors of
production

B. it makes possiblethe use of capital-
intensive method of production.

C nationsare substantialy different in their
endowments of economic resources

D. it affords the trading nations the opportunity
toearn high profit.

A country with over-valued currency will

A. expect balance of payments surplus

B. haveincreased demand for her exports

C increase her foreign reserve

D decrease her foreign reserve

Economics 2002

> Good \A

If goodsPand Q are purchased by a consumer, afall
in the priceof Pwith the price of Q unchanged will
cause the budget line to

A. rotate outwardsaway fromtheorigin
B Shift paralld inwards

C rotateinwardstowardstheorigin

D shift parallel outwards

Oneof thereasonsfor an exoeptional demand curveisthe
availability of credit facilities

availability of substitutes

changein the price of thecommaodity
expectation of afutur changein price.

onw>

The dasticity of supply of perishable goodsis
A. eastic B.zero
C.indagtic D. unitary

Children
40%

In the pie chart above, the percentage for childrenis
equivalent to
A. 2830

B. 1440 C.900 D.720

18-
15-
13-
O-
©6-
0-
1 234 Good X >
In thediagram above, the marginal rate of substitution
of X forY for amovemer from StoTis

A51 Bl1l5 Cl184 D.133

A scientific approach in economicentails

A. anormative method only

B both inductive and deductiv methods
C a deductive method only

D both inductive and normative methods.

In acentrally planned economy. the economic
problem of deciding what to produce is dependent on
A. state command B.reative prices

C. average cost D. average profit.

A shift in supply curve indicatesthat a different
quantity will be supplied at each possible price
because

supply isfacing competition
consumersarewilling to pay higher prices
price has changed

other factors than price have changed

onw>
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The demand for factors of production is an example of
A. competitive demand

B derived demand

C composite demand

D joint demand

A student asN30.00 willl which tobuy aruler costing
N18.00 and an exercise book costing N25.00. If he
buys the exercise book.His opportunity cost is

A. the exercise book B.N25.00
C.N18.00 D. the ruler.

Import substitution aimsat

A. subdtituting agricultura productswith, indudrial ones
B. substituting importswith agricultural exports

C. improving the balance of payments

D. thediversification of industries.

Some of the key indicators of '| underdevelopment in
acountry are

A. poverty low level of literacy and low income

B. poverty low incomeand low unemployment level
C poverty high leve of literacy and low Income
D.low leve of illiteracy, low income and' poverty

ECOWAS has taken a giant step towards economic

integration by

A. lintroducing acommon currency for'
traveilers

B. presenting aunited front againg foreign
economicexplaters

C holding frequent medtingsat various date
capitas

D. incread ng economic, gability among member
dates.

Oneof themajor factors militating against
indugtriaizationin Nigeriaisthe

frequent breakdown of equi pment

failureto get foreign partnersand supporters
inadequacy of infrastructural facilities
absence of government participation.

onw>

The types sources and uses of government income
aremainly concerned with
A. public budget

C. public expenditure

B. public finance
D. public revenue

Thepresent privatization policyin Nigeriaisamed at

A. reducing the prices of goods and services
B. increasing efficiency in production

C poverty alleviation

D. reducngincom~ inequaity

Oneof theroles of the NNPC in the production and
refining of crudeail isto

A. Ssscuremaximum government revenueand
regulaeprice

B. protect thelocal operatorsin the petroleum
industry.

C prevent thesmuggling of petroleum
products

D. satisfy the domegtic consumption petroleum

products.

24,

Cocoa
Tonnes

Oneway of correcting the bal ance payments problem of
acountry isto

A. devaluethe currency

B. introduceimport-promation messures

C. deemphasizeimport

D. buy invesments abroad

Oneof the problemsarising fromthelocalization of
industriesis

A. high prices of output

B. dructural unemployment

C. theexportation of output

D. thescarcity of foreignexchange

Themgor purposedf theAfrican Devd opment Bank isto

A. educatepeasant farmersin new techniques

B provide loans for devel opment banksin
distress

C provideloansfo infrastructural development

D. provideloans for trade devel opment.

As a country gets more developed, th percentage of
labour engaged in agriculturetendsto

A. switch over to trading

B. remain constant

C.increas steadily

D. decrease steadily

A deficit budget can be used to

A. darve the economy of funds economic
development
B. protect t economy from inflation
C dimulaterecovery from trade depression provide
meaauresto remedy
D. balance of payments.
Cocoa
Tonnes
20 Ghana 20 Nigeria
5 5
Cotton (Tonnes) Cotton (Tonnes)

In the diagrams above, the Opportunity cost of a
unity of cotton in terms cocoais

20for Ghana60for Nigeria

1/4 for Ghana /2 for Nigeria
5Ghana30for Nigeria

4for Ghanfor Nigeria

Cow»

External financefor alimitedlial company ismainly
sourced throug

A. the issuing of shares
B. theleast equipment
C trade credits

D loans

Oneof the major criticisms of the 1962 National Devel

opment Plan that

A. its execution was based on foreign-sourced
financial measures resources B. it failed to
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incorporatelessonsgained from earlier plans to A
enhance efficiency

C. planned expenditure based too heavily on expected

ear from crudeail .

D. it cametoo quick after the country'sindependence

Which of thefollowing yields more revenueto

Nigeria?
A. Valueadded tax B.Royalties
C.Direct tax D.Indirect tax

In theshort run afirm'smarginal cost curve abovethe
point of shut-downin it's

A. supply curve B.
C demandcurve D.

revenue curve
cost curve *5.

Thebenefitsthat accruetoafirm asaresult of an
improvement in theindustry it belongsto are called

A. internal economiesof scale

B. market economies

C external economies of scale

D. economies of scale .36.
Asafirm increasesitsoutput the average fixed cost

A tends to decrease continuously

B. risssandthenfdls
C remains constant
D . tends to rise continuously

The economic policy of deregul ation isaimed at 37.
encouraging
A. acompetitive market structure
B. an oligopolistic market structure
C aduopolistic market structure
D. amonaopolistic market structure.
-}
Theeffect of an increasein demand for acommodity
accompanied by a decrease in supply will beto
A. decrease the equilibrium quantity and affect
thepricein an indeterminateway
B. raise the price of the commodity and affect 0.
the quantity in an indeterminate way
C lower its pricewhileaffecting the equilibrium
guantity in an- indeterminateway
D. raiseitspriceaswell asthe equilibrium
quantity. .
40.
Under conditions of perfect competition afirm's
supply curve is determined by it's
A. fixed cost curve B. variable curve cost
C. total cost curve D. marginal cost curve
The short-run equilibrium output for amonopolistis
determined by the
A. intersection of the marginal cost and
margina revenue curves 41
B. highest point on the total revenue curve
C intersection of the average revenue and
average cost curves
D. minimum point on the average cost curve

A
D
P(#)
60 € >
0 »
100 200 300 Q

In the diagram above what isthe excess demand at
theprice of N60?
A.3000 B. 100 C.600 D 200
Theequilibrium wage in an economy is determined by

the

A. supply and demand for labour
B. rateof inflation

C workers union

D public service

If the growth rate of available resources continuously
outpacesthat of the population, a country will
eventually experience

A. under population

B. maximum population

C. optimigtic

D. adecrease in output-input ratio

Themiddlemeninthechain of digributionare
wholesalersand retailers
manufacturersand consumers
consumers and wholesalers
retailersand consumers

onw>

The Malthusian theory of population growth is often
said to be

A. oversmplified B. ambiguous
C.optimigtic D.pessmistic

Improved labour efficiency can be measured by

A. the constancy of input-output ratio

B. an increasein input- output ratio

C an increasein output-input ratio

D. adecreasein output-input ratio

National income estimates can be used to

A. comparea country's growth rate with that of
another over aperiod of time.

B. differentiate between therich anathepoor ina
country

C prepare a country's annual budget

D. project theleve of acountry'seconomic

development

In Nigeria, the bank that can correctly be described as
aunit bank is

theCentral Bank

Ccommunity Bank

Peoples Bank

Mortgage Bank

onw>



Creepinginflation impliesthat thereisa

A. rapid but not permanent Increase Inthegenera
pricelevd

B. gentlebut nat permanent increasein thegenerd
pricelevd

C rapid and parsigent increasein thegenerd price
levd

D. gentleand persgent increasein thegenerd price
leve.

In a closed economy, the marginal propensity to
consumeis 0.6 and the average propensity to
consume0.8. Thevalueof the multiplieris

A.2.7 B.2.6 C.24 D.25
Excessdemand inflation can be controlled through
A. contractionary trade policy

B. expansionary monetary policy

C contractionary fiscal policy

D. expansionary fisca policy

Theprimary objective of theNDIC isto

A. provide regulationsguiding the finance
houses

B. giveprotectigll to banks against fraud

C give protection to bank depositors

D. give protection tothe CBN against fraud.

47.

Liquidity preferencerefersto the

A. wish to hold more funds for precautionary

purposes

B. need to increase the money supply in order
tolower theinterest rate

C. demand to hold money as assets rather than
as stocks

D. need to borrow money for short

periodsto meet sometemporary crises.

If the country's GNPin the current year isN65 billion
andthe GNP deflator is
A.30.0 B. 130.0. C.150 D.13
Insurance companiesinvest mainly in instruments
traded on the

A. commodity market

C. capital market

B. open market
D. money market

The solution to the problem of double coincidence of
wants requires a buyer and a seller whose demands

areprecisey
A. complementary B. supplementary
C. composite D. competitive

The stock exchangeisamarket for the buying and
salling of

A. existing shares

B. monetary instruments

C. new shares D. treasury bills.

Economics 2003

The price of agood risesfrom N5 to N8 and the
guantity demanded fallsfrom 200 to 190 units. Over
thispricerange, thedemand curveis

A. farlyindastic

B. fairly elastic

C perfectly inelastic
D perfectly elastic

Ineconomisanayss adatement issaidtobenormalizeif,it

A. can be tested scientifically

B. relates to value judgment

C is contradictory

D. isincorrect

Utility isthe satisfaction derived from

A. production B. distribution
C consumption D. demand

If thereis and increasein demand without a
corresponding increasein supply, therewill be

A. fall in price B. risein price
C shift in supply curve to the right
D. shiftin demand curveto thel eft

Use the production possibility curve of a country
represented in the diagram bel ow to answer
guestions 5 and 6

Animprovement in technol ogy will enable
the country to produce at
A. V. BB W C X D. Zz

If the country is currently producing at point Y, it can
increase production of producer goods by moving to
the point

A.v B.W C X D.Zz

In thetable above, the price of commodity yisN2
and that of x isN1 whiletheindividual hasanincome
of N12. Determinethe combination of thetwo
commodities theindividual should consumeto
maximizehisutility

A 3yand 3x B.6y and 4x

C 3y and 6x D.5y and 5x

When two variables are positively related, the graph
of thereationship

A. isastraight line

B. is adownward-sloping curve
C isan upward sloping curve
D has a negativeintercept
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For an inferior good, adecreasein real incomelead to

A. an outward shift of the demand curve
B. an inward shift of the demand curve
C alowed equilibrium price

D. achange in quantity demanded

In aplanned economy the emphasisis on

A. individual choice and decisions
B. public ownership and control

C private ownership and control
D. prices and competition

Pricedasticity of supply isaratio of the changein

A. quantity supplied to the c changein demand
B. origind quantity toachangein new quantity

C quantity supplied to the change in price

D. priceto the changein quantity supplied.

thelong-run average cost curve is called aplanning
curve because it shows what happens to costs when

A. variableinputsareincreased

B fixed factorsareincreased

C different sizesof plantsarebuilt
D abigger sizeof plantsisbuilt

Imperfect market is characterized by

A. many buyers and few sdllers

B. alarge number of buyersand sdllers

C non-preferential treatment

D. perfect mobility of factors of production

Short-run period in productionisaperiod for afirm
to be ableto change its

A. variableinputs B.
C total revenue  D.

total outputs
scale of operation

Use the table bel ow to answer questions 15 and 16

Output produced Fixed cost Total cost
per day (unit) per day (N) per day (N)
20 60 100
30 60 120
40 60 130
50 60 135
60 60 150
70 60 170
80 60 190
The ATC at 30 units of output is
A.120.000 BN6000  C.N40.00 D.N300

At 60 units of output, theAVC is

A. N150.00 B. N90.00O C.N2.50 D.N150

If thedemand curvefacingafrimissharply downward

doping, thefirmislikeytobe

A. aperfect competitor

B. amonopolistic competitor asit can havea
limited influence asit can havealimited
influenceon price

C an oligopalist asit can colludewith other
firmsto have someinfluence on price

24,

A normal supply curveisusually positively sloped

A. because the relationship between
B. supply and price is negative

C price and demand is negative

D price and supply is positive

The best method of production in an under-popul ated

oountry is
A. labour-extensive B. land-intensive
C capital-intensive D. labour-intensive

Insurance companies, pension and provident funds
and unit thrustsareall examplesof

A government financial agencies
B. non-govenmental organizations
C non-bank financial institutions
D rural -based revenue mobilisers

For afirm, value added can be defined asthedifference
between the

A. value of its output and the cost of
production

B. total revenue and toatla cost

C input prices and product prices

D. value of its output and inputs purchased

from other firms

Securitiesare described as listed when they are:

A. bought and sold purely for development
purposes

B. mobilized as short-term debt i nstruments

C Mohilized aslong-term debt instrument

D. Traded on arecognized stock market

Thecommercial banksdiffer from non-bank financial
institutions because they

A. accept deposits withdrawable by cheque

B. mobilizesavings C invest surplus plus
D. contribute to economic devel opment

Inflation that is usually associated with periods of
tradeboom is

A cost-pushinflation  B.demand-pull inflation

C cregpinginflation D. stagnation

The term “Near Money” is best described as

A. afinancial assetsthat isconvertible to cash

B. afinancial instrument that isreadily
convertible to cash

C government financid instrument that is
convertible to cash

D. time depositswith low interest rates

The distinguishing characteristic between the money
market and the capital market liesin whether the

A. findsmobilized are private or public

B. securitiesare primary or secondary

C debt instruments provided arelong-term or
short-term

D. seauritiesarein debentures of ordinary shares
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If Nigeria'scompositepriceindex in 1999 was 6. Statutory organisations usually established by Acts
140.03% and 144.05% in 2000, therate of inflation in of parliament arecalled
2000 was A. public enterprises
A. 402% B. 210% C. 2.06% D. 1.03% B public corporations
C cooperative societies
The monetary control instrument most effectively D joint-stock companies
used by the Central Bank of Nigeriaisthe
A. discount rate B. reserveration 37. A greater burden of the taxes on essential goodsis
C. marginrequirements D. open market operations borne by the
A. higher incomegroup B. newly recruitment workers
Themajor objectivesof arevenue allocation formula C. lower incomegroup D. contract workers
in acountry isto
A. share revenue between the public and B Privatization and commerddization of publicenterprisesin
private sectors Nigeriais necesstated by
B. ensurethefinancial viability of the country A. the IMF conditions B.theBRD conditions
C share revenue between the different tiers of C the government’sloss of interest in them
government D. their operational inefficiency
D. divert revenue from areas of surplusto areas
of need 0. The theory of comparative advantage states that a
commodity should be producedin that nation wherethe
The effectiveness of deval uation as a solution to a A. absolute cost isleast B.absolute money cod isleast
bal ance of payments problems depends on the C. opportunity cost isleast
A. relative elasticities of demand D. production possibility curveincreases
B. foreign investments of business
C value of visible and invisible goods 40. Theeffect of anincreesein thepersona incometax isto
D. value of invisible items of both domestic A. raisetheabsolute pricelevel B.digort theeconomy
and foreign trades C. reduceunemployment
D. reduce thedisposable income
IBRD asan international monetary institution is
concerned with the 41 Animportant factor hindering the rapid devel opment
A. balance of payments problemsof member nations of theindustrial sector in Nigeria.
B. financing of private businessin member nations A. excessive demand for finished products
C. development of i nfrastucture in member nations B. the dominance of the oil sector
D. improvement of trade among member nation C rural-urban migration
D. inadequateinfrastructurefacilities
An advantage of the soleproprietorship over the
partnership form of business organization isthat 2. Thedemand for labour isan example of
A. itenjoyslimitedliability for debt intheevent of failure A. competitivedemand B. derived demand
B. ltsexigenceislimited bty anindividud’slifespan C compositedemand D. joint demand
C. ltrelieson thedecision of friendsto succeed
D. Thepossihility of conflict ismanagement in 43.  Themagjor roleof multi-national companiesin the
virtually non-existent petroleum industry in Nigeriais
A. oil prospectingonly B. oil marketing only
The distinction between capital and recurrent C. theestablishment of refineries
expenditureliesinthe D. oil marketing prospecting
A. amount of expenditureinvolved
B. source of the revenue generated 44.  Fxingthepricesof agriculturd productscanbeaprodem
C nature of the goods and services to be provided becauseof the
D. timeframeo theexpenditure A. unpredictable output of farmers
B. instahility of government policies
Under afl oating exchangerateregime, thedeterminant of C. activitiesof marketing boards
theexchangerateis D. sizeof agricultural exports
A. the system of government
B. demand for and supply of foreign goods 45, Occupational mobility as applied to factors of
C the highest denomination of the currency producti on means the case by which

an act of the national assembly

A. fadtorscan betranderred from oneplaceto ancther
B. factorscan betransferred from one form mof use
to another

To comparethe standard of livingamong nations, the

most widely used economic indicator isthe C. resourcescan betransferred from one place to ancther

A. per capital nominal income D. resourcescan betrandormedfrom oneform to ancther
B. real domestic output

C real grossnational income

D. real per capital income
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Thelabour force of acountry can be determineby xaminingthe
Sex distribution of the population

Occupations distribution of the population

age structure of the population

geographical distribution of the population

Sow>»

Two basi s features common to an

industry are

A. similarity of products and production processes
B. similarity of productsand sourceof raw materials
C. production processes and source of capital

D. source of capital andslabour supply

A country is said to be over populated when
A. there aretoo many able-bodied men and
women in the country

B. the resources are more than enough to cater
for the population

C the size of the population is greater than the
annual budget

D. the resources are inadequate to cater for the
population

When a union is composed of workerswith same
sKill,itiscaled

A. anindustrial union B. aworkers union
C acraft iunion D. atechnical union

An adverse environmental impact of the petroleum
industry on the economy is

A. the vandalisation of oil equipment

B. oil spillage C communal riots

Economics 2004

1

By advertising, amonopolistic competitivefirmtriestoshiftits
A. supply curvetotheright B. demandcurvetotheright
C. supply curvetotheleft D.demand curveto theleft

Given thanY =C+1 and C=hY whereb=0.8, what is
the multiplier?
A.5 B. 10 C.4 D.?2

Theroleof theCentra Bank in theeconomi cdevd opment
of Nigeriaisto

A. giveshort-and medium-term |l oanstothepublic

B. givefinancid and technical adviceto cugomers

C use the cheques and bank draftsto facilitate
business transactions

D. mai ntain astable price system

Theprimary function of non-bank finandd ingtitutionsisto

A. manageinvestment portfaliosfor government
B. mohilize saving for investment

C grant loans to banks

D. receive deposits from banks

At the maximum point of thetotal product curve of a
firm, marginal revenueis
A decreasing B.increasing C. constant D. zero

In an open economy, the GNPis measured as
A. CH+G+X B.CH+GHX-M) C. CH+G+M D. C+I+G

The diagram above represents the short-run position
of amonopolist. Theprofit-maximizing output is

A.Q BQ CQ DQ

The capital market providesbusinessfirm with the
avenue to

A. leasecapital equipment B. obtain long-term funds
C. obtain short-term fundsD. purchasecapita equipment

9

10.

n

12.

14.

Which of thefinancial ingtitution ischarged with the
formulation of monetary policiesin Nigeria?

A. The Central Bank of Nigeria

B. TheNigeriaDeposit Insurance Corporation
C TheAbuja Commodity Exchange

D. TheLagos Stock Exchange

GDPdiffersfrom GNP because GDP

A. isinclusive of depreciation

B. emphasizesthe final goods and services

C produced within the country & a particular period
D. emphasizesthe market valueof all final

goods and services produced by nationals

Thediginction between perfect competition and
monopalistic competition isthat thelatter ischaracterized by

A. asinglemarket price
B. many buyers and sellers
C product differentiation
D. homogeneity of product
Thedowndream adtivitiesof oil companiesin Nigeriainvave
A. refining and distribution
B. prospecting and drilling
C Off-shoredrilling
D. Management of spillage and pollution

The movement of goods and services from the productsto
theconsumersisrefereed to as

A. externad trade  B. thedistribution chain
C thecircular flow D. consumption

The purpose of conducting acensusisto enableacountry to

A. plan her capital inflow and outflow

B. determinethe growth rate of population

C determinethe optimum level of population
D. plan her growth and devel opment

A major cause of theslow pace of industrializationin
Nigeriaisinadequate

A. rawmaterials B. landmass

C. killed labour D. communal labour
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Themaximum wage legid ation seeksto

A. fix wages above the equilibrium wagerate
B. set wages bel ow the equilibrium wagerate
C deter employersfrom exploiting ther employees
D. ensure an upper limit to thewages payable

Themarketing of agricultural commoditiesin Nigeria
ishampered by

A. lack of adequate storagefacilities

B. the existence of farmers’ associations
C the existence of commaodity exchange
D. the abolition of ,arketing boards.

Import duty concessions on industrial inputs directly
benefit the

A. consumers B.external sector C. commercial sector
D. manufacturers

The labour forcein Nigeriafalls between the ages of
A.18and45 B.18and55 C.18and 60 D. 18 and 30

Government’sinvolvement in agricultural businessin
Nigeria sismost manifested in the

A. establishment of farm settlementsin each
state of the federation

B. establishment of credit guarantee schemes
for small-scalefarmers

C formation of farmers’ cooperative socities

D. procurement and distribution of fertilizers

The difference between birth and death rates of a
given population isreferred to asthe

A. mortality rate B. fertility rate C.natural growth rate
D. linear growth rate

Fiscal policy isthe government’splan to control
aggregate demand by manipulating

A. the demand and supply of money

B. revenueand expenditure

C tastes and preferences of consumers

D, the structure of production and employment

A country is said to have absolute advantage when she
A.hasahigher opportunity cost in the production of agood
B.can sl to oother countrieswithout buying from them
C.can produce moreof any good with fewer resources
D.hasalower opportunity cost in the production of agood.

The European Union wasformed to promotefree
tradewithin member nations

A. Promotefreetradewithin membersnation.
B.Promateeconomicintegration in non-member countries
C. Assist countriesto achieve their economic goals
D. Finance devel opment projectsin member nations.
if budget deficits are financed by borrowing, the
crowding-out effects can be offset by an increase in
A. government expenditure B. ssvingsC.intered rates

D. exchangerates

Whentheimportation of acommodityislimitedtoa
definite quantity, thetrade control meansusedis known as
A. exchange control B.tax reief

C devaluation D. quotas
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Theexcessof aggregateexpenditureover full emploment
levd of output isreferred to as

A. GNPgap B. Deflationary gap

C. Inflationary gap D. recessionary gap

Thetax levied on goodsand services a each dage of
production is
A.surfax B. VAT C. Advaloremtax D. PAYE

Thenumber of shareholdersin aprivatelimited
liability company rangesfrom

A. twoto seven B.twotothree
C.twotofifty D. twoto twenty

A maor reason for having national development planisto

A. ensure efficient use of available resources
B. involve peoplein national programmes

C make government gpend moreon production

D. ensurethat morecitizensareinvdved in planning

The difference between payments and receipts for
visibletradeiscalled
A. bilaterd trade
C.bdancedf payment

B. current balance
D. bdanceof trade

One of the cause of the present high rate of inflation
inNigeriais

A.Increasing budget surplus B. Increasing factors costs
C. Exchangerateapprediation D. High capadity utilization

Thefina gagein the production proocess of any commodity
involvesitsmovement fromthe

A. retailer tothewhd esaler B. producer tothewhdesder
C. retailertotheconsumer D. whdesder totherdaller

A changein demand for anormal good means
ashift in the demand curve

achangein the pricedasticity

the demand changes as price changes
amovement along a given demand curve

Cow»

Commuodity X 5

T Commodity Y

In tne aiagram anove, >1 1Istnepuaget Iinewhilel.ll
and 111 represent indifferencecurves. Arational
consumer will choose to consume at point
A.MB.JC. KD.L

Inorder toincreaserevenue, thesdler of acommodity
whosedemandisfairly dagticisadvised to

A. increasepriceB. reduce outpur

C. reduceprice D. retainprice

In any set of data, the median represent the

A. valuethat is most representative of the data

B. mid-position when thevalues are arranged
in ascending or descending order

C mid-position when the valuesarearranged
randomly

D. difference between the highest and the

lowest valueswhen arranged ascending order.
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Combination) | Beans(Unit) Rice (Unit)
K 15 19
L 20 17
M 2 16

The table above shows the combinations of beans and
rice that can be purchased by a consumer.

The opportunity cost of movingfromK toL is
A. 2unitsofrice B. 5unitsof beans C. 17 unitsof rice
D. 20 units of beans

One of the assumption of ordinary utility in
consumer behaviour isthat

consumer areirrational

marginal utility risescontionously
utility ismeasurable

utility can only beranked

onw>

A large standard deviation isan indication of

A. thesize of thesample

B. awide spread around the mean

C awide difference between the mean and the
mode
the difference between teh highest and the
lowest values.

O

A magjor characteristicsof amixed economy isthat

A. economic decisions are emade by both the
richand the poor

B. both primary and secondary production are
undertaken

C the federal and the state governments
undertakejoint projects

D. economic activties areundertaken by both

the public and private sectors

Given the cost function C = 160 + 36Q, what isteh
average cost at 20 units of output?

A. N720 B. N216.00
C N44.00 D. N880.00

If an increasein thep rice of good X leadsto an
increasein thesupply of good Y, X andY are said to
be

A. jointly supplied B.
C composite D.

competitive
jointly demanded

T
0.
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The diagram above shows the shiftsin both
demand and supply curves. What isthe new
equilibrium point after the shifts?

A. E, B. E

C E D. E

4

45,

47.

Use the diagram below to answer questions 45
and 46

S, S,
Price T
M
N
)

Quantity

Whenthereisachangefron TtoN, itimplies
that

A. supply has increased

B. quantity supplied has increased
C guantity demanded has i ncreased
D pricehasfallen

A movement from M to T impliesthat there
has been

adecrease in supply
anincreasein demand
adecreasein price

anincreasein price

onw>

A necessary condition for specialisataion in an
economy isthe existence of

aregulated market

acompetitive market

amedium of exchange

adequate capital

onw>

A firm operating at full capacity will experience

rising short-run totall costswhen

A. pricesof itsvariableinputsrise
B. pricesof itsvariableinputsfall

C thereisachangein m anagement
D labour productivity increases

In atextile factory, teh cost of cotton used isa

typical example of
A. an average cost B. avariable cost
C. atotal cost D. afixed cost

A black market can occur when

A. supply is excess of deman

B. consumption of the commomdity is
restricted

C prices are set by government above the
equilibrium

D. prices are set by government below the
equilibrium





